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Fig. 1.1: Diagram of plasma states.
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Fig. 1.2: Dispersion relation for cold electron-beam-plasma in the case of ny,/n, = 1.2%.

0ooooboooooooooonoooooodooboonddn00gn
0o0doooodoodonoodon 00O n 00000000 o00oogo
0oodoodoooooooooooooooooooonooooooooooon
N/ Ne N 1
(wW/wpe = k/ko)? (W /wpe)?
O000000000000000000000000000000 [24]000 0 Bwpe
00000000000 (electron-plasma frequency) D O O O ky = wpe/vp, D00 00O
O000D00FRig. 120 n, =12%000000000000000Re w/wpe =10
O000000oooooooooooooo lilooooooooooa

max Im(w/wpe) = (3)2(1/2)"(np /nc) (1.2)

—1 (1.1)



13 000000 3

0000000000000 00000000OO 4o

1.3 00000d

O ¢ FREE
0 PN 7~ N\ .
-/ 0\./ \ Z 7
TRAPPED e
FREE
A A
\' SEPARATRIX \'

, ﬁw ///5”’%‘
it ol N S

S

Vo

fo(v)

Fig. 1.3: Phase-space trajectories for beam-electrons moving in a potential wave.
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Fig. 2.7: Test waves; (a) wea/wpe = 0.78, (B) Wea/wpe = 0.89, (€) wea/wpe =~ 1.0, and (d)

Wea/Wpe = 1.1.

Table 2.1: Experimental parameters.

Argon gas pressure

Axial magnetic field
Electron-plasma temperature
Electron-plasma density
Electron-beam density
Electron-beam velocity
Electron-plasma thermal velocity
Initial electron-beam spread
Electron-beam duration time
Carrier frequency of test wave

2.8 x 10~5Torr
0.01T

0.76eV

ne ~ 1.0 x 101 /m?
np/ne ~ 0.15 — 1.2%
vp =~ 4.2 X 10°m/s
vr/op >~ 0.12

Av/v, < 0.02

wpet =~ 2.0 x 10
Wea/Wpe = 0.78 — 1.1

Special wavenumber
Electron-plasma frequency
Electron-cyclotron frequency

ko = wpe/vp, ~ 1.3 x 10*m™*
Wpe = 5.6 x 108571

3. 1wpe
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Table 3.1: Figure lists against ny, /ne, wea/wpe and v /vy,.
Fig. np/ne(%)  wea/wWpe Vg / Vb

3.2 0.15 1.0 0.89
3.3 0.3 1.0 0.89
3.4 0.6 1.0 0.84
3.5 1.2 0.78  0.86-0.96
3.6 1.2 0.89  0.85-0.90
3.7 1.2 1.0 0.84-0.88
3.8 1.2 1.1 0.82-0.86
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amplitude vs kqz, (b) power spectrum vs k/kq and w/wy., and (c) peak points of (b) with
dispersion relation.
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Appendix A

oy

e 00000DOODODO (Fig.Al)
e 00OODO (Fig.A.2)

e 0000000000 DODODOO (Fig.A3)
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(common line)

APPENDIX A. OO0OO

relay sw (1)
NNy 45
D (10E1)

+5>—0—§—

AC AC-motor
(100V) relay sw (2)
T : toggle sw (0)
fo— A
X iy (@ || mieosw
> .~ I : i AC-motor
AC b o : ——  micro sw
(100V) e >
relay sw (2)
Ia¥a’2’a
D (10E1)
Dt
1K relay sw (1) 100k 510 LED
INPUT >—A\—e"e »—Wv—@—
(from PC) g
D (151588)
Tr (sw)
relay sw (3)
Ia¥a’2’a
D (10E1)
Bt
1K relay sw (1) 100k 510 LED
INPUT >—MA\—e"e
(from PC) T (sw) 5
D (151588)
Tr (sw)
—WA—< 45
I
NOT (74L.S04)
PD Tr (sw)
7T
D-FF (74LS74)
—MA—< +5 As c Q
O.lul _
D Q
N >
45> NOT (74LS04)
FD Tr (sw)
7T
LED 510

!

Fig.

+5
sw(0) | sw(@)]| sw(2)| sw(3)| motor
on off not control
on off move
off on off on
on on not
5 off off | move
100 (1W)

Tr (sw) NOT (74LS04)

Tr (sw)
100 (1W)

M\
1.2k

(D)

NOT (74LS04)

Tr (sw)
100 (1W)

NOT (74LS04)

Tr (sw)

A.1: Motor driver.

+5

> OUTPUT

(to PC)

OUTPUT
(to PC)

OUTPUT
(to PC)



+15

relay sw
AN rotary sw
_rvvv\_\'
e
AL e \—< +15
AN E_—2
- relay sw
_'/ ..... 1K

Tr(sw) [ —ANN———

o 300

o 47

e o

INPUT

DC 100V

100
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AN— OUTPUT
100
Fig. A.2: LF amplifier.
20k PROBE
M *
rotary sw
51k 1M
AMA—e——
AD
1)
100u I7T
1.2k§
\ 4

Fig. A.3: Langmure probe measurement.






Appendix B

oo

e [1 00 (n88basic for pc98 ms-dos)

00O PC ——- hpa.bat, hp2a.bat, hp.ini [1-27]
00 PC - mon.bat [27-31]

000000 — lan.bat, lan.ini [31-49]

e J 00O (g++ for unix)
UNIX OO OO — d2u.c [49-51]

DATAO O tz3d.c, zv3d.c [51-66]

3D-FFT ———— fft3d.c [66—78]

0000 ———— square-average.c, time-average.c [78-90]
0000 —————dispersion.c, parameter.ini [90-94]
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1000 °
1010 °
1020 °
1025 °
1030 °
1040 °
1050 °
1060 °
1070 °
1080 °
1085 °
1090 °
1100 ’
1110’
1120 °
1130 °
1140 °
1160 °
1170 °
1180 °
1190 °
1200 ’
1210 °
1220 °
1225 '
1230 °
1240 °
1250 °
1260 ’
1270 °
1280 °
1285
1290 °
1300 °
1301 °
1302 °
1303 °
1304 °
1305 °
1306 °
1307 °
1308 °
1309 °
1310 °
13127
13147
1316
1320 °

HPA.BAS (n88BASIC) ~ '''' ' 'rrrrrrrrrrrrrrry Since Jan. 2000

Automatical Measurement Softwear
for HP545 Series with PC98 and GP-IB Board

Programed by TAKEDA Tsuyoshi

References: NEC,
PC-8897 GP-1B Interface Board USER'S MANUAL (1990)
PC-9801-29N GP-IB Interface Board USER'S MANUAL

K. YAMAGIWA and M. SASAKI,
Rep. Fact. Sci. SHIZUOKA UNIV. Vol.26, 31 (1992)

Initial file, “HP. INI”.
#initial File for HP*.BAS
#

0SC, ADD, CH, RMS, SAV, WAN

22A, 2, 1, Y, Y, Y :ADD -- Address of 0SC (1 - 30)

22A, 2, 2, Y, Y, Y :CH -- Channel of 0SC (1 - 4)

10A, 3, 1, Y, Y, Y :RMS — Root Mean Square (Y or N(average)) '
10A, 3, 2, Y, Y, Y :SAV — Save (Y or N) '
10A, 3, 2, Y, Y, Y :WAN — Warn (Y or N)

#

PC98-ADD, 1 :Address of GPI|B-board

RPT-NMB, 2 ‘Repeated number as the same condition.

WRN-LMT, 32 :Warned points on scaling from bottom and top
H-RJCT, 0 ‘Rejected points on RMS from left and right
SAVE-DIR, B:¥ :Saved directory

WT-TIME, 7 ‘Waitting time (sec)

Select screen, “SELECT![2/4/6/8/0/./+/%/=/y/n]".
2/4 :Back step on data number.
6/8 :Forward step on data number.
0 :Getting and showing data.
:Saving data.
- (Next step and) getting and saving data.
: (Next step and) getting, showing and saving data.
- :Showing spectram by FFT.
:“Yes” or next.
n “"No” or exit

Pressing HELP key, change to Full Automation Mode or Normal Mode

NOTICE!: This program is available for the following conditions:
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1330 ° Sampling time rate, 1 (ns/points)

1340 Max vertical points, 256 or 1024

1350 ' Max horizontal points, 8000 or 500

1360 °

1362 ° Need another controllable PC connected with RS232C.
1365 °

1370 ' Last modified in Apr. 2003
1380 °

1390 °

1400 ' MAIN ROUTINE "'t rrrrrrrrrrrrrreenes
1410 °

1420 *MAIN

1430 °

1440 ON ERROR GOTO *ERRORS

1450 CMD DELIM=0: CMD TIMEOUT=5

1460 ISET IFC :ISET REN

1470 DEFINT A-Z

1480 °

1490 GOSUB *DEFINES :GOSUB *INIT

1510 GOSUB *RS232C

1520 K=0 :L=Z0+1000 :LL=0 :DL=DZ :MO=1 :M=MO :MN=NMB :DM=1

1530 WHILE 1

1580 GOSUB *FAQ

1590 IF R=1 THEN GOSUB =FIN "Finish Program when R=1
1595 IF AT=1 AND L=ZN+1000 AND M>MN THEN GOSUB *QUIT

1635 WEND

1640 °

1650 *F IN

1660

1670 " GOSUB *RMSSAVE

1680 LOCATE 0,0 :PRINT SPACE$ (32) :LOCATE 0,0

1690 PRINT “FINISH ?” :COLOR@ (0, 0)-(31,0),6 :BEEP
1700 GOSUB =*FAQ

1710 IF R=0 THEN GOSUB =QUIT

1730 IF R=1 THEN R=0 :RETURN

1750

1760 *QUIT

1770 °

1780 LOCATE 0,1 :PRINT SPACE$ (32) :LOCATE 0,1
1790 PRINT “FINISHED !!” :COLOR@ (0, 1)-(31,1),2

1800 BEEP :BEEP :BEEP :BEEP :BEEP

1810 CLOSE :CLEAR :GLS 3 :CONSOLE 0, 25,1, 1
1820 KEY OFF :STOP OFF

1825 COM OFF :CLOSE #2

1830 ON ERROR GOTO 0

1840 IRESET REN

1850 END

1860 °
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””””””””””””” SUB ROUTINE T
*DEF INES

MVR=4 "MVR: Min. V-Range (mv/div)

HN=4000 "HN: Receiving Time to another PC

AT=0 "When AT=1, automation mode runs

DIM WD (3,8000), AD(4), RDO!(4,10) ', RD!(4,450)

DIM X(1024), XX(1024), MIN(4) , MAX(4), WN(2)

DIM FDR#(1024), FDI#(1024), FD#(4, 256)

DIM WORD$ (9), WORD2$(3), ID$(8,6), Wi#(4), RANGE (4), OFFSET(4)
0SC(1)=0 :0SC(2)=0 :8QZ=0 :S=0 :SS=0 :R=0 :PI!=3.14159

RF$="HP. INI”
RETURN
*[INIT

Reading Initialized File
OPEN RF$ FOR INPUT AS #1
LINE INPUT #1, WORDS$ (0)
LINE INPUT #1, WORDS$ (1)
FOR =0 TO 4
INPUT #1, ID$(I, 1), 1D$(I,2),ID$(I,3), ID§C(I, 4), ID$(I,5), ID§ (I, 6)
NEXT |
LINE INPUT #1, WORDS$ (2)

FOR 1=5 TO 8
INPUT #1, WORD$ (1-2), ID$ (I, 1)
NEXT |

INPUT #1, WORDS$ (7), WORD$ (8)

INPUT #1, WORD2§$ (1), WORD2$ (2)

CLOSE #1

PCAD=VAL (ID$ (5, 1)) :NMB=VAL (ID$ (6, 1)) :LMT=VAL(ID$(7,1))
RJCT=VAL (ID$ (8, 1)) :DIR$=WORDS$ (8)

WTN=VAL (WORD2$ (2))

FOR 1=1 TO 4

IF LEFT$ (ID$ (1, 1), 1)="#" THEN ID$ (I, 0)="#" ELSE ID$ (I, 0)="*"
NEXT |

FOR 1=2 TO 4

[F ID$ (1, 0)="%" AND ID$ (I-1,0)<>"#” AND ID$ (I, 2)=ID$(I-1,2) THEN ID$ (I, 0)="+"
NEXT |

Displaying Initialized Data
CLS :CONSOLE ,,,1 :LOCATE 0,2
PRINT WORD$ (0) :PRINT WORDS$ (1)

FOR 1=0 TO 4

PRINT ID$CI,0);:” “;ID§(CI,1):" “;ID$(1,2);"

PRINT ID$CI,3):” “;ID§(I,4):” ~“;ID$(I1,5);” “;ID$(I,6)
NEXT |
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2290 PRINT WORD$ (2)

2300 FOR =5 TO 8

2310 PRINT WORD$ (1-2), ID$ (I, 1)
2320 NEXT |

2330 PRINT WORD$ (7), WORD$ (8)

2335 PRINT WORD2$ (1), WORD2$ (2)
2340 GOSUB =FAQ

2350 IF R=1 THEN R=0 :RETURN *QUIT
2360 °

2370 ' Getting Initialized Parameter
2380 CLS :LOCATE 0,2

2390 INPUT “PARA-NAME ("3) :”, EX$
2400 IF EX$="" THEN EX$="dat”

2402 EX$=LEFT$ (EX$, 3)

2410 INPUT “START-Z 2,20
2420 INPUT “STEP-Z 2", DZ
2425 INPUT “END-Z 7VIN
2440 °

2450 ' Enable Keys

2460 KEY ON :STOP ON :HELP ON

2470 ON KEY GOSUB =*F1, xF2, =F3, =*F4, *F5, *F6, *F7, *F8, *F9, «*F10
2480 ON STOP GOSUB *QUIT

2485 ON HELP GOSUB *PAUSE3

2490 °

2500 '' Set Screen '’

2510 GCLS 3 :CONSOLE 2,22,1,1

2520 SCREEN 3, 0,0, 1

2530 FOR I=1 TO 2

2540 IF ID$ (1,00 <>"#” AND ID$ (I, 3)="1" THEN KEY 1, ID$ (I, 1)+"CH1”
2550 IF ID$(I,0)<>"#” AND ID$ (I, 3)="2" THEN KEY 2, ID$ (I, 1)+"CH2"
2560 IF ID$(I,0)<>"#” AND ID$ (I, 3)="3" THEN KEY 1, ID$ (I, 1)+"CH3”
2570 IF ID$(1,0)<>"#” AND ID$ (I, 3)="4" THEN KEY 2, ID$ (I, 1)+"CH4"
2580 IF ID$(I,0)="+" THEN KEY 3, ID$ (I, 1)+"2CH"

2590 IF ID$ (I, 0)="*" THEN KEY 4, ID$ (I, 1)+"STP”

2600 IF ID$(I,0)="*" THEN KEY 5, ID$ (I, 1)+"RUN”

2610 IF ID$ (I, 0)="x" THEN 0SC(1)=VAL(ID$(I,2))

2620 NEXT |

2630 FOR 1=3 TO 4

2640 1F ID$(I,0)<>"#” AND ID$ (I, 3)="1" THEN KEY 6, ID$ (I, 1)+"CH1”
2650 IF ID$(I,0)<>"#” AND ID$ (I, 3)="2" THEN KEY 7, ID$ (I, 1)+"CH2"
2660 IF ID$(I,0)<>"#” AND ID$ (I, 3)="3" THEN KEY 6, ID$ (I, 1)+"CH3”
2670 IF ID$(I,0)<>"#” AND ID$ (I, 3)="4" THEN KEY 7, ID$ (I, 1)+"CH4"

2680 IF ID$(I,0)="+" THEN KEY 8, ID$ (I, 1)+"2CH"
2690 IF ID$ (I, 0)="x" THEN KEY 9, ID$ (I, 1)+"STP”
2700 IF ID$ (I, 0)="x" THEN KEY 10, ID$(l, 1)+"RUN”
2710 IF ID$ (I, 0)="*" THEN 0SC(2)=VAL(ID$ (I, 2))
2720 NEXT |

2730 "KEY LIST
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2740
2750
2760
2770
2780
2790
2800
2810
2820
2830
2840
2850
2860

RETURN

*F1 :SQZ=1 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
*F2 :SQZ=2 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
*xF3 :S0Z=3 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
xF4 :SQ0Z=4 :GOSUB *HPSTOP :SQZ=0 :RETURN

xF5 :SQ0Z=5 :GOSUB *HPRUN :SQZ=0 :RETURN

xF6 :S0Z=6 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
xF7 :SQZ=7 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
xF8 :SQ0Z=8 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
*F9 :SQZ=9 :GOSUB *HPSTOP :SQZ=0 :RETURN

*F10 :SQZ=10 :GOSUB *HPRUN :SQZ=0 :RETURN

*HPSET

2870 °

2880
2890
2900
2910
2920
2925
2930
2935
2940
2950
2960
2970
TYPE
2975
TYPE
2980
2990
3000
3010
3020
3030

TS (1)="" :T$(2)="" :TR$ (1)="" :TR§ (2)=""

FOR 1=1 T0 2

IF 0SC(1)<>0 THEN WBYTE &H3F, 8H20+0SC (1), 8H1;

IF 0SC(1)<>0 THEN PRINT@ OSC(I) ;”:SYSTEM:LONGFORM ON;HEADER OFF”

IF 0SC(1)<>0 THEN PRINT@ 0SC(I) ;”:ACQUIRE: TYPE?"

IF 0SC(1)<>0 THEN INPUT@ 0SC(I):T§ (1) :T$()=LEFT$ (T$ (1), 4) :TYPE$=T$(I)

IF 0SC(1)<>0 THEN PRINT@ 0SC(I);”:TIMEBASE:RANGE?”

IF 0SC(1)<>0 THEN INPUT@ OSC(1):TR$ (1) :TRANGE=VAL (TR$ (1)) *1E8

IF 0SC(1)<>0 THEN WBYTE 8H3F, 8H20+0SC (), 8H1;

NEXT |

LOCATE 32,2 :PRINT SPACE$ (47) :LOCATE 32,2

IF 0SC (1)*0SC (2)<>0 AND T$(1)<>T$(2) THEN PRINT “SET TIME-ADJUSTs OF HP545s AS THE SAME
1” :COLOR® (32,2)-(79,2), 6

IF 0SC (1)*0SG (2) <>0 AND TR$ (1) <>TR$ (2) THEN PRINT “SET TIME-ADJUSTs OF HP545s AS THE SAME
1” :COLORE (32,2)-(79,2),6

IF 0SC (1)*0SC(2) <>0 AND T$(1)<>T$(2) THEN GOSUB *ALERT :RETURN +DATANM

IF TYPE$="AVER” THEN TPOINTS=500 :VPOINTS=1024 :FORMAT$="WORD"

IF TYPES="NORM" THEN TPOINTS=8000 :VPOINTS=256 :FORMAT$="COMPRESSED”

RETURN

*HPSTOP

3040 °

3050
3060
3070
3080
3090
3100
3110
3120
3130
3140
3150

[0=1 :IN=2
[F SQZ=1 THEN 10=1 :IN=1

IF SQZ=9 THEN 10=2 :IN=2
FOR 1=10 TO IN
I[F 0SC(1)<>0 THEN WBYTE &H3F, &H20+0SC (1), &H1;
I[F 0SC(1)<>0 THEN PRINT@ 0SC(l);"”:STOP”
I[F 0SC(I1)<>0 THEN WBYTE &H3F, &H20+0SC (1), &H1;
NEXT |
RETURN
*HPRUN

3160 °
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3170 10=1 :IN=2

3180 IF SQZ=5 THEN 10=1 :IN=1

3190 IF SQZ=10 THEN 10=2 :IN=2

3200 FOR 1=10 TO IN

3210 IF 0SC(1)<>0 THEN WBYTE &H3F, &H20+0SC (1), &H1;

3220 IF 0SC(1)<>0 THEN PRINT@ 0SC(I);”:ERASE PMEMORY0”

3230 IF 0SC(1)<>0 THEN PRINT@ 0SC(I);”:RUN”

3240 IF 0SC(1)<>0 THEN WBYTE &H3F, &H20+0SC(I), &H1;

3250 NEXT |

3260 RETURN

3270 °

3280 *HPSEND

3290 °

3300 GOSUB *HPSTOP

3310 10=1 :IN=4

3320 |IF SQZ=1 THEN 10=1 :IN=1

3330 IF SQZ=2 THEN 10=2 :IN=2

3340 |F SQZ=3 THEN 10=1 :IN=2

3350 IF SQZ=6 THEN 10=3 :IN=3

3360 |F SQZ=7 THEN 10=4 :IN=4

3370 |IF SQZ=8 THEN 10=3 :IN=4

3380 FOR 1=10 TO IN

3390 IF ID$ (I, 0)<>"#” THEN 0S=VAL (ID$ (1, 2))

3400 IF ID$(I,0)<>"#” THEN WBYTE &H3F, &H20+0S, &H1;

3410 " IF ID$(I,0)<>“#” THEN PRINT@ OS;”:STORE CHANNEL”+ID$ (I, 3)+", WMEMORY“+I1D$ (I, 3)
3420 " IF ID$(I,0)<>“#” THEN PRINT@ OS;”:WAVEFORM:SOURCE WMEMORY“+ID$ (I, 3)
3425 |F ID$(I,0)<>"#” THEN PRINT@ OS;”:WAVEFORM:SOURCE CHANNEL”+1D$ (I, 3)
3430 IF ID$ (1, 0)<>"#” THEN PRINT@ OS;”:CHANNEL”+ID$ (I, 3) +” :RANGE?”

3440 IF 1D$(1,0)<>"#” THEN INPUT@ OS;RAN$ :RANGE (1)=VAL (RAN$) %1000

3450 IF ID$ (I,0)<>"#” THEN PRINT@ OS;”:CHANNEL"+ID$ (I, 3)+":OFFSET?”

3460 IF ID$(I,0)<>"#” THEN INPUT@ OS;0F$ :OFFSET (I)=VAL (OF$)=*1000

3470 IF ID$(1,0)<>”#” THEN PRINT@ OS;”:WAVEFORM:FORMAT “+FORMAT$+";DATA?”
3480 IF ID$(I,0)<>"#” THEN RBYTE &H3F, &H40+0S, &420+PCAD;PD1, PD2

3490 IF ID$(I,0)<>"#” THEN FOR J=1 TO PD2-&H30 :RBYTE ;D :NEXT J

3500 IF ID$(I,0)<>“#” AND TYPE$="NORM“ THEN FOR J=0 TO TPOINTS-1 :RBYTE ;WD(I-1,J)
3510 IF ID$ (I, 0)<>"#” AND TYPE$="NORM” THEN NEXT J

3520 IF ID§ (1, 0) > #” AND TYPE$="AVER” THEN FOR J=0
TPOINTS-1 :RBYTE ;WD1,WD2 :WD(I-1, J)=WD1%8+WD2/32

3530 IF ID$(I,0)<>"#” AND TYPE$="AVER” THEN NEXT J

3540 IF ID$(I,0)<>“#” THEN RBYTE ;DD :WBYTE &H5F;

3550 IF ID$ (I, 0)<>"#” THEN WBYTE &H3F, &H20+0S, &H1;

3560 NEXT |

3570 GOSUB *HPRUN

3580 RETURN

3590 °

3600 *WARN ING

3610 °

3612 MIN(1)=VPOINTS :MIN(2)=VPOINTS :MIN(3)=VPOINTS :MIN(4)=VPOINTS
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3614
3615
3616

WW(1)=0 :WW(2)=0 :WW(3)=0 :WW(4)=0
MAX (1)=0 :MAX(2)=0 :MAX(3)=0 :MAX(4)=0
WN(1)=0 :WN(2)=0 :USCH$="" :0SCH$=""

3618 FOR 1=1 TO 4 :FOR J=0 TO TPOINTS-1

3620 IF ID$(1,0)<>"#” AND ID$ (I, 6)="Y" AND MINCI)>WD(I-1,J) THEN MIN(I)=WD(I-1,J)

3622 IF ID$(I,0)<>"#” AND ID$ (I, 6)="Y" AND MAX(I)<WD(I-1,J) THEN MAX(I)=WD(I-1,J)

3623 IF ID$(I,0)="#" OR ID$ (I, 6)="N" THEN WW(I)=1 :J=TPOINTS-1

3624 NEXT J :NEXT |

3626 FOR 1=1 TO 4

3628 IF WW(1)=0 AND MIN(I)>VPOINTS/2-LMT/4 AND MAX (1) <VPOINTS/2+LMT/4 AND RANGE (1) >MVR*4 THEN

WN(1)=1 ELSE USCH$=USCH$+"

3630

[F WW(1)=0 AND MIN (1) >VPOINTS/2-LMT/4 AND MAX (1) <VPOINTS/2+LMT/4 AND RANGE (1) >MVR*4 THEN

USCH$=USCH$+STR$ (I)

3632
3634
3638
3640
3642
3644
3646
3648
3650
3660

[F WW(1)=0 AND (MIN(I)<LMT OR MAX(I)>VPOINTS-LMT) THEN WN(2)=1 ELSE 0SCH$=0SCH$+"
[F WW(l)=0 AND (MIN(I)<LMT OR MAX(1)>VPOINTS-LMT) THEN OSCH$=0SCH$+STR$ (I)

NEXT |

LOCATE 50,0 :PRINT SPACE$ (29)

IF WN(1)=1 THEN LOCATE 50,0 :PRINT “UNDER:”;USCH$

IF WN(2)=1 THEN LOCATE 66,0 :PRINT “OVER:”;0SCH$

I[F WN(1)+WN(2)<>0 THEN COLOR@ (50, 0)-(79,0), 2

RETURN

*RMS

3670 °

3680
3690
3700

Z=L-1000 :KK=K+1
IF KK>23 THEN KK=23
LOCATE 0, KK :PRINT SF2§;”

3710 FOR 1=1 TO 4 :AVI=0 :RM!=0

3720 IF ID$(I,0)<>"#” THEN FOR J=RJCT TO TPOINTS-RJCT-1 :AVI=AVI+WD(I-1,d) :NEXT
J TAD(I)=CINT (AV!/(TPOINTS-2*RJCT))

3730 IF ID$ (1, 0) > #” AND ID$ (I, 4)="Y" THEN FOR J=RJCT T0
TPOINTS-RJCT-1 :RM!=RM!+ (WD (1-1,J)-AD(l)) "2 :NEXT J

3740 IF ID$ (I, 0) > #” AND ID$ (I, 4)="Y" THEN

RDO! (I, M)=SQR (RM!/ (TPOINTS-2xRJCT) ) *RANGE (1) /VPOINTS
3750 IF ID$(I,0)<>“#” AND ID$ (I, 4)="Y" THEN PRINT CSNG (CINT (RDO! (I, M)*10))/10;

3760 IF ID$ (1, 0)<>“#” AND ID$ (I, 4)="N" THEN ADD!=(AD (1) -VPOINTS/2) *RANGE (1) /VPOINTS+OFFSET (1)

3770 IF ID$ (1,00 <>"#” AND ID$ (I, 4)="N" THEN PRINT GSNG (CINT (ADD!*10))/10;

3780 NEXT |

3785 IF WN(1)+WN(2)<>0 THEN COLOR@ (0, KK)-(4,KK), 2

3787 PRINT

3790 "FOR I=1 TO 4

3795 " IF Z>=0 THEN RD! (I, Z)=0

3800 "IF ID§(I,00<>"#” AND M=NMB AND ID$(I,4)="Y" AND Z>=0 THEN FOR J=1
NMB :RD! (I, Z)=RD! (I, Z)+RDO! (I, J)

T0

3805 " IF ID§ (I, 0)<>"#” AND M=NMB AND ID$ (I, 4)="Y" AND Z>=0 THEN NEXT J :RD! (I, Z)=RD! (I, Z) /NMB

3810 " NEXT |
3820 RETURN
3830 °
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3840 *SPECT

3850

3860 FMAX#=.000001

3870 FOR 1=1 TO 4

3880 FOR J=0 TO 1023 :W#=1

3890 IF ID$(I,0)<>"#” AND J<102 THEN Wi=. 5% (COS (PI1*J/102-PI)+1)

3900 IF ID$ (I, 0)<>"#” AND J>921 THEN W#=. 5 (COS (P1*(J-921)/102) +1)

3910 IF ID$ (I, 0)<>"#” AND TYPE$="NORM” THEN FDR# (J)=W#* (WD (1-1, 1000+J)-AD (1)) :FDI#(J)=0
3920 IF ID§ (1,00 <>"#” AND TYPE$="AVER” AND J<500 THEN FDR# (J) =W#x (WD (1-1, J)-AD (1)) :FDI#(J)=0
3930 IF ID$(I,0)<>“#” AND TYPE$="AVER” AND J>=500 THEN FDR#(J)=0 :FDI#(J)=0

3940 NEXT J

3950 IF ID$ (I, 0)<>"#” THEN GOSUB *FFT

3960 FOR J=0 TO 256

3970 IF ID$ (I, 0)<>"#” THEN FD#(I, J)=(FDR# (J) "2+FDI#(J) "2) /1024

3980 IF ID$(I,0)<>"#” AND FD#(I, J) >FMAX# THEN FMAX#=FD# (I, J)

3990 NEXT J: NEXT |

4000 RETURN

4010 ’

4020 *WVDPLY

4030 °

4040 10=1 :IN=4

4050 |IF SQZ=1 THEN 10=1 :IN=1

4060 |F SQZ=2 THEN 10=2 :IN=2

4070 |F SQZ=3 THEN 10=1 :IN=2

4080 |IF SQZ=6 THEN 10=3 :IN=3

4090 |F SQZ=7 THEN 10=4 :IN=4

4100 |IF SQZ=8 THEN 10=3 :IN=4

4110 SCREEN , 0,0, 1

4120 LOCATE 32,1 :PRINT SPACE$ (48) :LOCATE 32,1

4130 PRINT “mV/div:”

4140 FOR 1=10 TO IN

4150 IF ID$(I,0)<>“#" THEN VIEW (254, 84x(1-1)+34)~-(637, 84x(1-1)+115),0, 4

4160 IF ID$ (I, 0)<>"#” THEN WINDOW (0, 0)-(TPOINTS-1, VPOINTS-1)

4170 IF [D$ (1, 0) > #” AND TYPE$="NORM" THEN FOR J=1 T0 7 :LINE
(TPOINTS/8%J-1,0) - (TPOINTS/8xJ-1, VPOINTS-1), 4, , 8HFOOF :NEXT J

4180 IF ID§ (1, 0) > #” AND TYPE$="AVER” THEN FOR J=1 T0 9 ‘LINE
(TPOINTS/10%J-1,0) - (TPOINTS/10%J-1, VPOINTS-1), 4, , &HFOOF :NEXT J

4190 IF ID$ (1, 0) > #” THEN FOR J=1 T0 3 ‘LINE
(0, VPOINTS/4%J-1) - (TPOINTS-1, VPOINTS/4%J-1) , 4, , &HFOOF :NEXT J

4200 IF ID$(I,0)<>“#” THEN FOR J=0 TO TPOINTS-1 :PSET(J, VPOINTS-1-WD (I-1,4J)) :NEXT J

4210 IF ID$ (I, 0)<>"#” THEN LINE (RJCT, VPOINTS-1-AD (1)) - (TPOINTS-RJCT-1, VPOINTS-1-AD(l)), 2
4220 IF ID$(I,0)<>“#” THEN LOCATE 1%10+30,1 :PRINT RANGE (1) /4;” (";OFFSET(I);")"”

4230 NEXT |

4233 LOCATE 32,2 :PRINT SPACE$ (47)

4235 LOCATE 32,2 :PRINT “T-Range [ns/div]:”; TRANGE

4240 RETURN

4250 °

4260 *SPDPLY
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4270 ’

4280 SCREEN ,0,1,17

4290 FOR 1=1 TO 4

4300 IF ID$ (1,00 <>"#” AND 1<=2 THEN VIEW (196%(I1-1)+249, 34)-(196x(1-1)+441,196),0, 4
4310 IF ID$ (1,00 <>7#” AND 1>=3 THEN VIEW (196%(1-3)+249,200) - (196x (1-3)+441, 362), 0, 4
4320 1F ID$ (I,0)<>"#” THEN WINDOW (O, -FMAX#) - (256, 0)

4330 IF ID$ (1, 0) > #” THEN FOR J=1 T0 24 :LINE
(CINT (256/25%J) , -FMAX#) - (CINT (256/25%J) , 0), 4, , &HFOFO :NEXT J
4340 IF ID$ (1, 0) > #” THEN FOR J=1 T0 4 ‘LINE

(CINT (256/5%J) , ~FMAX#) - (CINT (256/5%J), 0), 4,, :NEXT J

4350 IF ID$(I,0)<>"#” THEN FOR J=0 TO 255 :LINE (J, -FD#(I, J)) - (J+1,-FD# (I, J+1)) :NEXT J
4360 NEXT |

4363 LOCATE 32,2 :PRINT SPACE$ (47)

4365 LOCATE 32,2 :PRINT “F-Range [MHz/div]: 50/S”

4370 RETURN

4380 °

4390 *DATANM

4400 ’

4403 |F MKMO THEN M=MN :L=L-DL

4405 |F M>MN THEN M=MO :L=L+DL

4410 LOCATE 0,0 :PRINT SPACE$ (49) :LOCATE 32,0

4420 SF2$=RIGHT$ (STR$ (L), 3) +CHR$ (&H60-+M)

4430 IF NMB=1 THEN SF2$=RIGHT$ (STR$ (L), 3)

4440 PRINT “DATA: “;SF2$ :COLOR@ (32,0)-(49,0),6

4450 RETURN

4460 ’

4470 *WVSAVE

4480 °

4490 LOCATE 0,0 :PRINT SPACE$ (32) :LOCATE 0,0

4500 SFA$=SF2$+". “+EX$ :SF0$=""

4510 PRINT “W-NAME: “;SFA$ :COLOR@ (0,0)-(31,0),5

4520 |IF S=0 THEN LOCATE 8,0 :INPUT “”, SFO$ :IF SF0$<>”” THEN SFA$=SF0$
4530 SFA$=WORDS$ (8) +SFA$

4540 OPEN SFA$ FOR OUTPUT AS #1

4550 PRINT #1, “#0ST”;

4560 FOR 1=1 TO 4

4570 IF ID$ (1,00 <>"#” AND ID$ (I, 5)="Y" AND OFFSET(1)<0 THEN PRINT #1, ” ”;
4575 1F ID$ (I,0)<>”"#” AND ID$ (I, 5)="Y" THEN PRINT #1, STR$ (OFFSET(I));
4580 NEXT |

4590 PRINT #1,

4600 PRINT #1, “#RNG";

4610 FOR 1=1 TO 4

4620 IF ID$(I,0)<>"#” AND ID$ (I, 5)="Y" THEN PRINT #1, STR$ (RANGE(I))
4630 NEXT |

4640 PRINT #1,

4650 FOR J=0 TO TPOINTS-1 :FOR I=1 TO 4

4660 1F ID$(I,0)<>"#” AND ID$ (I, 5)="Y" THEN PRINT #1, STREWD(I-1,J));
4670 NEXT | :PRINT #1, :NEXT J
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4680 GCLOSE #1

4690 LOCATE 0,0 :PRINT SPAGE$ (32)

4700 RETURN

4710 °

4720 ° *RMSSAVE

4730 °

4740 ' Z=L-DZ-1000

4750 " IF Z0<Z THEN J0=Z0 :JN=Z

4760 ' IF Z0>Z THEN JO0=Z :JN=Z0

4770 ' LOCATE 0,0 :PRINT SPACE$ (32) :LOCATE 0,0

4780 ' SFB$="rms. “+EX$ :SFO$=""

4790 " PRINT “R-NAME: “;SFB$ :COLOR@ (0, 0)-(31,0),5 :LOCATE 8,0 : INPUT ", SFO$ : IF SFO$<>"" THEN
SFB$=SFO0$

4800 ' SFB$=WORDS$ (8) +SFB$

4810 'OPEN SFB$ FOR OUTPUT AS #1

4820 'FOR J=JO TO JN STEP CINT(ABS(DZ)) :PRINT #1, J; :FOR I=1 TO 4
4830 " IF ID$(I,0)<>"#” AND ID$ (I, 4)="Y" THEN PRINT #1, RD! (I, J);
4840 "NEXT | :PRINT #1, :NEXT J

4850 ' CLOSE #1

4860 'RETURN

4870 °

4880 *FAQ

4890 °

4900 LOCATE 0,1 :PRINT SPACE$ (32) :LOCATE 0,1

4910 IF AT=0 THEN PRINT “SELECT![2/4/6/8/0/./+/*/=/y/n]” :COLOR@ (0,1)-(31,1),4
4920 |IF AT=0 THEN A$="" :WHILE A$="" :A$=INKEY$ :WEND

4930 |F AT=1 THEN PRINT “---- FULL AUTOMATION MODE —-——-" :COLOR@ (0,1)-(31,1),4
4935 |F AT=1 THEN A$="%"
4940 S=0 :R=0 :WN(1)=0 :WN(2)=0 "Input file-name when S=0

4950 IF (A$="2" OR A$="4" OR A$="6" OR A$="8") AND SS=1 THEN M=M-DM :SS=0 :SCREEN , 2,
4960 IF A$="2" THEN L=L-DL

4970 IF A$="4" THEN M=M-DM

4980 IF A$="6" THEN M=M+DM

4990 IF A$="8" THEN L=L+DL

5000 GOSUB *DATANM

5002 IF A$="0" OR A$="+" OR A$="*" THEN K=K+1

5004 IF L<OLL AND (A$="0" OR A$="+" OR A$="x") THEN GOSUB *TRANS :GOSUB *PAUSE1
5006 IF A$="0" OR A$="+" OR A$="+" THEN GOSUB *HPSET :GOSUB *PAUSE2 :GOSUB *HPSEND
5012 IF A$="0" OR A$="+" OR A$="*" THEN GOSUB *WARNING :GOSUB *RMS

5014 IF A$="0" OR A$="+" THEN GOSUB *WVDPLY

5016 IF A$="+" OR A$="x" THEN S=1

5020 ' IF A$="." OR A$="+" OR A$="*" THEN GOSUB *WVSAVE

5025 " IF A$="." OR A$="+" OR A$="*" THEN M=M+DM :SS=1

5030 IF (A$="." OR A$="+" OR A$="*") AND WN(1)+WN(2)<>0 THEN GOSUB *VRANGE

5035 IF (A$="." OR A$="+" OR A$="+") AND WN(1)+WN(2)=0 THEN GOSUB *WVSAVE

5040 IF (A$="." OR A$="+" OR A$="%") AND WN(1)+WN(2)=0 THEN M=M+DM :SS=1

5042 IF (A$="." OR A$="+" OR A$="+") AND WN(1)+WN(2)=0 THEN LL=L

5044 |F A$="-" THEN GOSUB *SPECT :GOSUB *SPDPLY

o+ o+ 4+
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5046
5048
5050
5060
5070

IF A$="y” OR A$="Y” OR A$=CHR$ (&HOD) THEN R=0 :SCREEN
[F A$="n" OR A$="N" THEN R=1
RETURN

*ERRORS

5080 °

5090
5100
5110
5120
5130
5140
5150
5155
5160
5170
5180

LOCATE 0,0 :PRINT SPACE$ (80) :LOCATE 0,0

PRINT ERR;”“ERROR !~

IF ERR=53 THEN PRINT “Read file not found !~

IF ERR=64 THEN PRINT “Disk broken !~

IF ERR=68 THEN PRINT “Save disk full !~

IF ERR=69 THEN PRINT “Read disk bad !~

IF ERR=76 THEN PRINT “Not exist the directory !”
COLOR@ (0,0)-(79,0), 2

GOSUB *ALERT :RESUME =QUIT

*ALERT

5190 ’

5200
5210
5220
5230
5240
5250
5260

LOCATE 0,1 :PRINT SPACE$ (32) :LOCATE 0,1
PRINT “PRESS KEY !!” :COLOR@ (0, 1)-(31,1),2
BEEP 1 :A$=""

WHILE A$="" :A$=INKEY$ :WEND :BEEP 0

RETURN

+FFT

5270 ’

5280
5290
5300
5310
5320
5330
5340
5350
5360
5370
5380
5390
5400
5410
5420
5430
5440
5450
5460
5470
5480
5490

O#=P11/1024 :P=1: Q=1024 :XX(0)=0
FOR 11=1 TO 10

O#t=0#+2: P=Px2: Q=Q/2

FOR JJ=0 TO P/2-1

X (2xJJ) =XX (JJ) /2

X (2%JJ+1) = (XX (JJ) +1024) /2

XX (2%JJ) =X (2*JJ)

XX (2%JJ+1) =X (2xJJ+1)

FOR KK=0 TO Q-1

A1R#=FDR# (KK+2*JJ*Q)
A11#=FD I # (KK+2*JJ*Q)
A2R#=FDR# (KK+ (2*JJ+1) *Q)

A2 [ #=FD 1# (KK+ (2%JJ+1) %Q)
AR#=ATR#-A2R#

AlH#=AT1#-A21#

WR#=CO0S (O#t+KK) : WI#=SIN (0#txKK)
FDR# (KK+2xJJ*Q) =A1R#+A2R#

FDI# (KK+2xJJ*Q) =A1 [ #+A2 | #

FDR# (KK+ (2+JJ+1) *Q) =AR#+WRH#-A | #+W | #
FDI# (KK+ (2%JJ+1) *Q) =A | #xWRH#+AR#+W | #
NEXT KK: NEXT JJ: NEXT |1

FOR 11=0 TO 1023
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5500 IF 11<X(I1) THEN AR#=FDR#(II): Al#=FDI#(II)

5510 IF TI<KX(I1) THEN FDR#(I1)=FDR#(X(I1)): FDI#CI1)=FDI# X (I1))
5520 IF 11<X(I1) THEN FDR#(X(I1))=AR#: FDI#(X(I1))=Al#

5530 NEXT 11

5540 RETURN

6000 ’

6005 ’

6010 *PAUSE1

6012 °

6014 WHILE PNT$="" :WEND :PNT$=""

6016 RETURN

6020 °

6025 *PAUSE2

6030 ’

6032 IF TYPE$="AVER” THEN LOCATE 0,0 :PRINT SPC(31)

6034 IF TYPE$="AVER” THEN LOCATE 0,0 :PRINT “NOW WAITING :~
6036 IF TYPE$="AVER” THEN COLOR@ (0,0)-(31,0),5

6038 I|F TYPE$="AVER” THEN WT=0 :WHILE WTN>=WT :TM$=TIMES$

6040 IF TYPE$="AVER” THEN WHILE TM$=TIME§ :WEND

6042 |F TYPE$="AVER” THEN LOCATE 14,0 :PRINT SPG(17)

6044 |F TYPE$="AVER” THEN LOCATE 14,0 :PRINT WT;”/”;WTN

6046 IF TYPE$="AVER” THEN WT=WT+1

6048 IF TYPE$="AVER” THEN COLOR@ (0,0)-(31,0),5 :WEND

6050 RETURN

6060 ’

6062 *PAUSE3

6064 '

6066 LOCATE 0,0 :PRINT SPACE$(32) :LOCATE 0,0

6068 PRINT “NOW PAUSING ! PRESS N OR A !” :COLOR@ (0,0)-(31,0),2 :BEEP
6070 C$="" :WHILE C$="" :C$=INKEY$ :WEND

6072 IF C$="n" OR C$="N" THEN AT=0

6074 IF C$="a” OR C$="A" THEN AT=1

6076 LOCATE 0,0 :PRINT SPACE$ (32)

6080 RETURN

6100 '

6110 *TRANS "Transmitting Data to PC
6115’

6120 PRINT #2, RIGHT$ (STR$ (L), 3)

6130 RETURN

6200 °

6210 *RECE "Receiving Data to PC
6215 '

6230 FOR H=1 TO HN :NEXT H

6240 PNTO$="" :PNT$=""

6250 *LP :PNTO$=INPUT$ (1, #2) :PNT$=PNT$+PNTO$ :ZZ=CINT (VAL(PNT$)) 'ZZ Uni :pt
6260 IF AT=0 AND PNTO0$=CHR$ (&HOD) THEN LOCATE 50,0 :PRINT SPGC(29)
6270 IF AT=0 AND PNTO$=CHR$ (&HOD) THEN LOCATE 50,0 :PRINT “Rec Z :”;7ZZ
6275 |IF PNTO$=CHR$ (&HOD) AND L<>ZZ+1000 THEN M=MO :L=7Z+1000
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6280 I|F PNTO$=CHR$ (&HOD) THEN COM OFF :CLOSE #2

6290 |F PNTO$=CHR$ (&HOD) THEN GOSUB *RS232GC :RETURN

6300 GOTO *LP

6400 °

6410 *RS232C "Ready to Receive Data
6415 °

6420 OPEN “COM:E72XS” AS #2

6430 COM ON :ON COM GOSUB *REGE

6440 RETURN

6500 °

6510 *VRANGE "Changing Vertical Ranges
6520 °

6522 |F AT=0 THEN LOCATE 0,0 :PRINT SPAGE$ (32) :LOCATE 0,0

6524 |F AT=0 THEN PRINT “CHANGE VRANGE ?” :COLOR@ (0,0)-(31,0),6 :BEEP
6526 IF AT=0 THEN B$="" :WHILE B$="" :B$=INKEY$ :WEND

6528 |IF AT=0 THEN LOCATE 0,0 :PRINT SPACE$ (32)

6530 IF AT=0 AND (B$="n" OR B$="N") THEN RETURN

6540 FOR 1=1 TO 4

6550 UC$=MID$ (USCHS, 1%2, 1)

6555 0C$=MID$ (OSCHS$, 1*2, 1)

6565 |F ID$ (1, 0)<>"#” THEN 0S=VAL (ID$(I,2))

6570 IF ID$ (I, 0)<>"#” THEN WBYTE &H3F, &H20+0S, &H1;

6575 IF ID$(1,0)<>”#” AND RANGE (1) <MVR+*8 AND RANGE (1) >MVR«4 AND VAL (UC$)=1 THEN
RANGE (1) =MVR*4x2

6580 IF ID$ (1, 0) > “#” AND VAL (UC$) =1 THEN PRINT@
0S;“:CHANNEL”+ID$ (I, 3) +” :RANGE”+STR$ (RANGE (1) /1000/2)
6585 IF ID$ (1, 0) > #” AND VAL (0C$) =1 THEN PRINT@

0S;”:CHANNEL"+1D$ (I, 3) +” :RANGE”+STR$ (RANGE (1) /1000%2)
6590 IF ID$ (I, 0)<>"#” THEN WBYTE &H3F, &H20+0S, &H1;
6600 NEXT |

6610 RETURN

1000 © HP2A.BAS (n88BASIC) '’ i Since Jan. 2000
1010 °

1020 ° Automatical Measurement Softwear

1025 °  for HP545 Series with PC98 and GP-1B Board and PDS120-6

1030 °

1040 ’ Programed by TAKEDA Tsuyoshi
1050 °

1060 '

1070 © References: NEC,

1080 ° PC-8897 GP-IB Interface Board USER'S MANUAL (1990)
1085 ° PC-9801-29N GP-IB Interface Board USER'S MANUAL
1090 °

1100 ° K. YAMAGIWA and M. SASAKI,

1110 ° Rep. Fact. Sci. SHIZUOKA UNIV. Vol.26, 31 (1992)
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1120 °
1130 °

1140 °
1160 °
1170 °
1180 °
1190 °
1200 °
1210 °
1220 °
1225 °
1230 °
1240 °
1250 °
1260 ’
1270 °
1280 °
1285 °
1287 °

#

#

1290 °

1300 °
1301 °
1302 °
1303 °

2/4
6/8
0

1304 °
1305 °
1306 °

1307 °
1308 ’
1309 °

1310 °

13127

1314
1316 °

1320 °

1330 °
1340 °
1350 °
1360 °
1362 °
1365 °
"""""""""""""""""""""" Last modified in Apr. 2003
1380 °
1390 °
""""""""""""" MAIN ROUTINE T nr
1410 °

1370

1400

1420

1430 °

2,

W ww N

Initial file,
#lnitial File for HP*. BAS

PC98-ADD
RPT-NMB,
WRN-LMT,
H-RJCT,

SAVE-DIR, B:¥
WT-TIME
PDS-ADD,

1

2
1
2,
2

Y,

Select screen,

< < =<=<

“HP. INI”.

0SC, ADD, CH, RMS, SAV, WAN
22A,
22A,
10A,
10A,
10A,

Y, Y :ADD —- Address of 0SC (1 - 30)

Y, Y :CH -- Channel of 0SC (1 - 4)

Y, Y :RMS —— Root Mean Square (Y or N(average)) '
Y, Y :SAV — Save (Y or N) '
Y, Y :WAN — Warn (Y or N)

:Address of GPIB-board.

:Repeated number as the same condition

:Warned points on scaling from bottom and top.
‘Rejected points on RMS from left and right.
:Saved directory.

‘Waitting time (sec).

:Address of PDS120-6.

“SELECT![2/4/6/8/0/. /+/%/=/y/n]"

:Back step on data number.

:Forward step on data number.

:Getting and showing data.

:Saving data.

- (Next step and) getting and saving data.

- (Next step and) getting, showing and saving data.
:Showing spectram by FFT.

"Yes”

“"No”

or next.
or exit.

Pressing HELP key, change to Full Automation Mode or Normal Mode

NOTICE!: This program is available for the following conditions:
Sampling time rate,

1 (ns/points)

Max vertical points, 256 or 1024
Max horizontal points, 8000 or 500

Need another controllable PC connected with RS232C.
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1440
1450
1460
1470
1480
1490
1510
1520
1530
1580
1590
1595
1635
1640
1650

ON ERROR GOTO =*ERRORS

CMD DELIM=0: CMD TIMEOUT=b

ISET IFC :ISET REN
DEFINT A-Z

GOSUB +DEFINES :GOSUB *INIT
GOSUB *RS232C :GOSUB +DPSSET
K=0 :L=Z0+1000 :LL=0 :DL=DZ :MO=1 :M=MO :MN=NMB :DM=1

WHILE 1
GOSUB =*FAQ
IF R=1 THEN GOSUB *FIN

"Finish Program when R=1

IF AT=1 AND L=ZN+1000 AND V!=VN! AND M>MN THEN GOSUB *QUIT

WEND

*F IN

1660

1670
1680
1690
1700
1710
1730
1750
1760

" GOSUB *RMSSAVE

LOCATE 0,0 :PRINT SPACE$ (32) :LOCATE 0,0

PRINT “FINISH ?” :COLOR@
GOSUB *FAQ
[F R=0 THEN GOSUB *QUIT

(0,0)-(31,0),6 :BEEP

IF R=1 THEN R=0 :A$="" :GOSUB *DPSSET :RETURN

*QUIT

1770 °

1775
1780
1790
1800
1810
1820
1825
1830
1840
1850

R=1 :GOSUB *DPSSET

LOCATE 0,1 :PRINT SPACE$ (32) :LOCATE 0,1
PRINT “FINISHED !!” :COLOR@ (0, 1)-(31,1),2
BEEP :BEEP :BEEP :BEEP :BEEP

CLOSE :CLEAR :CLS 3 :CONSOLE 0, 25,1, 1

KEY OFF :STOP OFF
COM OFF :CLOSE #2
ON ERROR GOTO O
IRESET REN

END

1860 ’

1870

vvvvvvvvvvvvvvvvvvvvvvvvv

1880 °

1890

*DEF INES

1900 °

1902
1905
1906
1907
1910
1920
1930
1940

MVR=4
HN=2000
FOW=100
AT=0

SUB ROUTINE '’’’ ' 1rrrrrvosoes

"MVR: Min. V-Range (mv/div)

"HN: Receiving Time to another PC
"FOW: File open wait

"When AT=1, automation mode runs.

DIM WD(3,8000), AD(4), RDO!(4,10) ', RD!(4,450)
DIM X(1024), XX(1024), MIN(4) ,MAX(4), WN(2)
DIM FDR#(1024), FDI#(1024), FD# (4, 256)

DIM WORD$ (9), WORD2S$ (5),

ID$ (8, 6), W#(4), RANGE (4), OFFSET(4)
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1950
1960
1970
1980
1990

0SC(1)=0 :0SC(2)=0 :SQZ=0 :S=0 :SS=0 :R=0 :PI!=3.14159
RF$="HP. INI” :EX$=".dat”
RETURN

*INIT

2000 °

2010 "’

2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
2125
2127
2130
2140
2150
2155
2160
2170
2180
2190
2200
2210
2220

2230 °

2240
2250
2260
2270
2275
2280
2290
2300
2310
2320
2330
2335
2337
2340
2350
2360

Reading Initialized File

OPEN RF$ FOR INPUT AS #1

LINE INPUT #1, WORDS$ (0)

LINE INPUT #1, WORD$ (1)

FOR 1=0 TO 4

INPUT #1, ID$(I, 1), 1D$(I,2),1D$(I,3), I1D§ (I, 4), ID$(I,5), ID§(I,6)
NEXT |

LINE INPUT #1, WORDS$ (2)

FOR 1=5 TO 8
INPUT #1, WORD$ (1-2), ID$ (I, 1)
NEXT |

INPUT #1, WORDS (7), WORD$ (8)

INPUT #1, WORD2S (1), WORD2S (2)

INPUT #1, WORD2S (3), WORD2$ (4)

CLOSE #1

PCAD=VAL (ID$ (5, 1)) :NMB=VAL (ID$(6, 1)) :LMT=VAL(ID$(7, 1))
RJCT=VAL (ID$ (8, 1)) :DIR$=WORDS (8)

WTN=VAL (WORD2$ (2)) :PDS=VAL (WORD2$ (4))

FOR 1=1 T0 4

IF LEFT$(ID$ (1, 1), 1)="#" THEN ID$ (I, 0)="#" ELSE ID§ (I, 0)="+"
NEXT |

FOR 1=2 T0 4

IF 1D$ (1, 0)="%" AND ID$ (I-1,0)<>"#” AND ID§(I,2)=ID$ (I1-1,2) THEN ID§(I,0)="+"
NEXT |

Displaying Initialized Data

CLS :CONSOLE ,,,1 :LOGATE 0,2

PRINT WORD$ (0) :PRINT WORD$ (1)

FOR 1=0 TO 4

PRINT ID$(I,0):” “;ID$CI, 1) ~“;ID$(I,2):"
PRINT ID$(CI,3):” “;ID§(I,4);” ~“.ID$(I,5);” “,ID$(I,6)
NEXT |

PRINT WORD$ (2)

FOR 1=5 TO 8

PRINT WORD$ (1-2), ID$ (I, 1)

NEXT |

PRINT WORDS$ (7), WORDS$ (8)

PRINT WORD2$ (1), WORD2§ (2)

PRINT WORD2$ (3), WORD2§$ (4)

GOSUB =FAQ

IF R=1 THEN R=0 :RETURN *QUIT
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2370 ' Getting Initialized Parameter

2380 CLS :LOCATE 0,2

2390 INPUT “PARA-NAME ("3) :”, PARAS

2400 |F PARA$<>”” THEN EX$="."+LEFT$ (PARAS, 3)

2410 INPUT “START-Z 2,20
2420 INPUT “STEP-Z V4
2422 INPUT “END-Z A
2424 INPUT “START-V (V)  :”, V0!
2426 INPUT “STEP-V (V)  :”, DV!
2428 INPUT “END-V (V) " VNI

2430 VO!=CINT (VO!%10) /10 :DV!I=CINT (DV!%10) /10
2435 VNI=CINT (VN!*10) /10 :VI=VO!

2440 '

2450 '’ Enable Keys

2460 KEY ON :STOP ON :HELP ON

2470 ON KEY GOSUB *F1, *F2, x*F3, *F4, *F5, xF6, *F7, *F8, *F9, «*F10
2480 ON STOP GOSUB *QUIT

2485 ON HELP GOSUB *PAUSE3

2490 '

2500 ' Set Screen '’

2510 CLS 3 :CONSOLE 2,22,1,1

2520 SGREEN 3,0,0, 1

2530 FOR I=1 TO 2

2540 IF ID$(I,0)<>"#” AND ID$ (I, 3)="1" THEN KEY 1, ID$ (I, 1)+"CH1”
2550 IF ID$(I,0)<>"#” AND ID$ (I, 3)="2" THEN KEY 2, ID$ (I, 1)+"CH2"
2560 IF ID$(I,0)<>“#” AND ID$ (I, 3)="3" THEN KEY 1, ID$ (I, 1)+"CH3"
2570 IF ID$(I,0)<>“#” AND ID$ (I, 3)="4" THEN KEY 2, ID$ (I, 1)+"CH4"
2580 IF ID$(I,0)="+" THEN KEY 3, ID$(l, 1)+"2CH"

2590 IF ID$ (I, 0)="x" THEN KEY 4, ID$ (I, 1)+"STP”

2600 IF ID$(I,0)="*" THEN KEY 5, ID$ (I, 1)+"RUN”

2610 IF ID$ (I, 0)="*" THEN 0SC(1)=VAL(ID$ (I, 2))

2620 NEXT |

2630 FOR 1=3 TO 4

2640 IF ID$(I,0)<>“#” AND ID$ (I, 3)="1" THEN KEY 6, ID$ (I, 1)+"CH1"
2650 IF ID$(I,0)<>"#” AND ID$ (I, 3)="2" THEN KEY 7, ID$ (I, 1)+"CH2"
2660 IF ID$ (1,00 <>"#” AND ID$ (I, 3)="3" THEN KEY 6, ID$ (I, 1)+"CH3”
2670 IF ID$ (1,00 <>"#” AND ID§ (I, 3)="4" THEN KEY 7, ID$ (I, 1)+"CH4"

2680 IF ID$(I,0)="+" THEN KEY 8, ID$ (I, 1)+"2CH"

2690 IF ID$(I,0)="*" THEN KEY 9, ID$ (I, 1)+"STP”

2700 IF ID$(I,0)="*" THEN KEY 10, ID$ (I, 1)+"RUN”

2710 IF ID$ (I, 0)="*" THEN 0SC(2)=VAL(ID$ (I, 2))

2720 NEXT |

2730 "KEY LIST

2740 RETURN

2750 *F1 :SQZ=1 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
2760 *F2 :SQZ=2 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
2770 *F3 :SQZ=3 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
2780 *xF4 :SQZ=4 :GOSUB *HPSTOP :SQZ=0 :RETURN
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2790
2800
2810
2820
2830
2840
2850
2860

*F5 :SQZ=5 :GOSUB *HPRUN :SQZ=0 :RETURN

*F6 :SQZ=6 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
*F7 :SQZ=7 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
*xF8 :S0Z=8 :GOSUB *HPSET :GOSUB *HPSEND :GOSUB *WVDPLY :SQZ=0 :RETURN
*xF9 :50Z=9 :GOSUB *HPSTOP :SQZ=0 :RETURN

*F10 :SQZ=10 :GOSUB *HPRUN :SQZ=0 :RETURN

*HPSET

2870 '

2880
2890
2900
2910
2920
2925
2930
2935
2940
2950
2960
2970
TYPE
2975
TYPE
2980
2990
3000
3010
3020
3030

TS()="" T$(2)="" :TR$ (1)="" :TR$ (2)=""
FOR 1=1 TO 2

I[F 0SC(1)<>0 THEN WBYTE &H3F, &H20+0SC(l), &H1;

I[F 0SC(1)<>0 THEN PRINT@ OSC(l);”:SYSTEM:LONGFORM ON;HEADER OFF”

[F 0SC(1)<>0 THEN PRINT@ 0SC(I);”:ACQUIRE:TYPE?”

I[F 0SC(1)<>0 THEN INPUT@ OSC(1);T$(I1) :T$(I)=LEFT$(TS(I),4) :TYPE$=T$(I)
I[F 0SC(1)<>0 THEN PRINT@ OSC(l) ;" :TIMEBASE:RANGE?”

IF 0SC(1)<>0 THEN INPUT@ OSC(I);TR$ (1) :TRANGE=VAL (TR$(1))*1E8

IF 0SC(1)<>0 THEN WBYTE &H3F, &H20+0SC (1), &H1;

NEXT |

LOCATE 32,2 :PRINT SPACE$ (47) :LOCATE 32,2

IF 0SC(1)*0SC(2)<>0 AND T$ (1)<>T$(2) THEN PRINT “SET TIME-ADJUSTs OF HP545s AS THE SAME
I” :COLOR@ (32,2)-(79,2),6

[F 0SC (1) *0SC (2) <>0 AND TR$ (1) <>TR$ (2) THEN PRINT “SET TIME-ADJUSTs OF HP545s AS THE SAME
I” :COLOR@ (32,2)-(79,2),6

I[F 0SC (1)*0SC(2)<>0 AND T$ (1)<>T$§(2) THEN GOSUB *ALERT :RETURN *DATANM

IF TYPE$="AVER” THEN TPOINTS=500 :VPOINTS=1024 :FORMAT$="WORD”

[F TYPE$="NORM” THEN TPOINTS=8000 :VPOINTS=256 :FORMAT$="COMPRESSED”

RETURN

*HPSTOP

3040 °

3050
3060
3070
3080
3090
3100
3110
3120
3130
3140
3150

[0=1 :IN=2
IF SQZ=1 THEN 10=1 :IN=1

3160 °

3170
3180
3190
3200
3210

IF SQZ=9 THEN 10=2 :IN=2
FOR 1=10 TO IN
I[F 0SC(1)<>0 THEN WBYTE &H3F, &H20+0SC(l), &H1;
IF 0SC(1)<>0 THEN PRINT@ 0SC(l);”:STOP”
I[F 0SC(1)<>0 THEN WBYTE &H3F, &H20+0SC (1), &H1;
NEXT |
RETURN
*HPRUN
[0=1 :IN=2
[F SQZ=5 THEN 10=1 :[N=1
[F SQZ=10 THEN 10=2 :IN=2
FOR 1=10 TO IN

I[F 0SC(1)<>0 THEN WBYTE &H3F, &H20+0SC(l), &H1:;
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3220
3230
3240
3250
3260

3270 °

3280

3290 °

3300
3310
3320
3330
3340
3350
3360
3370
3380
3390
3400
3410
3420
3425
3430
3440
3450
3460
3470
3480
3490
3500
3510
3520

IF 0SC(1)<>0 THEN PRINT@ 0SC(l);”:ERASE PMEMORYO”
IF 0SC(1)<>0 THEN PRINT@ 0SC(I) ;" :RUN”
I[F 0SC(I1)<>0 THEN WBYTE &H3F, &H20+0SC (1), &H1;
NEXT |
RETURN

*HPSEND
GOSUB *HPSTOP

[0=1 :IN=4

IF SQZ=1 THEN 10=1 :IN=1

[F SQZ=2 THEN 10=2 :IN=2

[F SQZ=3 THEN 10=1 :IN=2

IF SQZ=6 THEN 10=3 :IN=3

IF SQZ=7 THEN 10=4 :IN=4

IF SQZ=8 THEN 10=3 :IN=4

FOR 1=10 TO IN

[F ID$ (1,0)<>"#” THEN 0S=VAL (ID$ (I, 2))

[F ID$ (1,0)<>"#” THEN WBYTE &H3F, &H20+0S, &H1;

"IF ID$ (1, 0)<>"#” THEN PRINT@ 0S;”:STORE CHANNEL”+ID$ (I, 3)+", WMEMORY“+ID$ (I, 3)
"IF 1D$(1,0)<>”#” THEN PRINT@ OS:”:WAVEFORM:SOURCE WMEMORY”+ID$ (I, 3)

[F ID$ (I,0)<>"#” THEN PRINT@ OS;”:WAVEFORM:SOURCE CHANNEL”+I1D$ (I, 3)

[F ID$ (1,0)<>"#” THEN PRINT@ 0S;”:CHANNEL”+ID$ (I, 3) +” :RANGE?”

[F 1D$ (1, 0)<>"#” THEN INPUT@ OS;RAN$ :RANGE (I)=VAL (RAN$)*1000

[F ID$ (1,0)<>"#” THEN PRINT@ OS;”:CHANNEL”+ID$ (I, 3)+":OFFSET?”

[F I1D$ (1, 0)<>"#” THEN INPUT@ 0S;OF$ :OFFSET (I)=VAL (OF$)*1000

[F ID$ (1, 0)<>"#” THEN PRINT@ OS;”:WAVEFORM:FORMAT “+FORMAT$+";DATA?”

[F 1D$ (1,0)<>"#” THEN RBYTE &H3F, &H40+0S, &H20+PCAD;PD1, PD2

[F I1D$ (1, 0)<>"#” THEN FOR J=1 TO PD2-&H30 :RBYTE ;D :NEXT J

[F ID$(1,0)<>"#” AND TYPE$="NORM“ THEN FOR J=0 TO TPOINTS-1 :RBYTE ;WD(I-1,J)

[F ID$ (I, 0)<>"#” AND TYPE$="NORM” THEN NEXT J
IF ID$ (1, 0) > #” AND TYPE$="AVER” THEN FOR J=0

TPOINTS-1 :RBYTE ;WD1,WD2 :WD(I-1, J)=WD1x8+WD2/32

3530
3540
3550
3560
3570
3580
3590
3600

3610 °

3612
3614
3615
3616
3618
3620

[F ID$(I,0)<>"#” AND TYPE$="AVER” THEN NEXT J
[F ID$ (1,0)<>"#” THEN RBYTE ;DD :WBYTE &H5F;
[F 1D$ (1, 0)<>"#” THEN WBYTE &H3F, &H20+0S, &H1:;
NEXT |
GOSUB *HPRUN
RETURN
*WARN ING
MIN(1)=VPOINTS :MIN(2)=VPOINTS :MIN(3)=VPOINTS :MIN(4)=VPOINTS

MAX (1)=0 :MAX(2)=0 :MAX(3)=0 :MAX(4)=0

WW(1)=0 :WW(2)=0 :WW(3)=0 :WW(4)=0

WN(1)=0 :WN(2)=0 :USCH$="" :0SCH$=""

FOR 1=1 TO 4 :FOR J=0 TO TPOINTS-1

[F ID$ (1, 0)<>7#” AND ID$(l,6)="Y" AND MINCI)>WD(I-1,J) THEN MINCI)=WD(I-1,J)
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3622 IF ID$(I,0)<>“#" AND ID$ (I, 6)="Y" AND MAX(I)<WD(I-1,J) THEN MAX(I)=WD(I-1,J)
3623 IF ID$(I,0)="#" OR ID$ (I, 6)="N" THEN WW(I)=1 :J=TPOINTS-1

3624 NEXT J :NEXT |

3626 FOR 1=1 TO 4

3628 IF WW(1)=0 AND MIN (1) >VPOINTS/2-LMT/4 AND MAX (1) <VPOINTS/2+LMT/4 AND RANGE (1) >MVR*4
WN(1)=1 ELSE USCH$=USCH$+"

3630 [F WW(1)=0 AND MIN(I)>VPOINTS/2-LMT/4 AND MAX (1) <VPOINTS/2+LMT/4 AND RANGE (1) >MVR*4
USCH$=USCH$+STRS (1)

THEN

THEN

3632 IF WW(I)=0 AND (MINC(I)<LMT OR MAX(I)>VPOINTS-LMT) THEN WN(2)=1 ELSE OSCH$=0SCH$+"

3634 IF WW(I1)=0 AND (MIN(I)<LMT OR MAX(I)>VPOINTS-LMT) THEN OSCH$=0SCH$+STR$ (1)
3638 NEXT |

3640 LOCATE 50,0 :PRINT SPACE$ (29)

3642 IF WN(1)=1 THEN LOCATE 50,0 :PRINT “UNDER:”;USCH$

3644 |F WN(2)=1 THEN LOCATE 66,0 :PRINT “OVER:”;0SCH$

3646 IF WN(1)+WN(2)<>0 THEN COLOR@ (50,0)-(79,0),2

3648 RETURN

3650 °

3660 *RMS

3670 °

3680 Z=L-1000 :KK=K+1

3690 |IF KK>23 THEN KK=23

3700 LOCATE 0,KK :PRINT SF2§;SF3§.”

3710 FOR 1=1 TO 4 :AVI=0 :RM!=0

3720 IF ID$(1,00<>"#” THEN FOR J=RJCT TO TPOINTS-RJCT-1 :AVI=AVI+WD(I-1,J)
J JAD(I)=CINT (AV!/(TPOINTS-2%RJCT))

3730 IF ID$ (I, 0) > #” AND ID$ (I, 4)="Y" THEN FOR J=RJCT
TPOINTS-RJCT-1 :RM!=RM!+(WD (1-1,J)-AD(l)) "2 :NEXT J
3740 IF ID$ (1, 0) > #” AND ID$ (I, 4)="Y"

RDO! (1, M)=SQR (RM!/ (TPOINTS-2%RJCT) ) *RANGE (1) /VPOINTS
3750 IF ID$(I,0)<>"#” AND ID$ (I, 4)="Y" THEN PRINT CSNG (CINT (RDO! (I, M)*10))/10;

"NEXT

T0

THEN

3760 IF ID$ (I, 0)<>"#” AND I1D$ (I, 4)="N" THEN ADD!=(AD (1) -VPOINTS/2) *RANGE (1) /VPOINTS+OFFSET (1)

3770 1F ID$(I,0)<>“#” AND ID$ (I, 4)="N" THEN PRINT CSNG (CINT (ADD!%10))/10;

3780 NEXT |

3785 IF WN(1)+WN(2)<>0 THEN COLOR@ (0, KK)-(8, KK), 2

3787 PRINT

3790 "FOR I=1 TO 4

3795 " IF Z>=0 THEN RD! (I, Z)=0

3800 "IF ID§(I,00<>"#” AND M=NMB AND ID$(I,4)="Y" AND Z>=0 THEN FOR J=1
NMB :RD! (I, Z)=RD! (I, Z)+RDO! (I, J)

T0

3805 " IF ID$§ (1, 0)<>"#” AND M=NMB AND ID$ (I, 4)="Y" AND Z>=0 THEN NEXT J :RD! (I, Z)=RD! (I, Z) /NMB

3810 " NEXT |

3820 RETURN

3830

3840 *SPECT

3850 °

3860 FMAX#=. 000001

3870 FOR 1=1 TO 4

3880 FOR J=0 TO 1023 :W#=1
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3890 IF ID$(I,0)<>“#” AND J<102 THEN Wi=. 5% (COS (PI*J/102-P1)+1)

3900 IF ID$(I,0)<>“#” AND J>921 THEN Wi#=. 5% (COS (PI*(J-921) /102) +1)

3910 IF ID$ (I, 0)<>"#” AND TYPE$="NORM” THEN FDR# (J)=W#* (WD (1-1, 1000+J)-AD (1)) :FDI#(J)=0
3920 IF ID$(1,0)<>"#” AND TYPE$="AVER” AND J<500 THEN FDR# (J) =W+ (WD (1-1, J)-AD (1)) :FDI#(J)=0
3930 IF ID$ (I, 0)<>"#” AND TYPE§="AVER” AND J>=500 THEN FDR#(J)=0 :FDI#(J)=0

3940 NEXT J

3950 IF ID$ (I, 0)<>"#” THEN GOSUB *FFT

3960 FOR J=0 TO 256

3970 IF ID$(I,0)<>"#” THEN FD# (I, J)=(FDR#(J) "2+FDI# (J) "2) /1024

3980 IF ID$(I,0)<>"#” AND FD#(I, J) >FMAX# THEN FMAX#=FD# (I, J)

3990 NEXT J: NEXT |

4000 RETURN

4010 °

4020 *WVDPLY

4030 °

4040 10=1 :IN=4

4050 |IF SQZ=1 THEN 10=1 :IN=1

4060 |F SQZ=2 THEN 10=2 :IN=2

4070 |IF SQZ=3 THEN 10=1 :IN=2

4080 |IF SQZ=6 THEN 10=3 :IN=3

4090 |F SQZ=7 THEN 10=4 :IN=4

4100 |IF SQZ=8 THEN 10=3 :IN=4

4110 SCREEN , 0,0, 1

4120 LOCATE 32,1 :PRINT SPACE$ (48) :LOCATE 32,1

4130 PRINT “mV/div:”

4140 FOR 1=10 TO IN

4150 IF ID$ (I,0)<>"#" THEN VIEW (254, 84x(1-1)+34)~-(637, 84x(1-1)+115),0, 4

4160 IF ID$ (I, 0)<>"#” THEN WINDOW (0, 0)-(TPOINTS-1, VPOINTS-1)

4170 IF ID$ (1, 0) > #” AND TYPE$="NORM” THEN FOR J=1 T0 7 ‘LINE
(TPOINTS/8%J-1,0) - (TPOINTS/8+J-1, VPOINTS-1), 4, , &HFOOF :NEXT J

4180 IF ID$ (1, 0) > #” AND TYPE$="AVER" THEN FOR J=1 T0 9 ‘LINE
(TPOINTS/10%J-1, 0) - (TPOINTS/10%J-1, VPOINTS-1), 4, , &HFOOF :NEXT J

4190 IF ID$ (1, 0) > #” THEN FOR J=1 T0 3 ‘LINE
(0, VPOINTS/4%J-1) - (TPOINTS-1, VPOINTS/4*J-1), 4, , &HFOOF :NEXT J

4200 IF ID$(I,0)<>“#” THEN FOR J=0 TO TPOINTS-1 :PSET (J, VPOINTS-1-WD (I-1,J)) :NEXT J

4210 IF ID$ (I, 0)<>"#” THEN LINE (RJCT, VPOINTS-1-AD (1))~ (TPOINTS-RJCT-1, VPOINTS-1-AD(l)), 2
4220 IF ID$ (I, 0)<>"#” THEN LOCATE [%10+30,1 :PRINT RANGE (I)/4:;" (" OFFSET(1);")"

4230 NEXT |

4233 LOCATE 32,2 :PRINT SPACES$ (47)

4235 LOCATE 32,2 :PRINT “T-Range [ns/div]:”; TRANGE

4240 RETURN

4250 ’

4260 *SPDPLY

4270 °

4280 SCREEN ,0,1,17

4290 FOR 1=1 TO 4

4300 IF ID$(I,0)<>"#” AND 1<=2 THEN VIEW (196x(1-1)+249, 34)-(196x(I1-1)+441,196),0, 4

4310 IF ID$(I,0)<>“#” AND 1>=3 THEN VIEW (196% (1-3)+249, 200) - (196% (1-3)+441,362),0, 4
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4320 IF ID$(I,0)<>“#” THEN WINDOW (O, -FMAX#) - (256, 0)

4330 IF ID$ (1, 0) > #” THEN FOR J=1 T0 24 :LINE
(CINT (256/25%J) , -FMAX#) - (CINT (256/25%J), 0), 4, , &HFOFO :NEXT J
4340 IF ID§ (1, 0) > #” THEN FOR J=1 T0 4 ‘LINE

(CINT (256/5%J) , ~FMAX#) - (CINT (256/5%J), 0), 4,, :NEXT J

4350 IF ID$ (I, 0)<>"#” THEN FOR J=0 TO 255 :LINE (J, -FD#(I, J)) - (J+1,-FD# (I, J+1)) :NEXT J
4360 NEXT |

4363 LOCATE 32,2 :PRINT SPACES$ (47)

4365 LOCATE 32,2 :PRINT “F-Range [MHz/div]: 50/S”

4370 RETURN

4380 ’

4390 *DATANM

4400 °

4402 |F M<KMO THEN M=MN :V!I=VI-DVI

4404 |F M>MN THEN M=MO :V!=VI+DV!I

4406 |F VI<VO! THEN V!=VN! :L=L-DL

4408 |F VI>VN! THEN V!=VO! :L=L+DL

4410 LOCATE 0,0 :PRINT SPACE$ (49) :LOCATE 32,0

4420 SF2$=RIGHT$ (STR$ (L), 3)

4425 SF3$=RIGHT$ (STR$ (VI*10+10000), 4) +CHR$ (&H60+M)

4430 IF NMB=1 THEN SF3$=RIGHT$ (STR$ (VI*10+10000), 4)

4440 PRINT “DATA: “;SF2§;SF3$ :COLOR@ (32,0)-(49,0),6

4450 RETURN

4460 °

4470 *WVSAVE

4480 ’

4490 LOCATE 0,0 :PRINT SPACE$(32) :LOCATE 0,0

4500 SFA$=SF2§+SF3$+EX$ :SFO$=""

4510 PRINT “W-NAME: “;SFA$ :COLOR@ (0,0)-(31,0),5

4520 IF S=0 THEN LOCATE 8,0 :INPUT “”,SFO$ :IF SF0$<>”” THEN SFA$=SF0$
4530 SFA$=WORDS$ (8) +SFA$

4540 OPEN SFA$ FOR OUTPUT AS #1

4545 FOR FOW=0 TO FOWN :NEXT FOW

4550 PRINT #1, “#0ST”;

4560 FOR 1=1 TO 4

4570 IF ID$ (1,00 <>"#” AND ID$ (I, 5)="Y" AND OFFSET(1)<0 THEN PRINT #1, ” ”;
4575 IF ID$ (1, 0)<>”#” AND ID$(I,5)="Y" THEN PRINT #1, STR$ (OFFSET(I));
4580 NEXT |

4590 PRINT #1,

4600 PRINT #1, “#RNG";

4610 FOR 1=1 TO 4

4620 IF ID$(I,0)<>"#” AND ID$ (I, 5)="Y" THEN PRINT #1, STR$ (RANGE(I)):;
4630 NEXT |

4640 PRINT #1,

4650 FOR J=0 TO TPOINTS-1 :FOR I=1 TO 4

4660 1F ID$(I,0)<>"#” AND ID$ (I, 5)="Y" THEN PRINT #1, STREMWD(I-1,J));
4670 NEXT | :PRINT #1, :NEXT J

4680 CLOSE #1
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4690 LOCATE 0,0 :PRINT SPAGE$ (32)

4700 RETURN

4710 °

4720 ° *RMSSAVE

4730 °

4740 ' Z=L-DZ-1000

4750 ' IF Z0<Z THEN J0=Z0 :JN=Z

4760 ' IF Z0>Z THEN JO0=Z :JN=Z0

4770 'LOCATE 0,0 :PRINT SPACE$ (32) :LOCATE 0,0

4780 ' SFB$="rms”+EX$ :SFO$=""

4790 ' PRINT “R-NAME: “;SFB$ :COLOR@ (0, 0)-(31,0),5 :LOCATE 8,0 : INPUT ", SFO$ : IF SFO$<>"" THEN
SFB$=SFO0$

4800 ' SFB$=WORD$ (8) +SFB$

4810 'OPEN SFB$ FOR OUTPUT AS #1

4820 'FOR J=JO TO JN STEP CINT(ABS(DZ)) :PRINT #1, J; :FOR I=1 TO 4
4830 " IF ID$(I,0)<>"#” AND ID$ (I, 4)="Y" THEN PRINT #1, RD! (I, J);
4840 "NEXT | :PRINT #1, :NEXT J

4850 ' CLOSE #1

4860 ' RETURN

4870 °

4880 *FAQ

4890 °

4900 LOCATE 0,1 :PRINT SPACE$ (32) :LOCATE 0,1

4910 IF AT=0 THEN PRINT “SELECT![2/4/6/8/0/./+/*/=/y/n]” :COLOR@ (0,1)-(31,1),4
4920 IF AT=0 THEN A$="" :WHILE A$="" :A$=INKEY$ :WEND

4930 |F AT=1 THEN PRINT “---- FULL AUTOMATION MODE —-——-" :COLOR@ (0,1)-(31,1),4
4935 |F AT=1 THEN A$="x"
4940 S=0 :R=0 :WN(1)=0 :WN(2)=0 "Input file-name when S=0

4950 IF (A$="2" OR A$="4" OR A$="6" OR A$="8") AND SS=1 THEN M=M-DM :SS=0 :SCREEN , 2,
4960 IF A$="2" THEN L=L-DL

4970 IF A$="4" THEN M=M-DM

4980 IF A$="6" THEN M=M+DM

4990 IF A$="8" THEN L=L+DL

5000 GOSUB *DATANM

5002 IF A$="0" OR A$="+" OR A$="+" THEN K=K+1

5004 IF L<OLL AND (A$="0" OR A$="+" OR A$="x") THEN GOSUB *TRANS :GOSUB *PAUSE1

5006 IF A$="0" OR A$="+" OR A$="%" THEN GOSUB *DPSSET :GOSUB *HPRUN

5008 IF A$="0" OR A$="+" OR A$="+" THEN GOSUB *HPSET :GOSUB *PAUSE2 :GOSUB *HPSEND
5010 IF VI=VN! AND (A$="0" OR A$="+" OR A$="x") THEN VVN!=V! :VI=0 :GOSUB *DPSSET :VI=VVN!
5012 IF A$="0" OR A$="+" OR A$="*" THEN GOSUB *WARNING :GOSUB *RMS

5014 IF A$="0" OR A$="+" THEN GOSUB *WVDPLY

5016 |IF A$="+" OR A$="x" THEN S=1

5020 ' IF A$="." OR A$="+" OR A$="*" THEN GOSUB *WVSAVE

5025 " IF A$="." OR A$="+" OR A$="+" THEN M=M+DM :SS=1

5030 IF (A$="." OR A$="+" OR A$="%") AND WN(1)+WN(2)<>0 THEN GOSUB *VRANGE

5035 IF (A$="." OR A$="+" OR A$="%") AND WN(1)+WN(2)=0 THEN GOSUB *WVSAVE

5040 IF (A$="." OR A$="+" OR A$="%") AND WN(1)+WN(2)=0 THEN M=M+DM :SS=1

5042 IF (A$="." OR A$="+" OR A$="x") AND WN(1)+WN(2)=0 THEN LL=L

o+ o+ o+ 4+
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5044
5046
5048
5050
5060
5070

IF A$="-" THEN GOSUB *SPECT :GOSUB *SPDPLY

IF A$="y” OR A$="Y” OR A$=CHR$ (&HOD) THEN R=0 :SCREEN , 2,
[F A$="n" OR A$="N" THEN R=1

RETURN

*ERRORS

5080 °

5090
5100
5110
5120
5130
5140
5150
5155
5160
5170
5180

LOCATE 0,0 :PRINT SPACE$ (80) :LOCATE 0,0
PRINT ERR;”“ERROR !”

IF ERR=53 THEN PRINT “Read file not found !”
IF ERR=64 THEN PRINT “Disk broken !”

IF ERR=68 THEN PRINT “Save disk full !”

IF ERR=69 THEN PRINT “Read disk bad !”

5190 ’

5200
5210
5220
5230
5240
5250
5260

5270 ’

5280
5290
5300
5310
5320
5330
5340
5350
5360
5370
5380
5390
5400
5410
5420
5430
5440
5450
5460
5470
5480

IF ERR=76 THEN PRINT “Not exist the directory !”
COLOR@ (0, 0)-(79,0), 2
GOSUB *ALERT :RESUME *QUIT

*ALERT
LOCATE 0,1 :PRINT SPACE$(32) :LOCATE 0, 1
PRINT “PRESS KEY 11" :COLOR@ (0,1)-(31,1),2
BEEP 1 :A$=""
WHILE A$="" :A$=INKEY$ :WEND :BEEP 0
RETURN

+FFT
O#=P11/1024 :P=1: Q=1024 :XX(0)=0

FOR 11=1 TO 10

0#=0#*2: P=P*2: Q=Q0/2

FOR JJ=0 TO P/2-1

X (2xJJ) =XX (JJ) /2

X (2%JJ+1) = (XX (JJ) +1024) /2

XX (2%JJ) =X (2*JJ)

XX (2%JJ+1) =X (2xJJ+1)

FOR KK=0 TO Q-1

ATR#=FDR# (KK+2*JJ*Q)

A1 1#=FD 1 # (KK+2*JJ*Q)
A2R#=FDR# (KK+ (2%JJ+1) xQ)

A2 | #=FD [ # (KK+ (2%JJ+1) *Q)
AR#=A1R#-A2R#

Al#=AT1#-A21#

WR#=CO0S (O#t+KK) : WI#=SIN (0#t*xKK)

FDR# (KK+2xJJ*Q) =A1R#+A2R#

FDI# (KK+2xJJ*Q) =A1 [ #+A2 | #

FDR# (KK+ (2%JJ+1) *Q) =AR#+WR#-A | #+W | #
FDI# (KK+ (2%JJ+1) Q) =A 1 #1+WR#+AR#+W | #
NEXT KK: NEXT JJ: NEXT |1
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5490 FOR 11=0 TO 1023

5500 IF 11<X(I1) THEN AR#=FDR#(II): Al#=FDI#(II)

5510 IF TI<KX(I1) THEN FDR#(I1)=FDR#(X(I1)): FDI#CI1)=FDI# (X (I1))
5520 IF [1<X(I1) THEN FDR#(X(I1))=AR#: FDI#(X(I1))=Al#

5530 NEXT 11

5540 RETURN

6000 ’

6005 ’

6010 *PAUSE1

6012 °

6014 WHILE PNT$="" :WEND :PNT$=""

6016 RETURN

6020 °

6025 *PAUSE2

6030 ’

6032 IF TYPE$="AVER” THEN LOCATE 0,0 :PRINT SPC(31)

6034 IF TYPE$="AVER” THEN LOCATE 0,0 :PRINT “NOW WAITING :~
6036 |F TYPE$="AVER” THEN COLOR@ (0,0)-(31,0),5

6038 I|F TYPE$="AVER” THEN WT=0 :WHILE WTN>=WT :TM$=TIMES$

6040 |IF TYPE$="AVER” THEN WHILE TM$=TIME$ :WEND

6042 |F TYPE$="AVER” THEN LOCATE 14,0 :PRINT SPG(17)

6044 |F TYPE$="AVER” THEN LOCATE 14,0 :PRINT WT;"/”;WTN

6046 IF TYPE$="AVER” THEN WT=WT+1

6048 IF TYPE$="AVER” THEN COLOR@ (0,0)-(31,0),5 :WEND

6050 RETURN

6060 °

6062 *PAUSE3

6064 °

6066 LOCATE 0,0 :PRINT SPACE$(32) :LOCATE 0,0

6068 PRINT “NOW PAUSING ! PRESS N OR A !” :COLOR@ (0,0)-(31,0),2 :BEEP
6070 C$="" :WHILE C$="" :C$=INKEY$ :WEND

6072 IF C$="n" OR C$="N" THEN AT=0

6074 IF C$="a” OR C$="A" THEN AT=1

6076 LOCATE 0,0 :PRINT SPACE$ (32)

6080 RETURN

6100 °

6110 *TRANS "Transmitting Data to PC
6115’

6120 PRINT #2, RIGHT$ (STR$ (L), 3)

6130 RETURN

6200 °

6210 *REGE "Receiving Data to PC
6215 °

6230 FOR H=1 TO HN :NEXT H

6240 PNTO$="" :PNT$=""

6250 *LP :PNTO$=INPUTS$ (1, #2) :PNT$=PNT$+PNTO$ :ZZ=CINT (VAL (PNT$)) ' ZZ Uni :pt
6260 IF AT=0 AND PNTO0$=CHR$ (&HOD) THEN LOCATE 50,0 :PRINT SPGC(29)
6270 IF AT=0 AND PNTO$=CHR$ (&HOD) THEN LOCATE 50,0 :PRINT “Rec Z :”,;ZZ

25/94



6275 |F PNTO$=CHR$ (&HOD) AND L<>ZZ+1000 THEN M=MO :L=7ZZ+1000
6280 I|F PNTO$=CHR$ (&HOD) THEN COM OFF :CLOSE #2

6290 IF PNTO$=CHR$ (&HOD) THEN GOSUB *RS232GC :RETURN

6300 GOTO *LP

6400 °

6410 *RS232C "Ready to Receive Data
6415 °

6420 OPEN “COM:E72XS” AS #2

6430 COM ON :ON COM GOSUB *REGE

6440 RETURN

6500 '

6510 *VRANGE "Changing Vertical Ranges
6520 °

6522 |F AT=0 THEN LOCATE 0,0 :PRINT SPACE$ (32) :LOCATE 0,0
6524 |F AT=0 THEN PRINT “CHANGE VRANGE ?” :COLOR@ (0,0)-(31,0),6 :BEEP
6526 |IF AT=0 THEN B$="" :WHILE B$="" :B$=INKEY$ :WEND

6528 |IF AT=0 THEN LOCATE 0,0 :PRINT SPACE$ (32)

6530 IF AT=0 AND (B$="n" OR B$="N") THEN RETURN

6540 FOR 1=1 T0 4

6550 UC$=MIDS$ (USCHS, 1%2, 1)

6555 0C$=MID$ (OSCHS$, 1*2, 1)

6565 IF ID$ (I, 0)<>"#” THEN 0S=VAL (ID$ (I, 2))

6570 IF ID$ (I, 0)<>"#” THEN WBYTE &H3F, &H20+0S, &H1;

6575 IF ID$(1,0)<>"#” AND RANGE(I)<MVR*8 AND RANGE (1) >MVR*4 AND VAL (UC$)=I

RANGE (1) =MVR+*4x*2

6580 IF ID$ (I, 0) > #” AND VAL (UC$) =1 THEN
0S;“:CHANNEL”+ID$ (1, 3) +” :RANGE”+STR$ (RANGE (1) /1000/2)

6585 IF ID§ (1, 0) > #” AND VAL (0C$) =1 THEN
0S;”:CHANNEL"+1D$ (I, 3) +” :RANGE”+STR$ (RANGE (1) /1000%2)
6590 IF ID$ (I, 0)<>”"#” THEN WBYTE &H3F, &H20+0S, &H1;
6600 NEXT |

6610 RETURN

6700 °

6710 *DPSSET

6720 °

6730 WBYTE &H3F, &H20+PDS, &H1; :PRINT@ PDS;”SW1”

6750 PRINT@ PDS;”VA"+STR$ (V1)

6760 IF R=1 THEN PRINT@ PDS;”VA00.0” :PRINT@ PDS;”SW0”
6770 RETURN

#initial File for HP=*. EXE
#

0SC, ADD, CH, RMS, SAV, WAN
22A, 2, 1, N, Y, N
22A, 2, 2, N, Y, N
#10A, 3, 1, N, Y, N
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#10A, 3, 2, N, Y, N

#

PG98-ADD, 1

RPT-NMB, 1

WRN-LMT, 256

H-RJCT, O

SAVE-DIR, b:¥50v290a¥

WT-TIME, 13

PDS-ADD, 5

100 * MON.BAS (n88BASIC) "'’ '''rrrrrrrrrrrrrrrrrrins Since Feb. 2002
102’

104 ' This is a software to know discharge currents,

106 ' pressures and probe positions z[pt] on experiments.
108 °

110 ° Programed by TAKEDA Tsuyoshi
12

114

116 ' Access speed to |/0 on 486/Pentium PC is faster than
118 ' conversion speed on A/D board

120 ' So, this program needs some weights after starting A/D
121 ' as “0UT &HD2,0 :0UT &H5F, 0 :0UT &H5F, 0

122 ' :0UT &HD2,0 :0UT &H5F, 0 :0UT &H5F, 0” on 486 PC.

123 ° (Weights on Pentium PC demand 4 times more than above.)
124

126 ' Available for TRANS and RECE ROUTINE by RS232C.

128 ' No using TEST1 and TEST2 ROUTINE together.

130 °

131" Meaning the following functions for KEYs:

132

134 KEY "0 : RESET -—— Resetting to present z[pt]
136 ° KEY "5 : STOP -—— Stopping moving

138’ KEY "4/6" : MOVE -— Moving.

140 ° KEY "% : INPUT -—  Input z[pt] to move

142 °

144 NOTE:  z[pt] must be absolute values, not relative
145

146 ° Showing the following values:

148

150 ° PORT*: Id[mA] —-— Discharge current

152’ PORTx: P[Torr] -—— Pressure

154 PORT*: Z[mm, pt] -—— z-position

156 °

160 ' Last modified in Apr. 2003
210 °

220 °

230 CLS :CLEAR,
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240
245
250
255
257
300

STOP ON :ON STOP GOSUB *QUIT

LOCATE 10,2 :INPUT “USE RS232G? [Y/N]”,RS$

[F RS$="y” OR RS$="Y” OR RS$="" THEN R%=1 ELSE R%=0
IF R%=1 THEN GOSUB *RS232C

"Available for RS232C when R%=1

310 °

320
330
340
345
350
355
360
370
380
390
400
410
420
425
430
440
450
460
470

*MA IN

CH1%=2 :CH2%=3 :CH3%=4 :CH4%=5 :CH5%=6 "Channel numbers of A/D
CHS1%=2"5 :CHS2%=2"6 "Channel numbers of A/D
IN%=4 :HN%=3000 ' IN%: Average num / HN%: Waiting time when RECE is on
Z7%=-1 :PPP4=0 :PPP5=0 "PPP4/5: Ex-counts on Z0#

SS%=0 :SSS%=0 :M1%=0 :M2%=0 :ZPP%=0 :ZPPS%=0 :Z0#=0 :KS%=0

PA3%=0 :PA4%=0 :PA5%=0 :PB3%=0 :PB4%=0 :PB5%=0 :PPA4=0 :PPA5=0

J%=0 :JN%=GINT (800/IN%) "JN%: Waiting time on step-by-step mode
OUT &HDO, 0

LOCATE 10,2 :PRINT SPACE$ (50)

LOCATE 10,2 :INPUT “STARTING Z[pt] :”, ZP "INP Z[pt]
Z0#=2P*375/2 :ZPP%=CINT (ZP)

LOCATE 10,2 :PRINT “KEY: 0/5/4,6/* — RESET/STOP/MOVE/Z[pt]
LOCATE 10,4 :PRINT “PORT”;CH1%;”: Id[mA] ="

LOCATE 10,6 :PRINT “PORT”;CH2%;”: P[Torr]="

LOCATE 10,8 :PRINT “PORT”;CH3%;”: Counter="

LOCATE 10,10 :PRINT ~ Z[pt, mm]="

500 ’
510 °

520
540

WHILE 1
DH1=0 :DL1=0 :DH2=0 :DL2=0 :DH3=0 :DL3=0 :DH4=0 :DL4=0 :DH5=0 :DL5=0

600 °

610
620
622
625
630
632
635
640
642
645
650
652
655
660
662
665
670

FOR 1%=1 TO IN%

OUT &HDO, CH1%+SS% :0UT &HD2,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0
OUT &HD2,0 :0UT &H5F,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0
DH1=INP (&HD4) +DH1 :DL1=INP (&HD6) +DL1

OUT &HDO, CH2%+SS% :0UT &HD2,0 :OUT &HS5F, 0 :OUT &H5F, 0 :0UT &H5F, 0
OUT &HD2,0 :0UT &H5F,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &HS5F, 0
DH2=1INP (&HD4) +DH2 :DL2=INP (&HD6) +DL2

OUT &HDO, CH3%+SS% :0UT &HD2, 0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0
OUT &HD2,0 :0UT &H5F,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0
DH3=INP (&HD4) +DH3 :DL3=INP (&HD6) +DL3

OUT &HDO, CH4%+SS% :0UT &HD2,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0
OUT &HD2,0 :0UT &H5F,0 :0UT &H5F,0 :0UT &H5F, 0 :0UT &H5F, 0
DH4=1INP (&HD4) +DH4 :DL4=INP (&HD6) +DL4

OUT &HDO, CH5%+SS% :0UT &HD2,0 :OUT &HS5F, 0 :OUT &H5F, 0 :0UT &H5F, 0
OUT &HD2,0 :0UT &H5F,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0
DH5=INP (&HD4) +DH5 :DL5=INP (&HD6) +DL5

GOSUB *MOVE1
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690

NEXT 1%

700 °
P1=(256+DH1+DL1) /IN% :P2=(256%DH2+DL2) / IN%
P3=(256*DH3+DL3) /IN% :P4=(256«DH4+DL4) /IN%

710
120
130
140
145
750
760
770
780
800
810
820
825
830
840
850
860
865
870
875
880

P5=(256%DH5+DL5) / IN%

GOSUB *COUNT
GOSUB *MOVE1

X=(P1-2048) *0. 0025%10
Y=(P2-2048) *0. 0025%2

7=704x4/225 :7P=70#x*2/375
Z77%=CINT (ZP-0. 5%ZPPS%)
IF ZZ%<>-1 THEN GOSUB *MOVE2

"IF ZZ%=-1 AND ZPPS%<>0 THEN GOSUB *TEST1 "ONE STEP

"IF ZZ%=-1 AND ZPPS%<>0 THEN GOSUB =*TEST2 "STEP BY STEP

GOSUB *MOVE1

" AMP=100
"G|_REC=1/2
"Z uni: mm / ZP uni: pt

LOCATE 27,4 :PRINT SPACE$ (10) :LOCATE 27,4 :PRINT CINT (X*10)/10
LOCATE 27,6 :PRINT SPACE$ (10) :LOCATE 27,6 :PRINT CINT(Y*100) /100
LOCATE 27,8 :PRINT SPACE$ (20) :LOCATE 27,8 :PRINT Z0# ;J%

LOCATE 27,10 :PRINT SPACE$(20) :LOCATE 27,10 :PRINT CINT (ZPx10)/10;
PRINT TAB(34) :PRINT GINT(Z%10)/10

IF Z<-0.5 AND ZPPS%=-1 THEN SS%=0 :SSS%=0 :ZPPS%=0 :ZZ%=-1 :M2%=0
IF Z>450.5 AND ZPPS%=1 THEN SS%=0 :SSS%=0 :ZPPS%=0 :ZZ%=-1 :M2%=0

WEND

900 °
910 °

920
930
940
950

*QUIT

OUT &HDO, 0

COM OFF :CLOSE #1
STOP OFF :END

960 °

970

980

990

1000
1010
1015
1020
1030
1040
1050
1060
1070
1080
1085
1090

*TRANS
PRINT #1, STR$ (ZZZ%)
RETURN

*REGE

FOR H%=1 TO HN% :NEXT H%

PNTO$="" :PNT$=""

*LP :PNTO$=INPUT$ (1,

IF PNTO$=CHRS$ (&HOD)
IF PNTO$=CHRS$ (&HOD)
IF PNTO$=CHRS$ (&HOD)
I[F PNTO$=CHR$ (&HOD)
I[F PNTO$=CHR$ (&HOD)
IF PNTO$=CHR$ (&HOD)
GOTO =LP

1100 °

1105
1110

*MOVET

#1)

THEN
THEN
THEN
THEN
THEN
THEN

K$="" :K$=INKEY$ :M1%=0

"TRANSMIT DATA TO PC

"RECEIVE DATA FROM PC

"PNT$=PNT$+PNTO$ :ZZ%=CINT (VAL (PNT$)) "ZZ% Uni

SS%=0 :SS8%=0 :ZPPS%=0

OUT &HDO, SS%

LOCATE 51,2 :PRINT SPC(5)
LOCATE 51,2 :PRINT ZZ% :M2%=0
COM OFF :CLOSE #1

GOSUB *RS232C :RETURN
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1112
1114
1116
1118
1120
1125
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1225
1230
1235
1240
1245
1250
1260
1270
1280
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1500
1510
15613
1515
1517
1520
1530
1540
15650
1560
1570
1600

IF K$="0" THEN LOCATE 28,10 :PRINT SPACES$ (30)

IF K$="0" THEN LOCATE 28,10 :INPUT “”, ZP "INP Z[pt]

IF K$="0" THEN ZO0#=2P*375/2 :ZPP%=CINT (ZP)

IF K$="0" THEN SS%=0 :SSS%=0 :ZPPS%=0 :ZZ%=-1 :M1%=1 "RESET

IF K$="5" THEN SS%=0 :SSS%=0

IF K$="5" THEN ZPP%=277% :ZPPS%=0 :ZZ%=-1 :M2%=0 "KEY5 & S OFF
IF K$="6" THEN SS%=CHS1% :ZPPS%=1 :ZZ%=-1 "KEY6 & S ON
IF K$="4" THEN SS%=CHS2% :ZPPS%=-1 :ZZ%=-1 "KEY4 & S* ON

IF K$="+" THEN SS%=0 :SSS%=0 :ZPPS%=0 :M2%=0 :KS%=1

OUT &HDO, SS%

IF K$="x" THEN LOCATE 52,2 :PRINT SPACE$ (5)

IF K$="x" THEN LOCATE 52,2 :INPUT “”, ZZ% "INPT Z[pt]
RETURN

*MOVE2

IF ZP<ZZ% AND M2%=0 THEN SS%=CHS1% :ZPPS%=1 :M2%=1 "Sx ON
I[F ZP>Z7% AND M2%=0 THEN SS%=CHS2% :ZPPS%=-1 :M2%=1 "Sx ON

IF ZP=ZZ% AND M2%=0 THEN SS%=0 :ZPPS%=0 :M2%=1
Z77%=CINT (ZP-0. 5*ZPPS%)

IF R%=1 AND ZZZ%=ZZ% AND M2%=1 AND KS%=0 THEN GOSUB *TRANS
IF R%=1 AND ZZZ%=77% AND M2%=1 AND KS%=1 THEN KS%=0

|F 227%=77% AND M2%=1 THEN SS%=0 :SSS%=0

IF 227%=77% AND M2%=1 THEN ZPP%=Z77% :ZPPS%=0 :ZZ%=-1 :M2%=0
OUT &HDO, SS%

RETURN

*COUNT

IF P3>3072 THEN PA3%=1 ELSE PA3%=0

I[F P4>3072 THEN PA4%=1 :PP4%=1 ELSE PA4%=0 :PP4%=0
IF P5>3072 THEN PA5%=1 :PP5%=1 ELSE PA5%=0 :PP5%=0
IF PA3%-PB3%=-1 THEN PP3%=1 ELSE PP3%=0

IF PA4%-PB4%=-1 THEN PPA4=PPP4 ELSE PPA4=0

IF PA5%-PB5%=-1 THEN PPA5=PPP5 ELSE PPA5=0

Z0#=20#+PP3%* (PP4%-PP5%) +PPA4-PPAb

PB3%=PA3% :PB4%=PA4% :PB5%=PA5%

RETURN

*TESTT "ONE STEP MOTION

LI%=2171%+ZPPS%

RETURN

*TEST2 "STEP BY STEP MOTION

|F ZZ7%=ZPP% THEN ZPP%=ZPP%+ZPPS% :SSS%=SS% :SS%=0 :J%=0

I[F SS%=0 THEN J%=J%+1

IF J%=JN% THEN J%=0 :SS%=SSS%
OUT &HDO, SS%

RETURN
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1610 *RS232C

1620 OPEN “COM:E72XS” AS #1

1630 COM ON :ON COM GOSUB *RECGE "RECEPTION
1640 RETURN

1000 * LAN.BAS (n88BASIC) '’ i Since Apr. 2002
1005 °

1010 °  Langmur Probe Measurements for PC98 and A/D Board

1015 °

1020 ° Programed by TAKEDA Tsuyoshi
1025 °

1030 °

1035 °  References: NEC,

1040 ° N88-NihongoBASIC (86) (Ver6.0),

1045 ° Reference Manual / Users Manual

1050 °

1055 °

1060 *  Initial file, “LAN.INI".

1062 *  #Initial File for LAN.BAS

1064 ° #
1066 * DVR, 4.85:Divided voltage ratio (%)
1068 '~ DPR, 2.5 :Disk probe’s radius (mm).

1070 °  OUT-R, 50 :Output resistance (Ohm).

1072 ' AMP-G, 300 :Amplifier’'s gain (time)

1074 ° WT-TIME, 10 :Waitting time (sec).

1076 °~ RPT-NMB, 1 :Repeated number as the same condition.

1078 ©  V-STEP, 0.5 :Steped voltage (V) [more than 0.1]
1080 " V1, 0 :Volt. to estimate ion curr.

1082 ' V2, 4 Volt. to estimate elec. temp

1084 ' V3, 1 ‘Volt. to estimate saturated curr.
1086 ' VW, 4  :Volt. width at V1, V2, and V3
1088 ° SAVE-DIR, B:¥ :Directory to save.

1090 ’

1092 *  Select screen (0), “SELECT[0/2/4/6/8/x/i/t/e/m/s/y/n]l".
1094 ° 4/6 :Back or forward step on data number.

1096 ° 2/8 :Back or forward step on analying phase.

1098 © 0 :Getting, analyzing and showing data

1100 * =% :Getting, analyzing and showing automatically

1102 ° i :Setting the grad. of ion curr. on “Select screen (3)”.
1104 't :Setting the grad. of elec. temp. on “Select screen (3)”
1106 ' e :Setting the grad. of satu. curr. on “Select screen (3)”
1108 " m :Changing probe position.

1110 ° s :Setting measurement condisions

1112 7y :“Yes” or next

11147 n ““No” or exit

1116 °
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1118 *  Select screen (1), “SELECT (m) [0/4/5/6/%x]".
11207 0 ‘Resetting present probe position (pt)
1122 4/6 :Moving probe (s—port on).

1124 " 5 :Stopping moving probe (s—port off)

1126 ° = :Setting position to move (pt)

1128 *  ENTR :Return to “Select screen (0)”.

1130 °

1132 °  Select screen (2), “SELECT(s)[0/d/o/a/w/r/v]”

1134 0 :Showing ch-port signals to adjust offset
1136 d :Setting DPR.

1138 " o :Setting OUT-R.

1140 ' a :Setting AMP-G.

1142 " w :Setting WT-TIME

1144 " v :Setting RPT-NMB

1146 ' v :Setting V-STEP.

1147 °  ENTR :Return to “Select screen (0)”.

1148 °

1150 " Select screen (3), “SELECT(i/t/e)[0/2/4/6/8/+]1".
1152 " 0 :Moving line to white or yellow plots.

1154 ° 4/6 :Moving line to left or right

1156 ©  2/8 :Making width between marked points narrow or broad

1157 '+ :Showing plasma conditions.

1158 *  ENTR :Return to “Select screen (0)”.

1160 °

1162 °  Pressing HELP key,

1164 ' changeable to automation-mode or normal-mode.

1166 '

1170 °

1180 ° NOTICE! This program is available for the following conditions:
1190 ’ Min. voltage of ch-port, -5.1175

1195 Max. voltage of ch-port, 5.12

1200 ’ Max. horizontal initial points, 32750

1205’ Max. horizontal plotable points, 1000

1210 °

1220 "y Last modified in Apr. 2003
1230 °

1240 °

1400 "y MAIN ROUTINE 't rrrrrrrrrrrrrreees
1410 °

1420 *MAIN

1430 °

1435 CLEAR,

1440 ON ERROR GOTO *ERRORS

1470 DEFINT A-Z

1480 °

1490 GOSUB *DEFINES :GOSUB *INIT :GOSUB *MONO

1520 L=LZ0+1000 :LL=0 :DL=DLZ :MO=1 :M=MO :MN=5 :DM=1

1525 GOSUB *DATANM
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1530 WHILE 1
1540 GOSUB *MON
15680 GOSUB =*FAQ

1590 IF R=1 THEN GOSUB *FIN "Finish Program when R=1
15695 IF AT=1 AND L=LZN+1000 AND M>MN THEN GOSUB *QUIT

1635 WEND

1640 °

1650 *FIN

1660

1680 LOCATE 0,0 :PRINT SPACES$(32) :LOGATE 0,0

1690 PRINT “FINISH ?” :COLOR@ (0,0)-(31,0),6 :BEEP

1700 GOSUB *FAQ

1710 IF R=0 THEN GOSUB *QUIT

1730 IF R=1 THEN R=0 :RETURN

1750 °

1760 *QUIT

1770 °

1775 OUT &HDO, O

1780 LOCATE 0,1 :PRINT SPACE$ (32) :LOCATE O, 1

1790 PRINT “FINISHED !!” :GOLOR@ (0, 1)-(31,1),2

1800 BEEP :BEEP :BEEP :BEEP :BEEP

1810 CLOSE :CLEAR :CLS 3 :CONSOLE 0,24,1,1

1820 STOP OFF

1830 ON ERROR GOTO 0

1850 END

1860 '

1870 "y SUB ROUTINE "' 7 rrrrrrrrrrrrrrrrrees
1880 °

1890 *DEF INES

1900 °

1905 AT=0 "When AT=1, automation mode runs.
1930 DIM D00 (16000), DO1(16000), DO!(2002), DI!(2002), D!(2002)
1935 DIM DDI!(2002), DD!(2002), LD1!(2002), LD2!(2002)

1940 DIM WORD$ (13), ID$(13)

1945 EE!=1.187E13

1950 SQZ=0 :S=0 :SC=0 :R=0 :PLSM=1  "When PLSM=1, plasma exists
1960 RF$="lan. ini” :EX$=".dat”

1970 RETURN

1980 °

1990 *INIT

2000 °

2010 "' Reading Initialized File

2020 OPEN RF$ FOR INPUT AS #1

2030 LINE INPUT #1, WORD$ (0)

2040 LINE INPUT #1, WORD$ (1)

2050 FOR =2 TO 13

2100 INPUT #1, WORD$ (1), ID$(I)

2110 NEXT |
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2130
2140
2150
2160
2170
2180
2220

2230 °

2240
2250
2300
2310
2320
2340
2350
2360

2370 °

2380
2390
2400
2402
2410
2420
2425
2437
2440

2450 ’

2460
2480
2490
2500

2510 "’

2520
2525
2530
2540
2550
2560
3000
3010

CLOSE #1

DVR!=VAL (ID$(2)) :DPRI=VAL(ID$(3)) :OPR!=VAL(ID$(4)) :AG!=VAL(ID$(5))
WT=VAL (ID$ (6)) :RN=VAL(ID$ (7)) :DV!I=VAL(ID$ (8))

VI1=VAL(ID$(9)) :V2!=VAL(ID$(10)) :V3!=VAL(ID$(11)) :DIR$=1D$ (13)

VW1!=VAL(ID$(12)) :VW2!=VAL(ID$(12)) :VW3!=VAL(ID$(12))
TVS=1 :EVS=-1
Displaying Initialized Data
CLS :CONSOLE ,,,1 :LOGCATE 0,3
PRINT WORD$ (0) :PRINT WORD$ (1)
FOR 1=2 TO 13
PRINT WORD$ (1), ID$ (1)
NEXT |
GOSUB *FAQ
IF R=1 THEN R=0 :RETURN *QUIT
Getting Initialized Parameter
CLS :LOCATE 0,3

INPUT “PARA-NAME ("4) :”, PARA$
IF PARA$="" THEN PARA$="1000"
PARA$=LEFT$ (PARAS, 4)

INPUT “START-Z 7, LZ0
INPUT “STEP-Z 27, DbLZ
INPUT “END-Z 27 LZN
SF1$=PARA$

Enable Keys

KEY ON :STOP ON :HELP ON
ON STOP GOSUB #QUIT

ON HELP GOSUB *PAUSE2

Set Screen '’

CLS 3 :SCREEN 3,0,0,1

LOCATE 0,10 :PRINT “[SET]”

FOR 1=3 TO 8

LOCATE 0, 1+8 :PRINT WORD$ (1) ;TAB(10);1D$ (1)
NEXT |

RETURN

*MEAS

3020 °

3030
3040
3050
3060
3065
3067
3070

CH1=0 :CH2=1 :CHS1=2"4 "Channel numbers of A/D ports
FOR H=1 TO RN

OUT &HDO,0 :1=0 :J=0 :IN=2 "IN: Average numbers of CH2
LOCATE 0,0 :PRINT “Now Detecting !” :COLOR@ (0,0)-(15,0),5

D1A!=0 :D1B!=0 :D1C!=0 :D2A!=0 :D2B!=0
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3080
3085
3090
3100
3110
3120
3130
3135
3140
3150
3160
3170
3175
3180
3190
3200
3210
3220
3230
3240
3245
3250
3260
3270
3280
3285
3290
3300
3310
3320
3325
3330
3332
3334
3340
3345
3350
3355
3360
3370
3380
3385
3390
3395
3400
3405
3410
3415

OUT &HDO, CH1+CHS1 :0UT &HD2,0 :OUT &H5F,0 :0UT &H5F
OUT &HD2,0 :0UT &H5F, 0 :0UT &HSF,0 :OUT &H5F,0 :0UT

DH11=INP (&HD4) :DL1!=INP (&HD6)

DT1A1=256+DH1!+DL1!

DH2!=0 :DL2!=0

FOR 1=1 TO IN

OUT &HDO, CH2+CHS1 :0UT &HD2,0 :0UT &H5F, 0 :0UT &H5F

OUT &HD2,0 :0UT &H5F,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT
DH2!=INP (&HD4) +DH2! :DL2!=INP (&HD6) +DL2!

NEXT |

D2A1=256«DH21+DL2!

OUT &HDO, CH1+CHS1 :0UT &HD2,0 :0UT &H5F, 0 :0UT &H5F
OUT &HD2,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT

DH1!1=INP (&HD4) :DL1!=INP (&HD6)

D1B!1=256+DH1!+DL1!

TM$=TIME$ :T=0

WHILE T<=WT

DH21=0 :DL2!=0

FOR 1=1 TO IN

OUT &HDO, CH2+CHS1 :0UT &HD2,0 :0UT &H5F, 0 :0UT &H5F

OUT &HD2,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT
DH2!=1INP (&HD4) +DH2! :DL2!=INP (&HD6) +DL2!

NEXT |

D2B1=256%DH2!+DL2!

OUT &HDO, CH1+CHS1 :0UT &HD2,0 :0UT &H5F,0 :0UT &HSF
OUT &HD2,0 :0UT &H5F,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT
DH11=INP (&HD4) :DL1!=INP (&HD6)

D1C!=256+DH1!+DL1!

.0 :0oUT
&H5F, 0

,0 :ouT
&H5F, 0

,0 :0uT

&H5F, 0

,0 :0uT

&H5F, 0

.0 :0oUT
&H5F, 0

&H5F, 0

&H5F, 0

&H5F, 0

&HS5F, 0

&H5F, 0

DOO (J)=CINT ((D1A!+D1B!+D1C!) /3) :DOT(J)=CINT ((D2A!+D2B!)/IN/2)

DT1A!=D1B! :D1B!=D1C! :D2A!=D2B! :J=J+1

TIM$=T IME$

IF TM$<>TIM$ THEN LOCATE 15,0 :PRINT SPACES$ (15)

I[F TM$<>TIM$ THEN LOCATE 15,0 :PRINT T:;”/”;WT;” (";H
I[F TM$<>TIM$ THEN COLOR@ (0,0)-(30,0),5 :TM$=TIMES
WEND

OUT &HDO, 0 :IN=J-1

LOCATE 0,0 :PRINT SPACE$ (30)
VMIN!=1E30 :VMAX!'=-1E30 :IMIN'=1E30 :IMAX!=-1E30
FOR J=0 TO IN
D11=(D00 (J) -2048) 2. 5/48. 5

D21=(D01 (J) -2048) *2500/0PR! /AG!

[F VMINI!>D1! THEN VMINP=J :VMIN!=D1!
[F VMAX!<D1! THEN VMAXP=J :VMAX!=D1!
[F IMIN!>D2! THEN IMINP=J :IMIN!=D2!
[F IMAX!<D2! THEN IMAXP=J :IMAX!=D2!
NEXT J

LOCATE 0,18 :PRINT “[PORTS]”
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3420
3425
3430
3435
3440
3445
3450
3455
3460
3465
3470
3475
3480
3485
3490
3495
3500
3510
3515
3520
3530
3535
3540
3545
3550
3560
3570
3580
3590
3600
3610
3620
3625
3627
3630
3635
3640
3642
3644
3646
3650
3655
3660
3670
3675
3680
3700
3705

LOCATE 0, 19 :PRINT SPACE$ (20)

LOCATE 0,19 :PRINT “Total Pt.”;IN

LOCATE 0,20 :PRINT SPACE$ (20)

LOCATE 0,20 :PRINT “chO Min. “; (DOO (VMINP)-2048)*0. 0025
LOCATE 0,21 :PRINT SPACE$ (20)

LOCATE 0,21 :PRINT “chO Max. “; (DOO (VMAXP)-2048)*0. 0025
LOCATE 0,22 :PRINT SPACE$ (20)

LOCATE 0,22 :PRINT “ch1l Min. “; (DO1 (IMINP)-2048) 0. 0025
LOCATE 0, 23 :PRINT SPACE$ (20)

LOCATE 0,23 :PRINT “ch1 Max. “;(DO1(IMAXP)-2048)=0. 0025

GVSTEP!=5

D11=(D00(0) -2048) *2.5/48.5 :D2!=(D00 (IN)-2048)*2.5/48.5
FOR 1=-120 TO 40 STEP 5

[F 1-5<D1! AND |=>D1! THEN GVMINO!=|

[F 1<=D2! AND [1+5>D2! THEN GVMAXO!=|

NEXT |

IF H=1 THEN GVMIN!=GVMINO! :GVMAX!=GVMAXO!

[F GVMAX!>GVMAXO! THEN GVMAX!=GVMAXO!

[F GYMIN!<GVMINO! THEN DVO=CINT ((GVMINO!-GVMIN!) /DV!)
[F GVMIN!<GVMINO! THEN GVMIN!=GVMINO! :GOSUB *COMPO
GVPOINT=INT ((GVMAX!-GVMIN!) /GVSTEP!)

[=0 :J=0 :K=0

DVOO!=GVMIN!

D1!=0 :D2!=0 :D2A!=0 :D2B!=0

WHILE DVOO!<GVMAX!-DV!
DV11=GVMIN!+DV!*J :DV2I=GVMIN!+DVIx*(J+1)
D11=(D0O0(I)-2048)*2.5/48.5 :D2!1=(D01(I)-2048)*2500/0PR!/AG!

[F DV1!<=D1! AND DV2!>D1! THEN D2B!=D2B!+D2! :K=K+1

IF K=0 AND DV2!<=D1! THEN XX!=DV1!+DV!/2 :GOSUB *COMP1
IF K=0 AND DV2!<=D1! THEN D2B!=YY!%2500/0PR!/AG! :K=1
IF DV2!<=D1! THEN D2B!=D2B!/K

[F J<>0 AND DV2!<=D1! THEN DO! (J)=DV1! :DVOO!=DV1!

IF H=1 AND J<>0 AND DV2!<=D1! THEN DI! (J)=(D2A!+D2B!) /2
IF H>1 AND J<>0 AND DV2!<=D1! THEN DI!(J)=DI! (J)+(D2A!+D2B!) /2
IF DV21<=D1! THEN D2A!'=D2B! :D2B!=0

[F DV21<=D1! THEN I=I-1: J=J+1 :K=0

[=1+1

WEND :

VPOINT=dJ :DO! (J)=DV2!

IF H=1 THEN DI!(J)=D2A! ELSE DI!(J)=DI! (J)+D2A!

NEXT H

IMINI=1E30 :IMAX!=-1E30

FOR 1=1 TO VPOINT

I[F 1<3 OR I>VPOINT-2 THEN D! (1)=DI!(l)/RN

I[F 1=>3 AND I1<=VPOINT-2 THEN GOSUB *COMP2 :D!(I)=YY!/RN
[F IMIN!>D! (1) THEN IMIN'=D! (1)

[F IMAX!<D! (1) THEN IMAX!'=D! (1)
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3710
3715
3720
3725
3730
3740
3750
3760
3770
3780
3785
3790
3795
3800
3810
3820
3830
3840
3860
3870
3872

NEXT |
LIM11=LOG (ABS (IMIN!)+1E-10) /LOG (10)

3874

3876
3878
3880
3882
3884
3886
3888
3890
3892
3894
3896
3898
3900
3902
3904
3906

=1
“GIPOINT=J+1

LIM21=L0G (ABS (IMAX!) +1E-10) /LOG (10)
[F LIMTI>LIM2! THEN LIMIN!=LIM2! :LIMAX!=LIMT!
[F LIMI!I<=LIM2! THEN LIMIN!=LINT! :LIMAX!=LIM2!
FOR J=-6 TO 6
IF J<LIMAX! AND J+0.5=>LIMAX! THEN GISTEP!=(10"J)/5 :LI=J
IF J+0. 5<LIMAX! AND J+1=>LIMAX! THEN GISTEP!=(10"J)/2 :LI=J
NEXT J
[F IMIN!*IMAX!>0 AND LIMAX!-LIMIN!<1 THEN GISTEP!=(10"LI) /10
[F IMIN!*IMAX!>0 AND LIMAX!-LIMIN!<0.5 THEN GISTEP!=(10"LI)/20
[F IMIN!*IMAX1>0 AND LIMAX!-LIMIN!<0.1 THEN GISTEP!=(10"LI) /50
DT1!=IMIN! :D2!=IMAX! :J=0
FOR 111==1%10"(LI+1) TO 107 (LI+1) STEP GISTEP!
[F 111-GISTEP!<=D1! AND I1!>D1! THEN GIMIN!=11!-GISTEP!
[F 111<D2! AND I1!+GISTEP!=>D2! THEN GIMAX!=11!+GISTEP!
J=J+1
NEXT |11
RETURN
*D|FF
FOR 1=2 TO VPOINT-T
DDIT()=(! (I+1)-D! (1-1)) /(DO! (1+1)-DO! (I-1))
NEXT |
DDIT(1)=DDI!(2) :DDI!(VPOINT)=DDI! (VPOINT-1)

3908

3910
3912
3914
3916
3918
3920

3922

3924
3926

DIMIN'=1E30 :DIMAX!=-1E30
FOR 1=1 TO VPOINT
I[F 1<3 OR I>VPOINT-2 THEN DD! (1)=DDI!(I)
I[F [=>3 AND I<=VPOINT-2 THEN GOSUB *COMP3 :DD! (1)=YY!
I[F [=>3 AND [I<=VPOINT-2 AND DIMIN!>DD! (1) THEN DIMIN!=DD! () :SPP=I
I[F [=>3 AND I<=VPOINT-2 AND DIMAX!<DD! () THEN DIMAX!=DD! (I)
NEXT |
IF ABS (DIMAX1)<=ABS (DIMIN!) THEN DDA!=IMIN!/DIMIN!
IF ABS (DIMAX!)>ABS (DIMIN!) THEN DDA!=IMAX!/DIMAX!
RETURN
*COMPO
FOR 1=1 TO VPOINT-DVO
DO! (1)=DO! (1+DVO) :DI!(1)=DI' (1+DVO)
NEXT |
RETURN
*COMP1
YY!=(XX!-(DOO (1)-2048)*2.5/48.5) /(D00 (1-1)-D00 (1)) /2. 5%48. 5

YY!=YY!*(DO1 (1-1)-D01(1))+D01 (1) -2048
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3928
3930
3932

RETURN

*COMP2 "Gram Function

3934

3936
3938
3940
3942
3944

YY!==3«DI! (1-2)+12xD1 1 (1-1)+17*D11 (1) +12«D 1! (1+1)-3*D 1! (1+2)
YY!=YY1/35
RETURN

*COMP3 "Gram Function

3946

3948
3950
3952
3954
3956

YY!==3%DDI! (1-2) +12*DDI! (1-1)+17*DDI! (1) +12«DD 1! (1+1)=3«DD 1! (1+2)
YY!=YY1/35
RETURN

*COMP4

3958 °

3960
3962
3964
3966

YY!=AA!*XX!+BB!
RETURN

*DDPLY

3968 °

3970
3974
3976
3978
3980
3981
3982
3983
3984
3986
3988
3990
3992
3994
3996
3998
4000
4001
4002
4003
4004
4005
4006
4010
4012
4014
4016

SCREEN ,0,0,1 :GOSUB *GNCLS

VIEW (157,37)-(637,397),0, 4

WINDOW (GVMIN!, GIMIN') - (GVMAX!, GIMAX!)

LINE (GVMIN!, 0) - (GVMAX!,0),4 :LINE (0, GIMIN!)-(0, GIMAX!), 4
GGI!=(GIMAX!-GIMIN!) /360%2 :GGV!=(GVMAX!-GVMIN!) /480%2

FOR 1=1 TO GVPOINT-1

GVE!=(GVMIN!+GVSTEP!*1) MOD 10

IF GVE!=0 THEN GGIO!=GGI! ELSE GGI0!=GGI!/2

LINE (GVMIN!+GVSTEP!*I, GIMIN!)- (GVMIN!+GVSTEP!*I, GIMIN!+GGIO!), 4
LINE (GVMIN!+GVSTEP!*I, -GGIO!) - (GVMIN!+GVSTEP!*I, GGIO!), 4

LINE (GVMIN!+GVSTEP!*|, GIMAX!-GGIO!) - (GVMIN!+GVSTEP!*I, GIMAX!), 4
NEXT |

FOR 1=1 TO GIPOINT-1

LINE (GVMIN!, GIMIN!+GISTEP!*1)- (GVMIN!+GGV!, GIMIN!+GISTEP!*1), 4
LINE (-GGV!, GIMIN!+GISTEP!*I)-(GGV!, GIMIN!+GISTEP!*I), 4

LINE (GVMAX!-GGV!, GIMIN!+GISTEP!*I)-(GVMAX!, GIMIN!+GISTEP!x1), 4
NEXT |

FOR 1=1 TO VPOINT

PSET(DO! (1),D! (1)) :PSET(DO!(l),DD! (l)*DDA!),5
NEXT |

LINE (DO! (SPP), GIMIN!)-(DO! (SPP), GIMAX!), 5
GVSTEPN=1

FOR 1=0 TO GVPOINT-1 STEP GVSTEPN
GVE!=(GVMIN!+GVSTEP!*1) MOD 20
IF GVE!=0 THEN LOCATE 18+CINT (60/GVPOINT*I), 1 :PRINT GINT (GVMIN!+GVSTEP!*I) ;
NEXT |
GISTEPN=T
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4018
4020
4022
4026
4028
4030
4032
4034
4036

FOR I=1 TO GIPOINT-1 STEP GISTEPN

GINI=CINT ((GIMIN!+GISTEP!*1) /(10"LI)*1000) /1000
GIE!=(GIMIN!+GISTEP!*1)*100 MOD GISTEP!%100%2

IF GIE!=0 THEN LOCATE 20, CINT(1.5+22.5/GIPOINT*I) :PRINT GIN!;

4038 ’

4040
4042
4044
4046
4048
4050
4052
4054

4056

4058
4060
4062
4064
4066
4068
4070
4072
4074
4076
4078
4080
4082
4084
4086
4088
4134
4136

NEXT |
LOCATE 55,0 :PRINT “Vp (V), Ip ( x";10°LI;"uA)”
RETURN
*|DPLYO
FOR 1=1 TO VPOINT
I[F DO! (1)<=V1!-VW1!/2 THEN IVP1=I
I[F DO! (1)<=V1!+VW1!/2 THEN IVP2=1
NEXT |
[F 1VP2-1VP1<2 THEN IVP2=1VP1+2
[VPO=0 :IVPW=0
*|DPLY
[VP1=IVP1+IVPO-IVPW :IVP2=1VP2+|VPO+IVPW
[F 1VP2-1VP1<2 THEN IVP1=I1VPO1 :[VP2=1VP02
[F 1VP1<1 THEN [VP1=1
[F 1VP2>VPOINT THEN [VP2=VPOINT
XX11=DO! (IVP1) :YY1!1=D!(IVP1)

XX21=DO! (IVP2) :YY2!=D! (I1VP2)

V1= (XX21+XX11) /2 :VW11=XX2!-XX1!
AATT=(YY21-YYT1) / (XX21-XX11) :AAI=AA1!
BB11=(XX2!%YYTI-XX11%YY21)/(XX2!-XX1!) :BB!=BB1!
XX1=GVMIN! :GOSUB *COMP4 :Gl11=YY!
XX1=GVMAX! :GOSUB *COMP4 :Gl21=YY!
LINE (GVMIN!, GI11)-(GVMAX!, GI2!),6
CIRCLE (XX1!,YY11),GGV!, 6

CIRCLE (XX2!,YY2!),GGV!, 6

IVPO1=IVP1 :1VP02=1VP2

RETURN

*TDPLYO

4138 °

4140
4142
4144
4146
4148
4150
4152
4154

FOR 1=1 TO VPOINT

[F DO! (1)<=V2!-VW2!/2 THEN TVP1=I
[F DO! (1)<=V21+VW2!/2 THEN TVP2=I
NEXT |

[F TVP2-TVP1<2 THEN TVP2=TVP1+2
TVP0=0 :TVPW=0

*TDPLY

4156 '

4158

TVP1=TVP1+TVPO-TVPW :TVP2=TVP2+TVPO+TVPW
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4160
4162
4164
4166
4167
4168
4170
4172
4174
4176
4178
4180
4182
4184
4186
4188
4234
4236

IF TVP2-TVP1<2 THEN TVP1=TVPO1 :TVP2=TVP02

[F TVP1<1 THEN TVP1=1

[F TVP2>VPOINT THEN TVP2=VPOINT

XX11=DO! (TVP1) :XX2!=DO! (TVP2)

I[F TVS=-1 THEN YY1!=LD1!(TVP1) :YY2!=LD1!(TVP2)
IF TVS=1 THEN YY1!1=LD2! (TVP1) :YY2!=LD2! (TVP2)
V21=(XX21+XXT1) /2 :VW21=XX2!-XX1!
AA21=(YY21-YYT!) / (XX2!-XX11) :AAI=AA2!
BB2!=(XX2!*YY1!-XX1!xYY2!)/(XX2!-XX1!) :BB!=BB2!
XX!1=GVMIN! :GOSUB *COMP4 :GI1!=YY!

XX1=GVMAX! :GOSUB *COMP4 :Gl2!=YY!

LINE (GVMIN!, GI1!)-(GVMAX!, GI21),2

CIRCLE (XXT1!,YYT!), GGV!, 2

CIRCLE (XX2!,YY2!), GGV!, 2

TVPO1=TVP1 :TVP02=TVP2

RETURN

*EDPLYO

4238 ’

4240
4242
4244
4246
4248
4250
4252
4254

FOR 1=1 TO VPOINT

IF DO! (1)<=V3!-VW3!/2 THEN EVP1=I
[F DO! (1)<=V3!+VW3!/2 THEN EVP2=1
NEXT |

IF EVP2-EVP1<2 THEN EVP2=EVP1+2
EVP0O=0 :EVPW=0

*EDPLY

4256 °

4258
4260
4262
4264
4266
4267
4268
4270
4272
4274
4276
4278
4280
4282
4284
4286
4288
4300
4302

EVP1=EVP1+EVPO-EVPW :EVP2=EVP2+EVPO+EVPW

IF EVP2-EVP1<2 THEN EVP1=EVPO1 :EVP2=EVP02

[F EVP1<1 THEN EVP1=1

IF EVP2>VPOINT THEN EVP2=VPOINT

XX11=DO! (EVP1) :XX2!=DO! (EVP2)

IF EVS=-1 THEN YY1!=LD1!(EVP1) :YY2!=LD1! (EVP2)
IF EVS=1 THEN YY1!=LD2! (EVP1) :YY2!=LD2! (EVP2)
V31=(XX21+XX11) /2 :VW3!=XX21-XX1!
AA3T=(YY21-YY11) / (XX21-XX11) :AA1=AA3!
BB3!=(XX2!*YYT!-XX1!xYY21) /(XX2!-XX1!) :BB!=BB3!
XX!1=GVMIN! :GOSUB *COMP4 :GI1!=YY!

XX1=GVMAX! :GOSUB *COMP4 :GI2!=YY!

LINE (GVMIN!, GI1!)-(GVMAX!, GI21),1

CIRCLE (XX1!,YY11), GGV!, 1

CIRCLE (XX2!,YY21),GGV!, 1
EVPO1=EVP1 :EVP0O2=EVP2
RETURN

*PLASMA

4304 °
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4305 |F ABS (AA2!-AA31)<1E-35 THEN PLSM=0 ELSE PLSM=1

4306 |F PLSM<>0 THEN VVP!=(BB2!-BB3!)/(AA31-AA2!)

4308 IF PLSM<>0 THEN 11P!1=(AA3!1%BB2!-AA2!+BB3!)/(AA31-AA2!) :SG=SGN(IIP!)
4310 IF PLSM<>0 THEN 11P!=10" (ABS (I IP1)+LIMID)

4312 |F PLSM<>0 THEN TE!=1/ABS (AA2!) :NE!=EE!xIIP!/DPR!"2/TE!"0.5
4314 LOCATE 0,18 :PRINT “[PLASMA]”

4316 LOCATE 0,19 :PRINT SPAGE$ (20) :LOCATE 0,19

4318 |F PLSM<>0 THEN PRINT “Ip (uA) “;1IP!%SG ELSE PRINT “kkx N G *xx”
4320 LOCATE 0,20 :PRINT SPACE$ (20) :LOCATE 0, 20

4322 |F PLSM<>0 THEN PRINT “Vp (eV) “;VVP! ELSE PRINT “sx*% N G sx*x*”
4324 LOCATE 0,21 :PRINT SPACE$ (20) :LOCATE 0, 21

4326 1F PLSM<>0 THEN PRINT “Te (eV) “;TE! ELSE PRINT "k N G *xx”
4328 LOCATE 0,22 :PRINT SPACE$ (20) :LOCATE 0, 22

4330 IF PLSM<>0 THEN PRINT “Ne (/m3)“;NE! ELSE PRINT "% N G *xx”
4332 LOCATE 0,23 :PRINT SPACES$ (20)

4334 RETURN

4500 °

4502 *SLOG

4504

4506 LIMIN!=1E30

4508 FOR 1=1 TO VPOINT

4510 IF D! (1)<>0 THEN LDO!=LOG (ABS (D! (1)))/L0G (10)

4512 1F DI (1)<>0 AND LIMIN!>LDO! THEN LIMIN!=LDO!

4520 NEXT |

4522 LIMID=INT (LIMIN?) :LIMIN!=1E30 :LIMAX!=-1E30

4524 FOR 1=1 TO VPOINT

4526 IF D! (1)>0 THEN LD1!(1)=LOG(D! (1)) /LOG(10)-LIMID

4528 IF D! (1)=0 THEN LD1!(1)=0

4530 IF D! (1)<0 THEN LD1!(1)=-(LOG(ABS(D! (1)))/LOG (10)-LIMID)

4532 [F LIMIN!>LD1! (1) THEN LIMIN!=LD1!(l)

4534 |F LIMAX!<LD1! (1) THEN LIMAX!=LD1!(l)

4536 AA!=AAT! :BB!=BB1! :XX!=DO!(I) :GOSUB *COMP4 :LDO!'=D! (I1)-YY!
4538 |F LDO!>10"LIMID THEN LD2! (1)=LOG(LDO!)/LOG(10)-LIMID

4540 |F LDO!=>-10"LIMID AND LDO!<=10"LIMID THEN LD2! (1)=0

4542 |F LDO!<-10"LIMID THEN LD2! (I)=-(LOG (ABS(LDO!))/LOG(10)-LIMID)
4544 |F LIMIN!>LD2! (1) THEN LIMIN!=LD2! (1)

4546 |F LIMAX!<LD2! (1) THEN LIMAX!=LD2! (1)

4548 NEXT |

4550 GLIMIN!=INT(LIMINT) :GLIMAX!=INT (L IMAX!)+1

4552 GLIPOINT=INT (GLIMAX!-GLIMIN!) :GLISTEP!=1

4554 RETURN

4560 ’

4562 *LDDPLY

4564 °

4566 SCREEN ,0,0,1 :GOSUB *GNCLS

4570 VIEW (157,37)-(637,397),0,4

4572 WINDOW (GVMIN!, GLIMIN?!) - (GVMAX!', GL IMAX!)

4574 LINE (GVMINT', 0)-(GVMAX!, 0),4 :LINE (O, GLIMIN!)-(0, GLIMAX!), 4
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4576 GGLI!=(GLIMAX!-GLIMIN') /360%2 :GGV!=(GVMAX!-GVMIN!) /480%2

4577 FOR 1=1 TO GVPOINT-1

4578 GVE!=(GVMIN!+GVSTEP!«l) MOD 10

4579 IF GVE!=0 THEN GGLI10!'=GGLI! ELSE GGLI10!=GGLI!/2

4580 LINE (GVMIN!+GVSTEP!«xI, GLIMIN!)-(GVMIN!+GVSTEP!=*I, GLIMIN!+GGLIO!), 4
4582 LINE (GVMIN!+GVSTEP!*I, -GGLI10!) - (GVMIN!+GVSTEP!*I, GGLIO!), 4

4584 LINE (GVMIN!+GVSTEP!x|, GLIMAX!-GGL10!)—-(GVMIN!+GVSTEP!*I, GLIMAX!), 4
4586 NEXT |

4588 FOR 1=1 TO GLIPOINT

4590 |F I<GLIPOINT THEN LINE (GVMIN!, GLIMIN!+GLISTEP!*I)-(GVMIN!+GGV!, GLIMIN!+GLISTEP!xI), 4
4592 |F I<GLIPOINT THEN LINE (-GGV!, GLIMIN!+GLISTEP!*I)-(GGV!, GLIMIN!+GLISTEP!*1), 4
4594 |F I<GLIPOINT THEN LINE (GVMAX!'-GGV!, GLIMIN!+GLISTEP!*1)-(GVMAX!, GLIMIN!+GLISTEP!xI), 4
4596 GLIN=CINT (GLIMIN!+1)

4598 FOR J=2 T0 9

4600 IF GLIN>0O THEN GLL!=GLIMIN!+GLISTEP!*(1-1)+L0G (J)/LOG (10)

4602 IF GLIN<=0 THEN GLL!=GLIMIN!+GLISTEP!*1-L0G (J)/LOG (10)

4604 LINE (GVMIN!, GLL!)-(GVMIN!+GGV!/2,GLL!), 4

4606 LINE (-GGV!/2,GLL!)-(GGV!/2,GLL!),4

4608 LINE (GVMAX'-GGV!/2, GLL!)-(GVMAX!, GLL!),4

4610 NEXT J :NEXT |

4612 FOR 1=1 TO VPOINT

4614 PSET(DO! (1), LD (1)) :PSET(DO!(I),LD2! (1)), 6

4616 NEXT |

4618 LINE (DO! (SPP), GLIMIN!)-(DO! (SPP), GLIMAX!),5

4620 GVSTEPN=T

4622 FOR 1=0 TO GVPOINT-1 STEP GVSTEPN

4624 GVE!=(GVMIN!+GVSTEP!«l) MOD 20

4626 IF GVE!=0 THEN LOCATE 18+CINT (60/GVPOINT*1), 1 :PRINT CINT (GVMIN!+GVSTEP!*I) ;
4628 NEXT |

4630 FOR 1=1 TO GLIPOINT-1

4632 GLIN=CINT (GLIMIN!+1)

4634 IF GLIN<=0 THEN GIN!=-10" (LIMID-GLIN)

4636 IF GLIN>0O THEN GIN!=10" (LIMID+GLIN)

4638 LOCATE 20, GINT (1.5+22.5/GLIPOINT=*I) :PRINT GIN!;

4640 NEXT |

4642 LOCATE 60,0 :PRINT “Vp (V), Ip (uA)”

4644 RETURN

4700 °

4710 *GNCLS

4712

4714 LOCATE 55,0 :PRINT SPACES$ (24)

4716 LOCATE 18,1 :PRINT SPACES$ (60)

4718 FOR 1=2 TO 23 :LOCATE 20, | :PRINT SPACE$ (8); :NEXT I

4720 LOCATE 54,0 :PRINT SPACE$ (25)

4722 RETURN

4800 °

4802 *DATANM

4804 °
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4806 IF M<MO THEN M=MN :L=L-DL

4808 IF M>MN THEN M=MO :L=L+DL

4810 LOCATE 0,0 :PRINT SPACE$ (49) :LOCATE 32,0

4812 SF2$=RIGHT$ (STR$ (L), 3)

4814 PRINT “DATA: “;SF1$:SF2$.” #”:M :COLOR@ (32,0)-(49,0),6

4816 RETURN

4818 ’

4820 *DSAVE

4822 °

4824 LOCATE 0,0 :PRINT SPACE$ (32) :LOCATE 0,0

4826 SFA$=SF1$+SF2$+EX$ :SF0$=""

4828 PRINT “D-NAME: “;SFA$ :COLOR@ (0,0)-(31,0),5

4830 |IF S=0 THEN LOGATE 8,0 :INPUT “”, SFO$

4832 IF S=0 AND SF0$<>”” THEN SFA$=SF0$

4834 |F S=0 AND (SF0$="n" OR SFO$="N") THEN LOCATE 0,0 :PRINT SPAGE$ (32)
4836 IF S=0 AND (SF0$="n" OR SFO$="N") THEN RETURN

4838 SFA$=DIR$+SFAS

4840 OPEN SFA$ FOR OUTPUT AS #t1

4842 PRINT #1, “# Vp(eV)=";VVP!

4844 PRINT #1, “# Te(eV)=",TE!

4846 PRINT #1, “# Ne(/m3)=";NE!

4848 FOR I=1 TO VPOINT

4850 PRINT #1, STR$(DO! (1)) ;TAB(8);STR$ D! (1));

4852 PRINT #1, TAB(20);STR$(DD! (1)) :NEXT I

4854 CLOSE #1

4856 LOCATE 0,0 :PRINT SPACE$ (32)

4858 RETURN

4870 °

4875 *FAQ

4880 ’

4885 LOCATE 0,1 :PRINT SPACE$ (17) :LOCATE 0,1

4890 IF AT=0 THEN PRINT “SELECT[0/2/4/6/8]" :GCOLOR@ (0,1)-(17,1),4

4900 LOCATE 0,2 :PRINT SPACE$ (20) :LOGATE 0, 2

4910 I|F AT=0 THEN PRINT “[*/i/t/e/m/s/y/n]” :COLOR@ (0,2)-(17,2),4

4920 |F AT=0 AND A$<>”«*” THEN A$="" :WHILE A$="" :A$=INKEY$ :WEND

4925 |F AT=1 THEN LOCATE 0,1 :PRINT SPACE$ (17) :LOGATE 0,1

4930 IF AT=1 THEN PRINT “-—- FULL AUTO ---" :GOLOR@ (0, 1)-(17,1),2

4935 |F AT=1 THEN LOGATE 0,2 :PRINT SPACE$ (20)

4940 IF AT=1 THEN A$="%"

4945 S=0 :R=0 "Input file-name when S=0
4950 IF (A$="2" OR A$="8") THEN M=MO "CLEAR SCREEN when SC=1
4955 |F (A$="2" OR A$="8") AND SC=1 THEN SC=0 :SCREEN ,2,, :GOSUB *GNCLS
4960 IF A$="2" THEN L=L-DL

4970 IF A$="4" THEN M=M-DM

4980 IF A$="6" THEN M=M+DM

4990 IF A$="8" THEN L=L+DL

5000 GOSUB *DATANM

5010 IF (A$="0" OR A$="x") AND L<OLL AND M=MO THEN ZZ=L-1000 :GOSUB *PAUSET
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5012
5014
5016
5018
5020
5022
5024
5026
5030
5032
5034
5036
5038
5042
5044
5046
5048
5050
5052
5054
5056
5058
5060
5070

5080 °

5090
5100
5110
5120
5130
5140
5150
5155
5160

IF (A$="0" OR A$="+") AND M=MO THEN GOSUB *MEAS :GOSUB *DIFF
IF (A$="0" OR A$="+") AND M=MO THEN GOSUB *DDPLY
IF (A$="0" OR A$="x") AND M=MO+DM+1 THEN GOSUB *DDPLY :GOSUB *IDPLYO
I[F (A$="0" OR A$="%") AND M=MO+DM+2 THEN GOSUB *SLOG :GOSUB *LDDPLY
IF (A$="0" OR A$="%") AND M=MO+DM+3 THEN GOSUB *LDDPLY
IF (A$="0" OR A$="x") AND M=MO+DM«3 THEN GOSUB *TDPLYO :GOSUB *EDPLYO
[F A$="+" THEN S=1
IF (A$="0" OR A$="%") AND M=MN THEN GOSUB *PLASMA
IF (A$="0" OR A$="+") AND M=MN AND PLSM<>0 THEN GOSUB *DSAVE
IF (A$="0" OR A$="%") THEN LL=L :SC=1
IF (A$="i" OR A$="1") AND M=MO+DMx«1 THEN GOSUB *SETCON3
IF (A$="t” OR A$="T") AND M=MO+DM+3 THEN GOSUB *SETCON4
IF (A$="e” OR A$="E”) AND M=MO+DM+3 THEN GOSUB *SETCON5
IF A$="m” OR A$="M" THEN GOSUB *SETCONT
IF A$="s” OR A$="S” THEN GOSUB *SETCON2
IF A$="y” OR A$="Y” OR A$=CHR$ (&HOD) THEN R=0 :SCREEN , 2,
IF A$="y” OR A$="Y" OR A$=CHR$ (&HOD) THEN GOSUB *GNCLS
[F A$="n" OR A$="N" THEN R=1
[F AT=0 AND M=MN THEN A$=""
[F AT=1 AND M=MN AND PLSM=0 THEN L=L-DL :PLSM=1
IF A$="x" THEN M=M+DM
RETURN
*ERRORS
LOCATE 0,0 :PRINT SPACE$ (80) :LOCATE 0,0

PRINT ERR;”“ERROR !”

IF ERR=53 THEN PRINT “Read file not found !”
IF ERR=64 THEN PRINT “Disk broken !”

IF ERR=68 THEN PRINT “Save disk full !~

IF ERR=69 THEN PRINT “Read disk bad !”

IF ERR=76 THEN PRINT “Not exist the directory !”

COLOR@ (0,0)-(79,0),2
GOSUB *ALERT :RESUME *QUIT

5170 °

5180

*ALERT

5190 °

5200
5210
5220
5230
5240

LOCATE 0,1 :PRINT SPACE$ (32) :LOCATE 0,1
PRINT “PRESS KEY !!” :COLOR@ (0, 1)-(31,1),2
BEEP 1 :A$=""

WHILE A$="" :A$=INKEY$ :WEND :BEEP 0

RETURN

5250 ’

5260

*PAUSE1

5270 °

5280
5290
5295

WHILE L-1000<>ZZZ%
GOSUB *MON
IF L-1000=ZZZ% THEN FOR J=0 TO CINT(256/AVN)
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5300 WEND

5310 RETURN

5320

5330 *PAUSE2

5340 '

5350 LOCATE 0,0 :PRINT SPACE$ (32) :LOCATE 0,0

5360 PRINT “NOW PAUSING ! PRESS N OR A !” :COLOR@ (0,0)-(31,0),2 :BEEP
5370 C$="" :WHILE C$="" :C$=INKEY$ :WEND

5380 IF G$="n" OR C$="N" THEN AT=0

5390 IF C$="a” OR C$="A" THEN AT=1

5400 LOCATE 0,0 :PRINT SPACES$ (32)

5410 RETURN

5420’

5430 *SETCON1

5440 °

5450 LOCATE 0,1 :PRINT SPACE$ (17) :LOCATE 0,1
5460 PRINT “SELECT (m)”“ :COLOR@ (0,1)-(10,1),4
5470 LOCATE 0,2 :PRINT SPACE$ (20) :LOCATE 0,2
5480 PRINT “[0/4/5/6/%]” :COLOR@ (0, 2)-(20,2),
5490 M1=0 :WHILE M1=0 :GOSUB *MON :WEND

5500 RETURN

5510’

5520 *SETCON2

5530 '

5540 LOCATE 0,1 :PRINT SPACE$ (17) :LOCATE 0,1
5550 PRINT “SELECT(s)” :COLOR@ (0,1)-(10,1),4
5560 LOCATE 0,2 :PRINT SPACE$ (20) :LOCATE 0,2
5570 PRINT “[0/d/o/a/w/r/v]” :GOLOR@ (0, 2)-(20,2),4
5580 B$="" :WHILE B$="" :B$=INKEY$ :WEND

5590 ' IF B$="0" THEN GOSUB *ZERO

4

5600 IF B$="d” OR B$="D" THEN LOCATE 10,11 :INPUT “”, DPR!
5610 IF B$="d” OR B$="D" THEN LOCATE 9, 11 :PRINT SPACE$ (10)
5620 IF B$="d” OR B$="D" THEN LOCATE 9,11 :PRINT DPR!

5630 IF B$="0" OR B$="0" THEN LOCATE 10,12 :INPUT “”, OPR!
5640 |IF B$="0" OR B$="0" THEN LOCATE 9,12 :PRINT SPACES$ (10)
5650 IF B$="0" OR B$="0" THEN LOCATE 9,12 :PRINT OPR!

5660 IF B$="a” OR B$="A" THEN LOCATE 10,13 :INPUT “”, AG!
5670 IF B$="a” OR B$="A" THEN LOCATE 9, 13 :PRINT SPACE$ (10)
5680 IF B$="a” OR B$="A" THEN LOCATE 9, 13 :PRINT AG!

5690 IF B$="w” OR B$="W" THEN LOCATE 10, 14 :INPUT “” WT
5700 IF B$="w” OR B$="W" THEN LOCATE 9, 14 :PRINT SPACE$ (10)
5710 IF B$="w” OR B$="W" THEN LOCATE 9, 14 :PRINT WT

5720 IF B$="w” OR B$="W" THEN WT1!=WT :WT2!=WT :WT3!=WT
5730 IF B$="r” OR B$="R” THEN LOCATE 10,15 :INPUT ““ RN
5740 IF B$="r” OR B$="R” THEN LOCATE 9, 15 :PRINT SPACE$ (10)
5750 IF B$="r" OR B$="R” THEN LOCATE 9,15 :PRINT RN

5760 IF B$="v” OR B$="V” THEN LOCATE 10,16 :INPUT “”, DV!
5770 IF B$="v” OR B$="V” THEN LOCATE 9,16 :PRINT SPACE$ (10)
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5780
5790
5800
5810

IF B$="v” OR B$="V” THEN LOCATE 9,16 :PRINT DV!
RETURN

*SETCON3

5812 °

5814
5816
5818
5820
5822
5824
5826
5828
5830
5832
5834
5836
5838
5840
5842
5844
5846

LOCATE 0,1 :PRINT SPACE$ (17) :LOCATE
PRINT “SELECT (i)” :COLOR@ (0, 1)-(10,1
LOCATE 0,2 :PRINT SPACE$ (20) :LOCATE
PRINT “[2/4/6/8]1" :GOLOR@ (0, 2)-(20, 2
B$="" :M1=0 :WHILE M1=0

BS=INKEY$ :I1VP0O=0 :1VPW=0

IF B$="2" THEN IVPW=-1

IF B$="4" THEN IVPO=-1

IF B$="6" THEN IVPO=1

IF B$="8" THEN IVPW=1

IF B$="2" OR B$="4" OR B$="6" OR B$="8" THEN GOSUB =DDPLY
IF B$="2" OR B$="4" OR B$="6" OR B$="8" THEN GOSUB =IDPLY
IF B$=CHR$ (&HOD) THEN M1=1

B$="" :WEND

RETURN

~ o -~ o

1
A4
, 2
4

*SETCON4

5848 °

5850
5852
5854
5856
5858
5860
5862
5864
5866
5868
5870
5871
5872
5874
5875
5876
5878
5880
5882
5884

LOCATE 0,1 :PRINT SPACE$ (17) :LOCATE 0,1
PRINT “SELECT (t)” :COLOR@ (0,1)-(10,1),4
LOCATE 0,2 :PRINT SPACE$ (20) :LOCATE 0,2
PRINT “[0/2/4/6/8/+]" :COLOR@ (0, 2)-(20,2),4
B§="" :M1=0 :WHILE M1=0

B$=INKEY$ :TVPO=0 :TVPW=0

IF B$="0" THEN TVS=-TVS

IF B$="2" THEN TVPW=-1

IF B$="4" THEN TVPO=-1

IF B$="6" THEN TVPO=1

IF B$="8" THEN TVPW=1

IF B$="+" THEN GOSUB *PLASMA

IF B$="0"
IF B$="0"
IF B$="0"

OR B$="2" OR B$="4" OR B$="6" OR B$="8" THEN GOSUB *LDDPLY
OR B$="2" OR B$="4" OR B$="6" OR B$="8" THEN GOSUB =*TDPLY
OR B$="2" OR B$="4" OR B$="6" OR B$="8" THEN GOSUB *EDPLY

IF B$=CHR$ (&HOD) THEN M1=1
B$="" :WEND

RETURN

*SETCONS

5886 °

5888
5890
5892
5894

LOCATE 0, 1

‘PRINT SPACE$ (17) :LOCATE 0,1

PRINT “SELECT (e)” :COLOR@ (0, 1)-(10,1),4
LOCATE 0,2 :PRINT SPACE$ (20) :LOCATE 0,2
PRINT “[0/2/4/6/8/+1" :COLOR@ (0,2)-(20,2), 4
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5896
5898
5900
5902
5904
5906
5908
5909
5910
5912
5913
5914
5916
5918
7000
7010

B$="" :M1=0 :WHILE M1=0

B$=INKEY$ :EVPO=0 :EVPW=0

IF B$="0" THEN EVS=-EVS

IF B$="2" THEN EVPW=-1

IF B$="4" THEN EVPO=-1

IF B$="6" THEN EVPO=1

IF B$="8" THEN EVPW=1

IF B$="+" THEN GOSUB *PLASMA

IF B$="0" OR B$="2" OR B$="4" OR B$="6" OR B$="8" THEN GOSUB *LDDPLY
IF B$="0" OR B$="2" OR B$="4" OR B$="6" OR B$="8" THEN GOSUB *TDPLY
IF B$="0" OR B$="2" OR B$="4" OR B$="6" OR B$="8" THEN GOSUB *EDPLY
IF B$=CHR$ (HOD) THEN M1=1

B$=""" :WEND

RETURN

*MONO

7020 °

7050
7060
7070
7080
7090
7100
71140
7150
7160
1170
7180
7190
1200
1210

AVN=6 "IN%: Average num

ZZ=-1 :PPP41=0 :PPP5!=0 "PPP4/5: Ex-counts on Z0#
SS=0 :SSS=0 :M1=0 :M2=0 :ZPP=0 :ZPPS=0 :Z0#=0 :KS=0

PA3=0 :PA4=0 :PA5=0 :PB3=0 :PB4=0 :PB5=0 :PPA4!=0 :PPA5!=0

OUT &HDO, 0

Z20#=L70%375/2 :ZPP=CINT (LZ0)
LOCATE 0,4 :PRINT “[MONITOR]”
LOCATE 0,5 :PRINT “Id(mA) ~
LOCATE 0,6 :PRINT “P(Torr)”

7220 °

1224
1226
7230
1235
1240
1250
1260
1265
1270
7280
7285
1290
1300
1305
1310
1320

LOCATE 0,7 :PRINT “Counter”
LOCATE 0,8 :PRINT “Z(pt)
*MON
CH1=2 :CH2=3 :CH3=4 :CH4=5 :CH5=6 "Channel numbers of A/D
CHS1=2"5 :CHS2=2"6
DH11=0 :DL1!=0 :DH2'!'=0 :DL2!=0 :DH3!=0 :DL3!'=0
DH41=0 :DL4!=0 :DH5!=0 :DL5!=0
FOR 1=1 TO AVN
OUT &HDO, CH1+SS :0UT &HD2,0 :0UT &H5F, 0 :0UT &HS5F, 0 :0UT &H5F, 0

OUT &HD2,0 :0UT &H5F,0 :0UT &H5F,0 :0UT &H5F, 0 :0UT &H5F, 0
DH1!=INP (&HD4) +DH1! :DL1!=INP (&HD6)+DL1!

OUT &HDO, CH2+SS :0UT &HD2,0 :0UT &H5F, 0 :OUT &HS5F, 0 :OUT &H5F, 0
OUT &HD2,0 :0UT &H5F,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0
DH2!=INP (&HD4) +DH2! :DL2!=INP (&HD6) +DL2!

OUT &HDO, CH3+SS :0UT &HD2,0 :OUT &H5F, 0 :OUT &HS5F, 0 :OUT &HS5F, 0
OUT &HD2,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0
DH3!=1INP (&HD4) +DH3! :DL3!=INP (&HD6) +DL3!

OUT &HDO, CH4+SS :0UT &HD2,0 :0UT &H5F, 0 :OUT &HSF, 0 :OUT &H5F, 0
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1325
7330
7340
1345
1350
1360
1380
7390
7400
7410
1420
1430
1440
1450
1460
1470
7480
7500
7510
1520
1530
1540
1550
1560
1570
7590
7600
1610
1612
1614
1616
1618
1620
1625
7630
1635
1640
1650
1660
1670
7680
7690
7700
1710
1720
1730
1740
1750

OUT &HD2,0 :0UT &H5F, 0 :0UT &HSF, 0 :OUT &H5F, 0 :0UT &H5F, 0
DH4!=INP (&HD4) +DH4! :DL4!=INP (&HD6) +DL4!

OUT &HDO, CH5+SS :0UT &HD2,0 :0UT &H5F, 0 :0UT &HS5F, 0 :0UT &H5F, 0
OUT &HD2,0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0 :0UT &H5F, 0
DH5!=INP (&HD4) +DH5! :DL5!=INP (&HD6) +DL5!

GOSUB *MOVET1

NEXT |

P11=(256%DH11+DL1!) /AVN :P21=(256*DH2!+DL2!) /AVN
P31=(256%DH31+DL3!) /AVN :P41=(256%DH4!+DL4!) /AVN
P51=(256«DH51+DL5!) /AVN

GOSUB *COUNT

GOSUB *MOVET

X1=(P11-2048) 0. 0025*10 " AMP=100

Y!1=(P21-2048) *0. 00252 "GI_REC=1/2
Z1=70#%4/225 :ZP!=70%#%2/375 "Zuni: mm / ZP uni: pt
277=CINT (ZP!-0. 5%ZPPS)

IF ZZ<>-1 THEN GOSUB *MQOVE2

GOSUB *MOVET

LOCATE 9,5 :PRINT SPACE$ (10) :LOCATE 9,5 :PRINT CINT (X!%10)/10
LOCATE 9,6 :PRINT SPACE$ (10) :LOCATE 9,6 :PRINT CINT(Y!%100)/100
LOCATE 9,7 :PRINT SPACE$ (10) :LOCATE 9,7 :PRINT Z0#

LOCATE 9,8 :PRINT SPACE$ (10) :LOCATE 9,8 :PRINT GINT (ZP!*10) /10
IF Z1<-0.5 AND ZPPS=-1 THEN SS=0 :SSS=0 :ZPPS=0 :ZZ=-1 :M2=0

IF Z1>450.5 AND ZPPS=1 THEN SS=0 :SSS=0 :ZPPS=0 :ZZ=-1 :M2=0
RETURN

*MOVET

K$="" :K$=INKEY$

IF K$="0" THEN LOCATE 10,8 :PRINT SPACES$ (10)

IF K$="0" THEN LOCATE 10,8 :INPUT “”, ZP "INP Z[pt]

IF K§="0" THEN ZO#=ZP%375/2 :ZPP%=CINT (ZP)

IF K$="0" THEN SS=0 :SSS=0 :ZPPS=0 :77=-1 "RESET

IF K$="5" THEN SS=0 :SSS=0

IF K$§="5" THEN ZPP=ZZZ :ZPPS=0 :ZZ=-1 :M2=0 "KEY5 & S* OFF
IF K$="6" THEN SS=CHS1 :ZPPS=1 :7ZZ=-1 "KEY6 & S* ON
IF K$="4" THEN SS=CHS2 :ZPPS=-1 :7Z=-1 "KEY4 & S* ON
IF K$="*" THEN SS=0 :SSS=0 :ZPPS=0 :M2=0 :KS=1

OUT &HDO, SS

IF K$="*" THEN LOCATE 10,1 :PRINT SPACES$ (5)

IF K$="*" THEN LOCATE 10,1 :INPUT “”, ZZ "INPT Z[pt]
IF K$=CHR$ (&HOD) THEN M1=1

RETURN

*MOVE2

IF ZP1<ZZ AND M2=0 THEN SS=CHS1 :ZPPS=1 :M2=1 "S* ON

IF ZP1>ZZ AND M2=0 THEN SS=CHS2 :ZPPS=-1 :M2=1 "S* ON

IF ZP1=ZZ AND M2=0 THEN SS=0 :ZPPS=0 :M2=1
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7760
7780
7790
1800
1810
1820
1830
7840
7850
7860
1870
1880
7890
7900
7910
7920

#Ini
#
DVR,
DPR
ouT-
AMP-
WT-T
RPT-
V-ST
Vi,
V2,
V3,
VW,
SAVE

Z77=CINT (ZP!-0. 5%ZPPS)

IF ZZ7=77 AND M2=1 THEN SS=0 :SSS=0 "S* OFF
IF ZZ7=77 AND M2=1 THEN ZPP=ZZ7 :ZPPS=0 :Z7=-1 :M2=0

OUT &HDO, SS

RETURN

*COUNT

IF P31>3072 THEN PA3=1 ELSE PA3=0

IF P41>3072 THEN PA4=1 :PP4=1 ELSE PA4=0 :PP4=0
IF P51>3072 THEN PA5=1 :PP5=1 ELSE PA5=0 :PP5=0
IF PA3-PB3=-1 THEN PP3=1 ELSE PP3=0

IF PA4-PB4=-1 THEN PPA4!=PPP4! ELSE PPA4!=0

IF PA5-PB5=-1 THEN PPA5!=PPP5! ELSE PPA5!=0
Z0#=204+PP3* (PP4-PP5) +PPA41-PPA5!

PB3=PA3 :PB4=PA4 :PB5=PAb

RETURN

tial File for LAN. EXE

4.85

2.5
R, 50
G, 300
IME, 10
NMB, 1
EP, 0.2

1

5

9

2

-DIR, B:¥CALM2¥

/% d2U. C kkkkskskokkskekskokokkkekskokkkokskokskkkokkokokkkokskskskskkkokokkkkskokokkkkkokkkkkk Since Jul 2002 x/

VE:
/%
VE:
VE:
/%
/%
/%
/%
/%
VE:

Change DOS to Unix format of text files

Programed by TAKEDA Tsuyoshi

d2u [file-name]

e.g.) d2u 00000000. dat

NOTICE! Not available for changing KANJl-codes.

*/
*/
*/
*/
*/
*/
*/
*/
*/
*/

/Hkkskskkskskskkskokkkokskkokkkskokkkokskkskk sk kkskokokskkokokkskokkkokkokokkkk  Last Modified in Jul 2002 x/
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#include <stdio.h>
#include <stdlib.h>
#include <string.h>

int rwfile(char [1);

int main(int argc, char *argv[]) {

int i;

if (arge < 2){
printf ("¥nlnput file-name !¥n");
printf ("d2u [file-name]¥n¥n”);
return -1;

}

for (i=1; i<arge; i++) {
if(rwfile(argv[i])!=0)
printf (“%s not found !'¥n”, argv[il);

return 0;

}

int rwfile(char *name) {

int i, n;
char word[10000][512];
FILE *f;

if ((f=fopen(name, “r”)) == NULL)
return -1;

for (i=0; i<10000; i++) {
if (feof (f)) {

n=i, break;

}
fgets (word[i], sizeof word[0], f);
n=strlen(word[i]);
word[i][n-2]="¥n";
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word[i][n-1]1="¥0";

}
fclose () ;

f=fopen (name,

for (i=0; i<=n;

WY

i ++)

fputs (word[i], f);

fclose (f) ;

return 0;

/% 1z23d. ¢ kkksksrokkkekskokokkkokskokkkokskskskokskokskokskkkokskskskskkskskskkkkskokskkkkkkkkkkk Since Jul 2002 x/

/%
/%
/%
/%
VE:
VE:
VE:
/%
/%
/%
/%
VE:
VE:
/%
/%
/%
/%
/%
/%
VE:
VE:
VE:
VE:
/%
/%
/%

Wave data to 3D in time and space

Programed by TAKEDA Tsuyoshi

tz3d [switch] [file_tailll ([file_tail2])

switch: -c$ Column number § red in files (default, § = 1)
-f$ First number $§ of the head of file-name
(default, $ = 0).
-s$ Step number § of the head of file-name
(default, $ = 1).
-e$ End number $§ of the head of file-name
(default, until final existant number).
-0 Offset value $§ of red column (-c$)
($:integer, default:$ = 0).
file_taill/2: Tail which of file-name is common with each file

e.g.) tz3d -f000 -o-512 0000.890 0020.890

NOTICE!

Only available for average data and no using wild-card.
Data not modified by range and offset.

Max. limited points 1024
Max. limited files 256

*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/

/Fskskkskkskskokkkkskskokkkkskokokkkkskokkskkskokskkskkkokskkkkskskskkkskokokkkkkk  Last Modified in Oct 2002 %/
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#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <math. h>

struct inidata {

int ac, cm, ft, sp, ed, os, sg, t, z;
char av[8][128], ftail[4][128];

int initial (struct inidata *);
int readfile(struct inidata *, int [][256],
int writefile(struct inidata *, int [][256],

int main(int argc, char =*argv[]) {

int i, j, ks
int rd1[1024][256], rd2[1024][256];

struct inidata id;

id.ac = argc;
for(i = 0; i < argc; i++)
strepy (id.av[i], argv[il):
id.cm=1; id.ft =0; id.sp=1; id. ed
id.os =0; id.sg=1; id.t=1024; id.z

I
©

256;

if(initial (&id) 1= 0)
return -1;
/%
printf(“ac=%d cm=%d ft=%d sp=%d ed=%d sg=%d¥n”,
id.ac, id.cm, id.ft, id.sp, id.ed, id.sg);

int
int

[1[256]);
[1[256]);

printf ("ftail1=Ys¥tftail2=%s¥n”, id. ftail[1], id. ftail[2]);

*/

if(readfile(&id, rdl, rd2) !=0)
return -1;

/%

printf ("z=%d¥tt=%d¥n", id. t, id. z);

*/

writefile(&id, rdl, rd2);
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return 0;

int initial (struct inidata x*d) {

j=1, m=0; n=0; sl =1, s2=1;

for(i =1; i < in; i++){

if(d->av[il[0] =="-"){
switch (d->av[il[1]) {
case ‘¢ :

strepy (d->av[i], d->av[il+2);
d->cm = atoi (d->av[il);
break;
case 'f':
strepy (d->av[i], d->av[i]l+2);
d->ft = atoi (d->av[il);
s1 = strlen(d->av[il);
break;
case 's’:
strepy (d->av[i], d->av[il+2);
d->sp = atoi (d—>avl[il);
break;
case ‘e’ :
strepy (d->av[i], d->av[i]l+2);
d->ed = atoi(d->av[il);
s2 = strlen(d->av[il);
m =1, break;
case '0’:
strepy (d->av[i], d->av[il+2);
d->os = atoi (d->av[il]);
break;
default:
printf ("¥n”);
printf(“tz3d [switch] [file_taill]l ([file_tail2])¥n”);
printf (“switch: -c$ Column number § red in files (default, $ = 1).¥n");
printf (” -f$ First number $§ of the head of file-name¥n”);
printf (” (default, $ = 0). ¥n");
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printf (" -s$ Step number $ of the head of file-name¥n”);

printf (" (default, $ =1). ¥n");

printf (" -e$ End number § of the head of file-name¥n”);

printf (” (default, until final existant number). ¥n“);

printf (” -0$ Offset value § of red column (-c$)¥n”);

printf (” ($:integer, default:$ = 0).¥n");

printf ("file_taill/2: Tail which of data-file-name is common with each file.¥n");
printf ("¥n”);

printf (“e.g.) tz3d -f000 -0-512 0000.890 0020.890¥n");

printf ("¥n¥n”) ;

printf ("NOTICE! Only available for average data and no using wild-card. ¥n") ;
printf (” Data not modified by range. ¥n”);
printf ("¥n”);
printf (" Max. limited points 1024¥n”);
printf (" Max. limited files 256¥n”) ;
printf ("¥n”);
n=1,;
}
}
elsel
if(i>2){
printf ("¥nFile-name too many !¥n¥n”);
n=-1, break;
}
d->ftail[2][0] = "¥0';
strepy (d->ftail[j], d->av[il);

JH+;

}

if(j == 1 8% n==0){
printf ("¥nFile-name not appointed !¥n¥n”);
n=-1,;
}
if(sl <= s2)
d->sg =s2;
else
d->sg =sl;
ifm==10){
d->ed = (int)pow(10,d->sg)-1;
if(d->sp < 0)
d->ed = 0;

return n;
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int readfile(struct inidata *d, int dd1[]1[256], int dd2[][256]) {

int i, Jj, k., m n, i0, in, di, kn, sn;

long int fp;

char namel1[128], name2[128], fname[128], word[128];
FILE x*f;

n=0; m= (int)pow(10,d->sg);
i0 = d->ft; di = d->sp; in = d->ed; kn = d->cm;
sn = 1;
if(d->sp < 0)
sn = -1,
strcpy (name2, d->ftail[1]);

for(i = i0; i*sn <= in*sn; i += di){

sprintf (namel, “%d”, m+i);
strcpy (fname, namel+1);
strcat (fname, name2) ;

if ((f=fopen(fname, “r”)) == NULL) {
if(i ==1i0){
printf ("¥n%s not found !¥n¥n”, fname);
n=-1;
}
break;
}
elsef
for(j =0; j < 128; j++){
fp = ftell (f);
fgets (word, 128, f);
if(word[0] !="#")
break;
}
fseek (f, fp, SEEK_SET);
for(j =0; j < 1024; j++) {
for(k = 1; k <= kn; k++)
fscanf (f, "%d”, &dd1[j1[i]);
fgets (word, 128, f);
if (feof (f))
break;
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}

fclose () ;

if(d->t > j)
d->t = j;

}
if(d->z > i)
d->z = i;

strcpy (name2, d->ftail[2]);
if(name2[0] != "¥0') {
for (i = i0; i*sn <= inxsn; i += di) {

sprintf (namel, “%d”, m+i);
strcpy (fname, namel+1);
strcat (fname, name2) ;

if ((f=fopen (fname, “r”)) == NULL) {
if(i ==1i0){
printf ("¥n%s not found !¥n¥n”,
n=-1;
}
break;
}
elsef
for(j =0; j < 128; j++) {
fp = ftell (f);
fgets (word, 128, f);
if(word[0] 1= "#")
break;
}
fseek (f, fp, SEEK_SET);
for(j =0; j < 1024; j++) {
for(k = 1; k <= kn; k++)
fscanf (f, "%d”, &dd2[j1[i]);
fgets (word, 128, f);
if (feof (f))
break;
}
fclose (f) ;
if(d->t > j)
d->t = j;

}
if(d->z > i)
d->z = i;

fname) ;
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return n;

int writefile(struct

int ¢, dd0, i, in, ],
char name[8], namel[128]
FILE xf;
¢ = d->cm; dd0 = d->os;
j0 = d->ft; dj = d->sp;
sn = 1;
if(d->sp < 0)

sn = -1;

sprintf (name,
strcpy (namel,
strcpy (name2,
strcpy (fname,
i f (name2[0]

“ o%d”. o)

d->ftail[1]);
d->ftail[2]);

namel) ;

= "¥0") {

strcat (fname, “.7);

strcat (fname,

}
strcat (fname,
strcat (fname,

f=fopen (fname,

fprintf(f, “#t z %s[%d]”,
if(name2[0] != "¥0')
fprintf (f, ”
fprintf (f, “¥n”),;
for(i =0; i < in; i++){
fprintf (f, “¥n”);
for(j = jO;
fprintf (f, “%d¥t%d¥t%d”,
if(name2[0] != "¥0")
fprintf (f, “¥t%d”,

name2) ;

name) ;
”.tz3d”);

W)

inidata

*d, int dd1[][256], int

j0, jn, dj, sn;

name2[128], fname[128];

1
T
%
N

namel, ¢);

%s[%d]-%s [%d]”, namel, ¢, name2, ¢);

jxsn < jnkxsn; j += dj){

i, J, dd1[i][j]+dd0) ;

dd1[il1[j]l-dd2[i]1[j]);
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fprintf (f, “¥n”);
1

}

fclose (f) ;

return 0;

/% zv3d. ¢ wkkkkrkckkskokkokkckokkokkokkckokkokkokskkokkokkckkkokkokkckkkkdkckkkokkkkckkkk Since Aug 2002 x/

VE:
/%
/%
/%
/%
/%
VE:
VE:
VE:
/%
/%
/%
/%
VE:
VE:
/%
/%
/%
/%
/%
/%
VE:
VE:
VE:
VE:
/%
/%
/%
/%
VE:
VE:
VE:

Wave data to 3D in space and potential
Programed by TAKEDA Tsuyoshi

tz3d [switch] [file_tail]
switch: -c$ Golumn number § red in files (default, § = 1)
—-fh$ First number $§ of the head of file-name
(default, $ = 0).
-sh$ Step number § of the head of file-name
(default, $ = 1)
-eh$ End number $ of the head of file—name
(default, to no existant number).
—fc$ First number $§ of the chest of file-name
(default, $§ = 0).
-sc$ Step number § of the chest of file-name
(default, $ = 1)

-ec$ End number $ of the chest of file-name
(default, until final existant number).
-0$ Offset value § of red column (-c$)
(§:integer, default:§ = 0).
file_tail: Tail which of file-name is common with each file

e.g.) zv3dd -fh000 -fc000 -sc2 -0-512 0.890

NOTICE! Only available for average data and no using wild-card.
Data not modified by range and offset.

Max. limited points 1024
Max. limited files 256%128
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/Fskskskskekskskokskskokskskokkskkskokskkkkskskskskokkskskskskkskskskskkkskokskskkkokokkkkkk  Last Modified in Oct 2002 %/

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <math.h>

struct inidata {
int ac, cm, t, z, v, os;

int fth, sph, edh, sgh, ftc, spc, edc, sgc;
char av[8][128], ftail[128];

int initial (struct inidata x);
int readfile(struct inidata *, int [][256][128]);
int writefile(struct inidata *, int [][256][128]);

int main(int argc, char *argv[]){

int i, j, k;
static int rd[1024]1[256][128];

struct inidata id;

id.ac = argc;
for (i 0; i < argc; i++)
strepy (id.av[il, argv[il):
id.cm =1, id.t = 1024; id.z = 256; id.v =128; id.os = 0;
id. fth = 0; id.sph =1; id.edh =9; id.sgh=1;
id. ftc = 0; id.spc =1; id.edc =9; id.sgc =1,

if(initial (&id) != 0)
return -1;
/%
printf (“ac=%d cm=%d¥n”, id.ac, id.cm);
printf ("fth=%d sph=%d edh=%d sgh=%d¥n”,
id. fth, id.sph, id.edh, id.sgh);
printf (“ftc=%d spc=%d edc=%d sgc=%d¥n”,
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id. fte, id.spc, id.edc, id.sgc);
printf ("ftail=%s¥n”, id. ftail);

*/
if(readfile(&id, rd) !=0)
return -1;
/%
printf ("t=Yd¥tz=%d¥tv=%d¥n”, id.t, id.z, id.v);
*/

writefile(&id, rd);

return 0;

int initial (struct inidata *d) {

int i, Jj, n, in;
int mh, mc, shl, sh2, scl, sc2;
j=1, mh=0; mc=0;, n=0;
= 2

1; sh2 =1; sc1 =1, sc
in = d->ac;

for(i = 1; i < in; i++){

if(d->av[i][0] == "-"){
switch (d->av[i][1]) {
case ‘¢ :

strepy (d->av[i], d->av[i]l+2);
d->cm = atoi (d->av[il]);
break;
case 'f':
if(d->av[i][2] == "h"){
strepy (d->av[i], d->av[i]+3);
d->fth = atoi (d->av[il);
shl = strlen(d->av[il]);
break;
}
else
if(d->av[il[2] == "¢"){
strepy (d->av[i], d->av[i]+3);
d->ftc = atoi (d->avl[il);
scl = strlen(d->av[il);
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break;
}
}
n =1, break;
case 's’:
if(d->av[i][2] == "h"){
strepy (d->av[i], d->av[i]+3);
d->sph = atoi (d—>av[il]);
break;
}
elsef
if(d->av[il[2] == "¢'){
strepy (d->av[il], d->av[i]+3);
d->spc = atoi (d->avl[il);
break;
]
}
n =1, break;
case ‘e’ :
if(d->av[i][2] == "h"){
strepy (d->av([i], d->av[i]+3);
d->edh = atoi (d->av[il);
sh2 = strlen(d->av[il);

mh = 1; break;
}
elsef
if(d->av[il[2] == "¢"){
strepy (d->av[il], d->av[i]+3);
d->edc = atoi (d->av[il):
sc2 = strlen(d->av[il);
mec = 1, break;
]
}
n =1, break;
case ‘o' :

strepy(d->av[il, d->av[i]+2);
d->o0s = atoi(d->av[il);
break;
default:
n=1,;
}
}

elsef
if (> {
printf ("¥nFile-name too many !¥n¥n");
n=-1, break;
}
strepy (d->ftail, d->avl[il);
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j++,

}

if(nh == 1){
printf ("¥n”);
printf(“zv3d [switch] [file_taill¥n”);

printf ("switch: -c$ Column number $ red in files (default, § = 1).¥n");
printf (” -fh$ First number § of the head of file-name¥n”);

printf (” (default, $ = 0). ¥n");

printf (” -sh$ Step number § of the head of file-name¥n”);

printf (" (default, $ =1). ¥n");

printf (” -eh$ End number § of the head of file-name¥n”);

printf (” (default, to no existant number). ¥n”);

printf (” -fc$ First number § of the chest of file-name¥n”);
printf (” (default, $ = 0). ¥n");

printf (” -sc$ Step number $ of the chest of file-name¥n”);

printf (” (default, $ =1). ¥n");

printf (" -ec$ End number $ of the chest of file-name¥n”);

printf (” (default, until final existant number). ¥n”);
printf (” -0$ Offset value $ of red column (-c$)¥n”);

printf (” ($:integer, default:$ = 0).¥n");

printf ("file_tail: Tail which of data-file-name is common with each file. ¥n");

printf ("¥n”);
printf(“e.g.) zv3d -fh000 -fc000 -sc2 —-0-512 0.890¥n");
printf ("¥n¥n”) ;
printf (“NOTICE! Only available for average data and no using wild-card. ¥n”);
printf (” Data not modified by range. ¥n”);
printf ("¥n”);
printf (” Max. |imited points 1024¥n”);
printf (" Max. limited files 256%128¥n") ;
printf ("¥n”);
}
elsel
if(j==1{
printf ("¥nFile-name not appointed !¥n¥n”);
n=-1;
}
if(sh1 <= sh2)
d->sgh = sh2;
else
d->sgh = shi;
if(mh == 0){
d->edh = (int)pow (10, d->sgh)-1;
if(d->sph < 0)
d->edh = 0;
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if(scl <= sc2)

d->sgc = sc2;
else

d->sgc = scl;
if(me == 0){

d->edc = (int)pow (10, d->sgc)-1;

if(d->spc < 0)
d->edc = 0;

return n;

int readfile(struct inidata

int h, i, hO, hn, dh, 0,
int j, k, n, mh, mc, Kkn,
long int fp;
char namel[128], name2[128],
FILE xf;
n=0;
mh = (int)pow (10, d->sgh)
mc = (int)pow (10, d—>sgc) ;
hO = d->fth; dh = d->sph; hn
i0 = d->ftc; di = d->spc in
kn = d->cm;
snh = 1; snc =1,
if (d->sph < 0)

snh = -1;
if(d->spc < 0)

snc = -1;

strcpy (name3, d->ftail);

*d,

int dd[1[256][128]) {
in, di;
snh, snc;
name3[128], fname[128]
d->edh;
d—>edc;

for (h = hO; h*snh <= hn*snh; h += dh) {

sprintf (namel, “%d”,

for (i = i0;

mh+h) ;

i*snc <= in*snc;

+= di) {
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sprintf(name2, “%d”, mc+i);
strcpy (fname, namel+1) ;
strcat (fname, name2+1) ;
strcat (fname, name3) ;

i ((f=fopen (fname, “r”)) == NULL) {

ifth=="ho&& i == i0) {
printf ("¥n%s not found !¥n¥n”
n=-1;
}
break;
}
else
for(j =0; j < 128; j++){
fp = ftell (f);

fgets (word, 128, f);
if (word[0] !="#")
break;
}
fseek (f, fp, SEEK_SET);
for(j =0; j < 1024; j++){
for(k = 1; k <= kn; k++)

fscanf (f, “%d”, &dd[jI1C[h]1[i]);

fgets (word, 128, f);
if (feof (f))
break;
}
fclose (f) ;
if(d->t > )
d->t = j;

}

ifth=-1 1| i ==1i0)
break;

if(d->v > i)
d->v = i;

}

if(d->z > h)
d->z = h;

return n;

fname) ;
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int writefile(struct inidata *d, int dd[][256][128]) {

int i, j, i0, in, di, jO, jn, dj;

int ¢, dd0, h, hn, snh, snc;

char namel1[128], name2[8], name3[8], fname[128];
FILE xf;

d->o0s; hn = d->t;
d->sph; in = d->z;
d->spc; jn = d->v;

¢ = d->cm;  ddO
i0 = d->fth; di
j0 = d->ftc; dj
snh = 1; snc =1,
i f (d->sph < 0)

snh = -1;
if(d->spc < 0)
shc = -1;

strcpy (namel, d->ftail);
sprintf(name2, “.c%d.”, c¢);

for(h = 0; h < hn; h++) {

sprintf(name3, “%d”, 10000+h) ;
strcpy (fname, namel) ;

strcat (fname, name2);

strcat (fname, name3+1);

strcat (fname, “.zv3d");

f=fopen (fname, “w");
fprintf(f, “#z v (2 (W %s[%d]  (2) (v)%s [%d]-(2) (v+dv) %s[%d]¥n”
namel, ¢, namel, ¢, namel, ¢);

for (i = i0; i*snh < inksnh; i += di) {

fprintf (f, “¥n”);

for(j = jO; j*xsnc < (jn=dj)*snc; j += dj)

forintf (f, “%d¥t%d¥t%d¥t%d¥n”, i, j, dd[hl1[i1[j]+dd0, dd[h][iI[jl1-dd[h][il[j+dj]):

}

fclose (f) ;

return 0;
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/x TTE3d. ¢ skkkkiokiokiokiskkkokiokiokiokiokkkkokkokokiokoklkllkkokiokkokkk - Since Aug 2002 */
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VE:
VE:
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VE:
VE:
/%
/%

FFT of 3D for t

ime and space
Programed by TAKEDA Tsuyoshi

fft3d [switch] [filel

switch: -c$
-fb$

-sb$
-eb$
-fp$
-sp$
-ep$
file:
e.g.) fft3d
NOTICE! Only

Max
Max

Column number $ red in files (default:$ = 3).
First block number $ of column 1

($:0 - 1023, default:$ = 0).

Step block number $ of column 1

($:1 - 1023, default:$ =1).

End block number $§ of column 1

($:0 - 1023, default:until existant final number).
First points number $ of column 2

($:0 - 255, default:§ = 0)

Step points number $ of column 2

($:1 - 255, default:§ = 1)

End points number $§ of column 2

($:0 — 255, default:until existant final number).
File-name which will be analized by fft.

-fb100 -eb355 *. tz3d
available for integer (average) data.

[imited points 1024%256
[imited files 1024

*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/

/Fskskskskekskskokskskokskskokskskkskokskkkkskskskskokkskskskskkskokskkkkskskskskkkokkkkkkk  Last Modified in Oct 2002 %/

#inclu
#inclu
ttinclu
#tinclu

struct

int

int
char

de <stdio. h>
de <stdlib.h>
de <string.h>
de <math. h>

inidata {

ac, cm, f, h;
ftp, spp, edp
av[1040][128],

ftb, spb, edb;
file[1024]1[128];
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}s
struct data {

int t, z, d[1024][256];
double wk[1024][256];

int initial (struct inidata *);

int readfile(struct inidata =*, struct data *, int);
int writefile(struct inidata *, struct data *, int);
int spectrum(struct data =*);

int fft(int, double [], double [1);

/*int FFT(int, double [], double [1);%*/

int main(int argc, char =argv[]){

int i, in, j, k;

int rd[1024][256];

static struct inidata id;
static struct data d;

id.ac = argc;
for(i =0; i < argc; i++)

strepy (id.av[i], argvlil);
id.cm = 3; id.h=1;
id. ftb = 0; id.spb = 1; id.edb
id. ftp = 0; id.spp = 1; id.edp
d.t =1024; d.z = 256;

1023;
255;

if(initial (&id) 1= 0)

return -1;
/%
printf(“ac=%d cm=%d f=%d h=%d¥n”, id.ac, id.cm, id.f, id.h);
printf ("ftb=%d spb=%d edb=%d¥n”, id.ftb, id.spb, id.edb);
printf ("ftp=%d spp=%d edp=%d¥n”, id.ftp, id.spp, id.edp);
*/

in = id. f;
for(i = 0; i < in; i++){

if(readfile(&id, &d, i) !=0)

return -1;

VE:
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printf ("%d file=%s¥n”, i, id.filelil);

printf (“edb=%d edp=%d t=%d z=%d¥n”, id.edb, id.edp, d.t, d.z);
*/

spectrum(&d) ;

writefile(&id, &d, i)

return 0;

int initial (struct inidata *d) {

int i, J, n, in;
float hh;
j=0;, n=0;

in = d->ac;

for(i = 1; i < in; i++){

if(d->av[i][0] == "-"){
switch (d->av[il[1]) {
case ‘¢ :

strepy (d->av[i], d->av[il+2);

d->cm = atoi (d->av[il);

break;

case 'f':

if(d->avl[il[2] == "p"){
strepy (d->av[i], d->av[i]+3);
d->ftp = atoi (d->av[il);
break;

}

elsef
if(d->av[il[2] == "b"){
strepy (d->av[i], d->av[i]+3);
d->ftb = atoi (d->av[il);

break;
}
}
n =1, break;
case 's’:
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if(d>avl[i]l[2] == "p"){
strepy (d->av[i], d->av[i]+3);
d->spp = atoi (d—>av[il]);
break;

}

else
if(d->av[il[2] == "b"){

strepy (d->av[i], d->av[i]l+3);

hh = atof (d->avl[il]);
ifthh == 0.5) {
d->h = 2;
d->spb
}
elsel
d->h =1
d->spb
}
break;
}
}
n =1, break;
case 'e’:
if(d->avl[il[2] == "p"){
strepy (d->av[i], d->av[i]+3);
d->edp = atoi (d—>av[il);
break;
}
else
if(d->av[il[2] == "b"){

[ ]

1;

atoi (d—>avl[i]);

strepy (d->av[i], d->av[i]l+3);

d->edb = atoi (d->av[il);
break;
]
}
n =1, break;
default:
n=1,;
}
}

elsel
strepy (d->file[j], d->av[il);

j++;

}

d->f = j;
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if(n==1){

printf ("¥n”);
printf ("fft3d [switch] [filel¥n”);
printf (“switch: -c$ Column number $ red in files (default:$ = 3).¥n");

printf (" -fb$ First block number $ of column 1¥n”);

printf (” ($:0 - 1023, default:$ = 0).¥n");

printf (” -sb$ Step block number $ of column 1¥n”);

printf (” ($:1 - 1023, default:$ = 1).¥n");

printf (” -eb$ End block number $§ of column 1¥n”);

printf (" ($:0 - 1023, default:until existant final number).¥n”);
printf (” -fp$ First points number $§ of column 2¥n”);

printf (” ($:0 - 255, default:§ = 0).¥n");

printf (" -sp$ Step points number $ of column 2¥n”);

printf (” ($:1 — 255, default:$ = 1).¥n");

printf (” -ep$ End points number $§ of column 2¥n”);

printf (" ($:0 - 255, default:until existant final number).¥n”);
printf ("file: File-name which will be analized by fft.¥n");

printf ("¥n”);

printf("e.g.) fft3d -fb100 -eb355 *.tz3d¥n");

printf ("¥n¥n”);

printf (“NOTICE! Only available for integer (average) data.¥n”);

printf (” Max. |imited points  1024%256¥n”) ;
printf (” Max. |imited files 1024. ¥n") ;
printf ("¥n”);
]
elsel
if(j ==0){
printf ("¥nFile-name not appointed !¥n¥n”);
n=-1;
}

if(j>1024) {
printf ("¥nFile too many !¥n¥n”);
n=-1;

return n;

int

readfile(struct inidata =d, struct data *dd, int fn){

int i, Jj, k, k., m Xx, vy, z, snp, snb;
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int i0, di, in, jO, dj, jn, dx, zn;

long int fp;

char fname[128], name[128];
static char word[1024][256][64];
FILE x*f;

strcpy (fname, d->file[fn]);

if ((f=fopen(fname, “r”)) == NULL) {
printf ("¥n%s not found !¥n¥n”, fname);
return -1;

]

for(i =0; i <32; i++){
fp = ftell (f);
fgets (name, 64, f);
if (name[0] != "# && name[0] != "¥n')

break;

}
fseek (f, fp, SEEK SET);

m=20,
for(i = 0; i < 1024; i++){

for(j = 0; j <= 256; j++){
fgets (word[i][j], 64, f);
i f (feof (f)) {
m=1, break;
}
if(word[i1[j]1[0] == "¥n"){
break;
}
}
if(m !=0)
break;
if(d->edp > j && j > 0)
d->edp = j-1;

}
fclose (f) ;

if(d->edb > i) {
ifm!1=028&% j 1=0)
d->edb = i;
else
d->edb = i-1;
]

i0 = d->ftb; di = d->spb; in = d->edb;
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j0 = d->ftp; dj = d->spp; jn = d->edp;
dx = d->h; zn = d->cm;

snp =1, snb =1;

if(d->spp < 0)

snp = -1;
if(d->spb < 0)
snb = -1;
x =0;
for (i = i0; i*snb <= inxsnb; i += di) {
y =0;
for (j = jO; j*snp <= jnksnp; j += dj){
z=0; k_=0;
for(k = 0; k < 64; k++){
if(z == zn)
break;
elsef
ifword[i1[j1[k] ==" " || word[il[jI[k] == "¥t' || word[il[j][k] == "¥n"){
stropy (name, word[i][j]+k_);
name[k] = "¥0';

dd->d[x] [y] = atoi (name) ;
if(dx == 2 && x > 0)
dd->d[x-11[y] = (dd->d[x][yl+dd->d[x-2]1[y])/2;

k_ = k; z++;
if (word[i][jl1[k] == "¥n")
break;
]
}
}
y++;
}
if(dd->z > vy)
dd->z = vy;
X += dx;
]
i f(d->h==1 && dd->t > x)
dd->t = x;
i f (d->h==2)
dd->t = x;

for(i =1; i <=8; i++){
if(dd->z < pow(2, 1)) {
dd->z = (int)pow(2, i-1);
d->edp = jO + djx((int)pow(2, i-1)-1);
break;
}
}
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if(dd->t 1= 500 && dd->t != 1000) {
for(i =1; i <=10; i++){
if(d->h==1 8&& dd->t < pow (2, i)) {
dd->t = (int)pow(2, i-1);
d->edb = i0 + di*x((int)pow (2, i-1)-1);
break;

J
if (d->h==2 && dd->t < pow(2, i)) {

dd->t = (int)pow(2, i-1);
d->edb = i0 + di*((int)pow (2, i-2)-1);

break;

J
}
}
if (dd->t == 500) {
for (i = 500; i < 512; i++){
for(j = 0; j < dd->z; j++){
dd->d[i]l[j] = 0;
}
}
dd->t = 512;
}
if (dd->t == 1000) {
for (i = 1000; i < 1024; i++){
for(j = 0; j < dd->z; j++) {
dd->d[i]l[j] = 0;
}
}
dd->t = 1024;

}

return 0;

int writefile(struct inidata *d, struct data =*dd, int fn){

int ¢, i, J, in, jn;
char fname[128], name[128];
FILE =*f;

¢ = d->cm; in = dd->t; jn = dd->z;
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strcpy (name, d->file[fn]);
if(d->h ==1)
sprintf(name, “%s.c%d.b%d_%d_%d. p%d_%d_%d”, name, ¢, d->ftb, d->edb, d->spb, d->ftp
d->edp, d->spp);
i f(d->h ==2)
sprintf (name, “%s.c%d.b%d_%d_0.5. p%d_%d_%d”, name, ¢, d->ftb, d->edb, d->ftp, d->edp,
d->spp) ;

strcpy (fname, name) ;
strcat (fname, ”.wk3d”);
f=fopen (fname, “w");
forintf (f, “#w/2pi*nxdt¥tk/2pi*n*dz¥tP (w, k) /dt/dz¥n") ;
for(i =0; i < in/2; i+ {

fprintf (f, “¥n”);

for(j = 0; j < jn/2; j++)

forintf (f, “%d¥t%d¥t%e¥n”, i, j, dd->wk[il[j1);

]
fclose () ;

/%
strcpy (fname, name) ;
strcat (fname, ”.test”);
f=fopen (fname, “w”);
for(i =0; i < in; i++){
fprintf (f, “¥n”);
for(j =0; j < jn; j++)
fprintf (f, “%d¥t%d¥t%d¥n”, i, j, dd->d[i][j]);
]
fclose (f) ;
*/

return 0;

int spectrum(struct data *dd) {

int i, 4§, in, jn, m n;

double o, x, x_, pi;

static double d1r[1024][256], d1i[1024][256];
static double d2r[256][1024], d2i[256][1024];

pi = M_PI;
in = dd->t; jn = dd->z;
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/%
m = int(jn*0.05); n = int(inx0.05);
for(i =0; i < in; i+ {
for(j = 0; j < jn; j++){
x =1, x_=1;
if( <m{
0o =pi*x(j/(double)m-1);
x = 0.5%cos (0)+0. 5;
}
if(i <n)f
o =pi*x(i/(double)n-1);
Xx_ = 0.5%cos (0)+0. 5;
}
if(j > jn-m-1){
0o = pi*x(j-jn+m+1)/(double)m;
x = 0.5%cos (0)+0. 5;
}
if( > in-n-1){
o = pix(i—in+n+1)/(double)n;
Xx_ = 0.5%cos (0)+0. 5;
}
dd=>d[i1[j] = int(xxx_xdd->d[i][j]);
}
}
*/

for(j =0; j < jn; j++){
for(i = 0; i < in; i++){

d2r [j1[i] = dd->d[i][jl;
d2i[j1li] = 0;

}

fft(in, d2r[jl, d2i[j]):

}

for(i =0; i <in; i+H{
for(j =0; j < jn; j++) {
dir[i]10j] = d2r[jI1[i];
diilil[j] = 0;
}
fft(n, dir[il, dtlilil);
for(j =0; j < jn; j++)
dd->wk[i1[j] = (d1r[i1[jI*dTr[i10j] + d1ilil[j1*d1ilil[i1)/in/]n;

return 0;
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int fft(int m, double ar[], double aill]){

int i, j, k, n, p, a, x[1024], x_[1024];
double alr_, ali_, a2r_, a2i_, ar_, ai_;
double o, pi, wr, wi;

pi = M_PI;
frexp (m, &n) ;
n=n-1;

p=1,q=m o=pi/(double)m;

x_[0]=0;
for(i =1; i <=n; i+ {
p =p*x2; g =0/2; 0o = 0%2;
for(j =0; j < p/2; j++){
x[2xj] = x_[j1/2:
x[2%j+1] = (x_[j1 + m)/2;
x_[2%j] = x[2%]j];
x_[2%j+1] = x[2%j+1];
for(k = 0; k < g; k++) {
alr_ = ar[k+2xjxq];
ali_ = ai[k+2xjxq];
a2r_ = ar[k+(2%j+1)*q] ;

a2i_ = ail[k+(2xj+1)*ql;

ar_ = alr_ - a2r_;

ai_ = ali_ - a2i_;

wr = cos (ox(double)k); wi = sin(ox(double)k):;

ar [k+2xjxq] = alr_ + a2r_;
ai[k+2xjxq] = ali_ + a2i_;
ar[k+(2xj+1)*q] = ar_*wr — ai_*wi;
ai[k+(2%j+1)*q] = ai_*wr + ar_*wi;
}
}

}
for(i =0; i <m; i++){
ifG <x[iD{

ar_ = arl[i];
ai_ = ailil;
ar[i] = ar[x[ill;
aili] = ailx[ill;
ar[x[il]l = ar_;
ai[x[ill = ai_;
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}
return 0;
}
/*
int FFT(int n, double ar[], double ail]){
int m mh, i, j, k;
double wr, wi, xr, xi, theta;
theta = 2«M_PI/n;
i =0;

for(j = 1; j < n-1; j++) {
fortk =n > 1; k> (G "=k); k >>=1);

if(j <i)f
xr = ar[jl;
xi =ailjl;
ar[j] = arlil;
ai[j]l = ailil;
ar[i] = xr;
ailil] = xi;
}
]
theta *= n;
for(mh = 1; (m =mh << 1) <= n; mh =m) {
theta *= 0.5;

for(i = 0; i < mh; i++){
wr = cos (theta*i) ;

wi = sin(thetaxi);
for(j =1i; j<n; j+=m{
k = j + mh;
xr = wr*ar [k] — wi*ai[k];
xi = wr*ail[k] + wi*ar[k];
ar[k] = ar[j] - xr;
ai[k] = ailj] - xi;
arl[j] += xr;
ailjl += xi;
}
}
]
return 0;
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/% square—average. ¢ kxkkkkskckskkckkskkokkkokkkkkkkkkkokkkokkkkkkkkkkkkkkkk Since Mar 2003 */

/%

/* Square Average for 3D files (.zv3d etc)

/% Programed by TAKEDA Tsuyoshi
/%

/%

/% square—average [switch] [file—-name]

/% switch: -c$ Column number $ red in files (default:$ = 3)
/* -b$ Averaging block number §$

/* ($:0-511, default:$ = 0).

/* -p$ Averaging point number §$

/% ($:0-511, default:$ = 0).

VE:

/* e.g.) square-average —-c4 -b1 -p1 0.890.¢1.0000. zv3d

/%

/%

/* NOTICE! Square averaged is (2b+1)x(2p+1)

/* Only available for integer (average) data.

/* Max. limited points 1024%256

/% Max. limited files

VE:

*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/

[Hrksksrskckskskekokskskokskokokskskokskskskokskskokskskokskskskokskskokskskkskkkkskskokkskkokkkk  Last Modified in Apr 2003 */

#include <stdio.h>
#include <stdlib.h>
#include <string.h>

struct inidata {

int ac, cm, bn, pn, fn;

char av[1040][128], name[1024][128];

}s
struct data {

int b, p, d[1024][256];
double dd[1024][256];
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int initial (struct inidata *);

int readfile(struct inidata =*, struct data *, int);
int s_average(struct inidata *, struct data x);

int writefile(struct inidata #*, struct data *, int);

int main(int argc, char =argv[]){

int i, j, k;

int i0, in, jn, kn;
int rd[1024][256];

static struct inidata id;
static struct data d;

id.ac = argc;

for (i 0; i < argc; i++)
strepy (id.av[i], argv[il);

id.cm = 3; id.fn =1;

d.b = 1024; d.p = 256;

if(initial (&id) != 0)
return -1;
/%
printf ("¥nac=%d cm=%d bn=%d pn=%d fn=%d¥n”, id.ac, id.cm, id.bn, id.pn, id.fn);
*/

i0 =0; in=id.fn;
for(i = i0; i < in; i++){
if(readfile(&id, &, i) !'=0)
return -1;

s_average (&id, &d);
writefile(&id, &d, i);

}

return 0;

int initial (struct inidata x*d) {
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int i, Jj, n, in;
j =0, n=20; in = d->ac;

for(i = 1; i < in; i++){

if(d->av[i][0] == "-"){
switch (d->av[i][1]) {
case '¢

strepy (d->av[i], d->av[i]l+2);
d->cm = atoi (d->av[il]);
break;

case 'b’:
strepy(d->av[i], d->avl[il+2);
d->bn = atoi (d->av[il);
break;

case 'p :
strepy (d->av[i], d->av[i]+2);
d->pn = atoi (d->avl[il);
break;

default:
n=1,;

}

}

elsef
strepy (d->name[j], d->avl[il);
j++

}
}
if(n==1){

printf ("¥n”);
printf (“square—-average [switch] [file—-namel¥n”);

printf (“switch: -c$ Column number $ red in files (default:$§ = 3).¥n");
printf (” -b$ Averaging block number $§ ¥n”);
printf (” ($:0-511, default:$ = 0).¥n");
printf (” -p$ Averaging point number $¥n”);
printf (” ($:0-511, default:$ = 0).¥n");

printf ("¥n”);

printf(“e.g.) square-average —c4 -b1 -p1 0.890.c1.0000. zv3d¥n”) ;
printf ("¥n¥n”) ;

printf ("NOTICE! Square averaged is (2b+1)x(2p+1).¥n");

printf (” Only available for integer (average) data.¥n”);
printf (" Max. limited points  1024%256¥n") ;

printf (” Max. |imited files 1024. ¥n") ;

printf ("¥n”);
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elsef

if(j ==0){
printf ("¥nFile-name not appointed !¥n¥n”);
n=-1;
}
else
d->fn = j;
]
return n;

int readfile(struct inidata *d, struct data =*dd, int ff){

int i, J, k, k., m;
int in, jn, zn, X, vy, Z;
long int fp;

char fname[128], name[128];
static char word[1024][256][64];
FILE =*f;

strcpy (fname, d->name[ff]);
if ((f=fopen (fname, “r”)) == NULL) {
printf ("¥n%s not found !¥n¥n”, fname) ;

return -1;

]

for(i =0; i <32; i++){
fp = ftell (f);

fgets(name, 64, f);
if(name[0] !="# && name[0] != "¥n")
break;

}
fseek (f, fp, SEEK_SET);

m=20;
for(i = 0; i < 1024; i++){

for(j = 0; j < 256; j++){
fgets (word[il[j]1, 64, f):
if (feof (f)) {
m =1, break;

J
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if(word[i]1[j]1[0] == "¥n") {
break;
}
}
if(m 1= 0)
break;
if(dd->p > j && j > 0)
dd->p = j;
]
fclose () ;

ifm 1= 0){
if(j!=0)
dd->b = i+1;
else
dd->b = i;
]
else
dd->b = i+1;

in = dd->b; jn = dd->p; zn = d->cm;

x =0;
for(i =0; i < in; i++){
y = 0;
for(j = 0; j < jn; j++){
z=0; k_=0;
for(k = 0; k < 64; k++){
if(z == zn)
break;
else

if(word[il[j]1lk] == " " || word[il[jI[k] == "¥t’

stropy (name, word[i]l[jl+k );
namel[k] = "¥0';
dd->d[x][y] = atoi (name) ;
k_ = k; z++;
if(word[i][jl[k] == "¥n")
break;
}
}
}
y++ )
}
if(dd->p > vy)
dd->p = vy;
X++;
}
if(dd->b > x)
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dd->b = x;

return 0;

int writefile(struct inidata =*d, struct data *dd, int ff){

int ¢, i, j, in, jn;
char fname[128], name[128];
FILE xf;

in = dd->b; jn = dd->p;

strepy (fname, d->name[ff]) ;
sprintf (name, “.c%d.%d%dsav”, d->cm, d->bn, d->pn);
strcat (fname, name) ;
f=fopen (fname, “w”);
fprintf (f, "#¥n");
for(i =0; i < in; i++){
fprintf (f, “¥n”);
for(j = 0; j < jn; j+#){
forintf (f, “%d¥t%d¥t%d¥n”, i, j, (int)dd->dd[il[jl);
}

}
fclose (f) ;

return 0;

int s_average(struct inidata *d, struct data =*dd) {

int i, j, k., m n;
int in, jn, mn, nn;
double ddd;

in = dd->b; jn = dd->p;
mn = d->bn; nn = d->pn;
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for(i =0; i < in; i+t {
for(j = 0; j < jn; j++){
k =0, ddd = 0;
for(m = -mn; m <= mn; m++) {

for(n = -nn; n <= nn; n++) {
if(i+m >= 0 && j+n >= 0) {

ddd = ddd + dd->d[i+m] [j+n];

k++;

}
}

J
dd->dd[i]

return O;

[j] = ddd/k;

/% time—average. ¢ skkxskkkkskkkkdksrskkokskkokkskdkkkkkskkokkskkkkkkskkkkkkkkkkk Since Mar 2003 */

/%
/%
/%
VE:
VE:
/%
/%
/%
/%
/%
/%
VE:
VE:
VE:
VE:
/%
/%
/%
/%
VE:

Time—Average for 3D files (.zv3d etc)

time-average

switch: —-c$
-m$ Middle file number $.
-f$
head-name: Head of file-name.
tail-name:

e.g.) time-average —c4 -m0100 0.890. c2

NOTICE!

Not available for wild-card.

Programed by TAKEDA Tsuyoshi

[switch] [head-name] ([tail-name])
Column number § read in files (default:$ = 3).

Averaging file number § (§:1-511, default:$ = 1).

Tail of file-name (default: .zv3d).

Only available for integer (average) data.

1024%256
1024

[imited points
[imited files

Max
Max

*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/
*/

/xkRskrkrkokkkkkokkokkokskkkkokkkkkkkokkkokkokkkkkkkckkkkkkkckkkkk Last Modified in Apr 2003 */
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#tinclude <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <math. h>

struct inidata {

int ac, cm, mf, fn, dn;
char av[8][128], name[5][128];

}s
struct data {

int b, p, d[1024][256];
double dd[1024][256];

int initial (struct inidata *);
int readfile(char [], struct data x*, int);
int writefile(char [], struct data *, int);

int main(int argc, char =*argv[]) {

int i, j, k, os;

int i0, in, jn, kn;

int rd[1024][256];

char fname[128], name0[128], name[128];
struct inidata id:;

struct data d;

id.ac = argc;
for(i = 0; i < argc; i++)
strepy (id.av[i], argv[il);
id.cm =3; id.fn=1; id.dn=1;
strcpy (id. name[1], ”. zv3d”) ;
d.b =1024; d.p = 256;

if(initial (&id) != 0)
return -1;
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/%

printf ("¥nac=%d cm=%d mf=%d fn=%d dn=%d¥n”,

*/

i0
in
0s
sprintf (name0,

for (i = i0;
strcpy (fname,
sprintf (name,
strcat (fname,
strcat (fname,

id. mf - id. fn;
id. mf + id. fn;
(int)pow (10, id. dn) ;
“%d”,

i <= in;

if(readfile(fname,

return -1;

jn =d.b;

id.ac, id.cm, id.mf,

os+id. mf) ;

i++) {

id. name[0]) ;
“%d”, os+i);
name+1) ;

id. name[1]) ;

&d, id.cm) !=0)

kn = d.p;

for(j = 0; j < jn; j++){

for(k = 0; k <

if(i ==1i0)
d.dd[j][k]
else

d. dd[j]1[k]

strecpy (fname,
strcat (fname,
strcat (fname,
sprintf (name,
strcat (fname,
writefile (fname,

return 0;

int

kn;

initial (struct inidata

k++) {
(double)d. d[j][k];

d.dd[j1[k] + (double)d.d[j][k];

id. name[0]) ;
name0+1) ;

id. name[1]);
“.ch%d. %dtav”,
name) ;
&d,

id.cm, id.fn);

in—i0+1) ;

*d) {
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int i, Jj, n, in;

j=0;, n=0;
in = d->ac;

for(i =1; i < in; i++){

if(d->av[il[0] == "-"){
switch (d->av[i][1]) {
case ‘¢ :

strepy(d->av[il, d->av[i]+2);
d->cm = atoi (d->av[il);
break;

case 'm':
strepy (d->av[i], d->av[i]+2);
d->mf = atoi (d->av[il);
d->dn = strlen(d->av[il]);
break;

case 'f':
strepy(d->av[il], d->avl[il+2);
d->fn = atoi (d->av[il);
break;

default:
n=1,;

}

}

elsef
strepy (d->name[j], d->avl[il);
j++

}
}
ifh == 1) {

printf ("¥n”);
printf (“time-average [switch] [head—-name] ([tail-name])¥n”);

printf (“switch: -c$ Column number $ red in files (default:$ = 3).¥n");
printf (” -m$ Middle file number §.¥n");

printf (” -f$ Averaging file number § (§:1-511, default:$ = 1).¥n");
printf (“head-name: Head of file—name.¥n”);

printf (“tail-name: Tail of file-name (default: .zv3d).¥n");

printf (“¥n”);

printf(“e.g.) time-average -¢4 -m0100 0.890.c2. ¥n");

printf ("¥n¥n”) ;

printf ("NOTICE! Not available for wild-card.¥n”);

printf (" Only available for integer (average) data.¥n”);
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printf (" Max. |imited points  1024%256¥n”) ;
printf (" Max. limited files 1024.¥n") ;
printf ("¥n”);
]
else
if(j==0){
printf ("¥nHead-name not appointed !¥n¥n”);
n=-1;
}
if(j>2){
printf ("¥nName too many !¥n¥n”);
n=-1;

return n,

int readfile(char fname[], struct data =*dd, int zn){

int i, Jj, k, k. m;
int in, Jjn, x, vy, z;
long int fp;

char name[128];
static char word[1024][256][64];
FILE =f;

i f ((f=fopen(fname, “r”)) == NULL) {
printf ("¥n%s not found !'¥n¥n”, fname) ;

return -1;

}

for(i =0; i <32; i++){
fp = ftell (f);

fgets(name, 64, f);
if(name[0] !'= "# && name[0] != "¥n’)
break;
]

fseek (f, fp, SEEK_SET);
m=0;

for(i = 0; i < 1024; i++){
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for(j = 0; j < 256; j++) {
fgets (word[i]l[j], 64, f);
i f (feof (f)) {
m =1, break;
}
if(word[i]1[j]1[0] == "¥n") {
break;
}
}
if(m !=0)
break;
if(dd->p > j && j > 0)
dd->p = j;
}
fclose () ;

if(m !=0){
if(j !=0)
dd->b = i+1;
else
dd->b = i;
]
else
dd->b = i+1;

in = dd->b; jn = dd->p;

x =0;
for(i =0; i < in; i++){
y = 0;
for(j =0; j < jn; j+o){
z=0; k_=0;
for(k = 0; k < 64; k++) {
if(z == zn)
break;
else
if(word[i1[j1Ck] ==" " || word[il[jI[k] == "¥t" || word[i][j1[k] == "¥n") {
strepy (name, word[i][j]+k.);
namel[k] = "¥0';
dd->d[x][y] = atoi (name) ;
k_ = k; z++;
if(word[i][j1[k] == "¥n")
break;

y++;
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}
if(dd->p > )

dd->p = vy;
X++;
}
if(dd->b > x)
dd->b = x;
return 0;

int writefile(char fname[], struct data *dd, int fn){

int ¢, i, J, in, jn;
char name[128];

FILE xf;

in = dd->b; jn = dd->p;

f=fopen (fname, “w");
fprintf (f, “#¥n”);
for(i =0; i < in; i++){
fprintf(f, "¥n");
for(j = 0; j < jn; j++){
forintf (f, “%d¥t%d¥t%d¥n”, i, j, int(dd->dd[il[j1/fn));
}

}
fclose () ;

return 0;

/xksrkckokdokkkskdokokkkokokkkk ok okkkok ok skkk ok ok kokkokskkkokokkkokkokkokkk - August 2002 kx/

/%% *k /
/*x Caluculation of Dispersion Ralation *k/
/%% *% /
/*% Programed by TAKEDA Tsuyoshi *x /
/** *k /
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/*****************************************************************************/

#include <stdio.h>
#include <stdlib.h>
#include <math. h>
#include <complex. h>

//double vr;

//double rr;

double nr; /* Density Ratio x*/

double_complex Dispersion(double_complex, double_complex) ; /* Dispersion Relation */

void DKA(double_complex (x) (double_complex, double_complex), double_complex, double_complex
[1, int, int, double, int *);

int main() {

char name[80];

char readf[20]="parameter. ini”;
char writef[20]="dispersion. txt”;
FILE *rf, wf;

/* Definition of Variable */
int i,j,mn, eva;
double val[20], esp, loop;
double krO0, krn, dkr, kiO, kin, dki ;
double wr,wi, kr, ki, x,y,Pl;
double_complex a[10], k,w[10],wO[10];

/* Reading Initial Values */
rf=fopen (readf, “rt”) ;
i f (rf==NULL) {
printf ("Not find "%s’ !”, readf);
exit(1);
]
fgets (name, 80, rf) ;
for (i=1;i<=20;++i) {
fscanf (rf, “%s%If”, name, &val[i]);
if (feof (rf))
break;
}
fclose(rf);
m=int(val[1]) ;esp=val[3];
krO=val [4] ;krn=val [5];dkr=val [6];
kiO=val[7];kin=val[8];dki=val[9];
nr=val [10];
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/* Caluculation */
j=1;
loop = (krn-kr0Q) /dkr+1;

n=4,
Pl = 3.141592653589793;
k = double_complex (kr0, kiO) ;
al0] = -kxk;
a[1] = kxdouble_complex(2,0);
a[2] = kxk—double_complex (nr+1,0) ;
a[3] = —k*double_complex(2,0);
x =0;
for (i=0;i<=n-2;++i) {

y = real (ali])*real (ali]l)+imag(alil])*imag(ali]);

if(y!=0)

y = pow(y, 1/(n-i)/2);
if(y>x)
X =Y,

}
X = X*n;
for (i=1;i<=n;++i)

wO[i] =

-a[n-1]/double_complex (n, 0)+double_complex (x, 0) xexp (double_complex (0, 1) *double_complex (2%P
[*(i-1)/n+P1/2/n, 0)) ;

wf=fopen (writef, “wt”);
fprintf (wf, “#nr=%e¥n”, nr) ;
forintf (wf, “#kr¥t¥tki ¥t¥twlr¥t¥twl i YE¥tw2r ¥t ¥tw2 i ¥t¥twdr¥t¥twd i ¥t¥twdr¥t¥twdi¥n”) ;
for (kr=kr0;kr<=krn;kr+=dkr) {
for (i=1;i<=4;++i)
wlil = wOli];
for (ki=kiO;ki<=kin;ki+=dki) {
fprintf (wf, “%e¥t%e”, kr, ki) ;
k = double_complex (kr, ki) ;
DKA(Dispersion, k, w, n,m, esp, &eva) ;
i f (eva==0) {
printf (“¥nNot Converge in DKA !7);
exit(1);
}
for (i=1;i<=4;++i) {
wr = real (w[i]);
wi = imag(wlil);
fprintf (wf, “¥t%e¥t%e”, wr, wi) ;
]
fporintf (wf, “¥n”) ;
ifki==ki0) {
for (i=1;i<=4;++i)
wolil = wlil;
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}
}
printf ("%2. 0Ff%¥r”, j/loop*100) ;
++]j;
}

fclose (wf) ;

double_complex Dispersion(double complex K, double complex W) {

/* Dispersion Relation */

return
pow (W, 4) —double_complex (2, 0) xKxpow (W, 3) + (K¥K—doub le_complex (nr+1, 0)) xWxW+double_complex (2,
0) xK+W-K*K ;

}

void DKA (doub | e_comp | ex (xfunc) (double_complex, double_complex), double_complex
X, double_complex y[], int n, int m, double esp, int *eva) {

/* Definition of Variable */
int j,k I;
double e;
double_complex Multi,u[20], v[20];

for (j=1, j<=m;++]) {

for (k=1;k<=n;++k) {

Multi = double_complex(1,1);
for (I=1;1<=n;++1) {
if(11=k)

Multi = Multix(y[k]l-y[I]);
ulk] func (x, y[k]) /Multi;
vlk] = y[kI-ulk]:

}

}

e = 0;

for (k=1;k<=n;++k) {

y[k] = v[kl;
e = e+pow(pow(real (ulkl/y[k]), 2)+pow(imag(ulk]l/y[kl),2),0.5);

}

i f (e<esp)
*xeva =
break;

}

else

{
1;
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*eva = 0;

//Initial Data

m
h
esp
kr0
krn
dkr
kiO
kin
dki
nr

1000
le-12
1e-8
0.0000000001
2.0000000001
0. 001
0.0000000001
0.0000000001
0. 001
0.012
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